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Foreword

The Government of Andhra Pradesh has unleashed a new era in school education by introducing
extensive curricular reforms from the academic year 2020-21. The Government has taken up curricular
reforms intending to enhance the learning outcomes of the children with focus on building solid foundational
learning and to build up an environment conductive for an effective teaching-learning process. To achieve
this objective, special care has been taken in designing the textbooks to achieve global standards.

As a part of the curricular reform, in order to support the designing of textbooks, with better
pedagogical strategies, handbooks are given to teachers with elaborate lesson plans. For the practice
of the students, workbooks are given which will reinforce the learning in the classroom. Parental
handbooks are prepared to impart awareness regarding the teaching-learning process to the parent
community. The textbooks are also designed in such a way that the initial two months will focus on the
school readiness of the children in order to create a learning environment in the school at the start of the
academic year.

Semester system is going to be implemented from this academic year for classes 1 to 5.
Mathematics textbooks have been developed in bilingual approach. In this textbook, concepts are
introduced through activities related to daily life incidents, situations, contexts and conversations. To
strengthen these concepts, whole class activity, group activity and individual activities are designed. The
lessons incorporated are also suitable for multigrade teaching. For additional information on the concepts,
QR codes are incorporated in each chapter to enable learning outside the classroom. Care has been
taken to ensure that the new textbook is calibrated with the learning requirement of the 21st century.

We are grateful to Honourable Chief Minister Sri.Y.S. Jagan Mohan Reddy for being our
source of inspiration to carry out this extensive reform in the education department. We extend our
gratitude to Sri Botcha Satyanarayana, Honourable Minister of Education , Govt. of Andhra Pradesh
for striving towards qualitative education. Our special thanks to Sri. Budithi Rajsekhar, IAS, Special
Chief Secretary, School Education, Sri. S. Suresh Kumar, IAS, Commissioner of School Education &
State Project Director, SS, Smt. Vetriselvi.K, IAS, Special Officer, English Medium Project for their
constant motivation and guidance.

We convey our thanks to the expert team who studied curriculum from Chicago to Singapore
and recommended best practices across the globe to reach global standards. Our sincere thanks to
SCERT of Kerala, Tamilnadu, Karnataka and Haryana in designing the textbooks. We also thank our
textbook writers, editors, artists and layout designers for their contribution in the development of this
textbook. We invite constructive feedback from the teachers and parents in the further refinement of the
textbook.
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&�. _. ç|�Ô�|tÂs&�¦

d�+#�\Å£�\T

s�h $<�«|�]XË<ó�q ¥¿£�D² d�+d��, �+ç<ó�ç|�<ûXÙ

eTT+<�TeÖ³

�+ç<ó�ç|�<ûXÙ ç|�uó�TÔáÇ+ 2020`21 $<�« d�+eÔáàsÁ+ qT+&� bÍsÄÁXæ\ $<�« ç|�D²[¿£ýË $d�ï �Ôá d�+d�ØsÁD\qT

ç|�yûXø�|³¼&�+ <�Çs� qeXø¿±�¿ì H�+~ |�*¿ì+~. |�{ìw�¼yîT®q |�ÚH�~ n¿£�s�d�«ÔáqT �]�+#û+<�TÅ£� M\T>± nuó�«d�q

|��*Ô�\T �|+bõ+~+#ûý² H�D«yîT®q uË<ó�H�uó�«d�q $<ó�H��� nqTd�]+#�*. B�� ç|�uó²ee+Ôá+>± neT\T #ûjáT&�+

¿Ãd�+ $<�« ç|�D²[¿£ d�+d�ØsÁDýË uó²>·+>± qÖÔáq bÍsÄÁ« |�Úd�ï¿±\qT sÁÖbõ+<�sTT.

$<�« d�+d�ØsÁD\ýË eTTqT�|q�&�Ö ýñ� $<ó�+>± bÍsÄÁ«|�Úd�ï¿±\ sÁÖ|�¿£\ÎqÔÃbÍ³T H�D«yîT®q uË<ó�H�eP«V�ä\T

neT\T |�sÁ#û+<�TÅ£� M\T>± �bÍ<ó�«jáTT\ ¿Ãd�+ bÍsÄÁ«ç|�D²[¿£\T, ¿£sÁB|¾¿£\T sÁÖbõ+<�sTT. u²\\T nuó²«d�+

#û�d+<�TÅ£� M\T>± esYØ�T¿ù\T sÁÖbõ+<�sTT. �$ u²\\T ÔásÁ>·Ü>·~ýË HûsÁTÌÅ£�q� n+Xæ\qT |�Úq:XøÌsÁD #ûd�TÅ£�Hû+<�TÅ£�

<ÃV�²<�|�&�Ô�sTT. bÍsÄÁXæ\ýË neT\eÚÔáTq� qÖÔáq uË<ó�H�uó�«d�q eP«V�ä\qT ne>·Ôá+ #ûd�TÅ£�Hû+<�TÅ£� Ôá*¢<�+ç&�T\

¿Ãd�+ Å£L&� ÿ¿£ ¿£sÁB|¾¿£ sÁÖbõ+~+#�+. $<�« d�+eÔáàsÁ+ çbÍsÁ+uó�+ýË yîTT<�{ì Âs+&�T Hî\\ bÍ³T u²\\qT

bÍsÄÁXæ\Å£� d�+d¾<�Æ+ #û�d ¿±sÁ«ç¿£eÖ\qT sÁÖbõ+~+º neT\T #ûjáT&�+ ÈsÁT>·TÔáT+~. �~ u²\\T nuó�«d�q y�Ô�esÁD²�¿ì

n\y�³T|�&ûý² #ûd�Tï+~.

� $<�«d�+eÔáàsÁ+ qT+&� 1 ̀  5 ÔásÁ>·ÔáT\ýË �d$Tw�¼sY $<ó�H��� ç|�yûXø�|&�TÔáTH��+. >·DìÔá bÍsÄÁ«|�Úd�ï¿±\qT

~Çuó²cÍ $<ó�q+ýË eTTç~d�TïH��+. �Ôá«J$Ôá d���yûXæ\T, d�+<�s�ÒÛ\T, |�]d¾�ÔáT\T, d�+uó²w�D\Å£� d�+�+~ó+ºq

¿£�Ô�«\ �<ó�sÁ+>± � bÍsÄÁ«|�Úd�ï¿£+ýË uó²eq\qT ç|�yûXø�|{²¼+. uó²eq\qT �ýË�|Ôá+ #ûjáT&��¿ì M\T>± e«¿ìï>·Ôá,

È³T¼, yîTTÔáï+ ÔásÁ>·Ü ¿£�Ô�«\T sÁÖbõ+<�sTT. bÍsÄ�«+Xæ\T �V�QÞø ÔásÁ>·Ü uË<ó�qÅ£� nqTÅ£L\+>± neT] �+&�&�+

� bÍsÄÁ«|�Úd�ï¿£+ ç|�Ôû«¿£Ôá. n<�q|�Ú d�eÖ#�sÁ+ ¿Ãd�+ ç|�Ü n<ó�«jáT+ýË Å£L«. �sY. ¿Ã&�\qT nqTd�+<ó��+#�s. 21e

XøÔ�_Ý HîÕ|�ÚD²«\qT �|+bõ+~+#û+<�TÅ£� nqT>·TDyîT®q uË<ó�q È]¹>ý² qÖÔáq bÍsÄÁ« |�Úd�ï¿±\T sÁÖbõ+<�sTT.

bÍsÄÁXæ\ $<�« d�+d�ØsÁD\T #û|�fñ¼+<�TÅ£� �sÁ+ÔásÁ+ d�ÖÎÛ]ï�d�Öï eTT+<�TÅ£� q&�|¾+ºq >�sÁeújáT eTTK«eT+çÜ

esÁT«\T l yîÕ.jáTdt. È>·H� yîÖV�²H� Âs&�¦ >±]¿ì V�²�<�jáT|�PsÁÇ¿£ <ó�q«y�<�\T. >·TD²Ôá�¿£ $<�«qT n+~+#û+<�TÅ£�

�sÁ+ÔásÁ+ ¿£�w¾ #ûd�Tïq� eÖq« eT+çÜesÁT«\T l u¤Ôáà d�Ôá«H�s�jáTD >±]¿ì qeTd�Ø �ÔáT\T. ÔáeT neTÖ\«yîT®q

d�Ö#áq\T, d�\V�ä\ÔÃ bÍsÄÁ«|�Úd�ï¿£ sÁÖ|�¿£\ÎqýË ~Xæ�¹sÝXø+ #ûd¾q l �T&�Ü s�ÈXâKsY IAS, bÍsÄÁXæ\ $<�« ç|�Ôû«¿£

ç|�<ó�q ¿±sÁ«<�]ô >±]¿ì, l mdt. d�T¹swt Å£�eÖsY IAS ¿£MTw�qsY, bÍsÄÁXæ\ $<�« Ê �d¼{Ù çbÍCÉ¿ù¼ &îÕÂs¿£¼sY d�eTç>· ¥¿£�,

>±]¿ì, �+>·¢ eÖ<ó�«eT ç|�Ôû«¿£ n~ó¿±]Dì leTÜ Â¿. yîç{ì�d*Ç IAS >±]¿ì <ó�q«y�<�\T.

n+Ôás�¨rjáT ç|�eÖD²\ÔÃ Å£L&�q bÍsÄ�«+Xæ\T sÁÖbõ+~+#û+<�TÅ£�>±qT d¾+>·|�PsY qT+&� º¿±>Ã esÁÅ£�

$<�« ç|�D²[¿£\qT n<ó�«jáTq+ #ûd¾q bÍsÄÁ«|�Úd�ï¿£ sÁ#ásTTÔá\Å£� <ó�q«y�<�\T. ÔáeT neTÖ«\yîT®q d�\V�ä*ºÌq ¹¿sÁÞø,

Ôá$TÞøH�&�T, ¿£s��³¿£, V�²]jáÖD s��cÍ¼\ $<�« |�]XË<ó�q ¹¿+ç<�\Å£� <ó�q«y�<�\T. bÍsÄÁ«|�Úd�ï¿£ sÁÖ|�¿£\ÎqýË $Xâw�

¿£�w¾ #ûd¾q sÁ#ásTTÔá\T, d�+bÍ<�Å£�\T, ºçÔá¿±sÁT\T &�.{ì.|¾. ýñ̀ neÚ{Ù &�CÉÕ�+>́ y�sÁ+<�]¿¡ ç|�Ôû«¿£ <ó�q«y�<�\T. �

bÍsÄÁ«|�Úd�ï¿£+�|Õ �bÍ<ó�«jáTT\T, Ôá*¢<�+ç&�T\ qT+&� �s��D²Ôá�¿£ d�Ö#áq\T, d�\V�ä\T kÍÇ>·Üd�TïH��+.
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Instructions to Teachers

F The new textbooks designed for class 1 to 5 are in accordance with the recommendations
of NCF – 2005, RTE – 2009.

F Use the face sheet placed at the beginning of every lesson as the basis for interaction
and motivation. Encourage children to listen and speak out freely. Prepare and organize
some more activities similar to the activities given in the text book for every concept.

F The lessons are designed based on the classwise expected learning outcomes and the
concepts like number system, measurement, geometry, data handling etc are arranged in
a spiral approach.

F The textbook contains three important components under headings like  ‘Do these’,
‘Try these’ and ‘Exercise’. The questions under the component ‘Do these’ will be direct
and simple and ‘Try these’ are difficult. Similarly the ‘Exercise’ component contains
mixed questionaire of 2 or 3 concepts.

F The teacher should read and understand every concept in the textbook before going for
teaching. Also they should conduct the  individual,  group and  whole class  activities in
the class room. Teacher should use the handbook designed for this purpose.

F Teacher should prepare and use teaching learning material related to the activities  of the
textbook by using available resources, to make the children understand the concepts.

F Teacher should provide required practice activities to teach children different concepts
keeping in mind the academic standards of the subject.

F Workbook is also provided along with the textbook. The 90 minutes duration of a period
should be divided for the practice of the children as follows.

¨ 45 minutes for practising the concepts of textbook.

¨ 45 minutes for practising the sums of workbook.

F New textbook is designed with exercises and activities. The pupil will be able to understand
the concepts of  Number system, Fractions, Geomentry, Multiples and factors,
Measurements and Time through these exercises and activities. The first chapter,
‘Let’s Recall’ aims at practising and recalling the previous concepts. Hence, special
care should be taken while teaching this chapter. In the process of teaching, locally available
objects like pebbles, seeds, sticks, beads etc., must be used.
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�bÍ<ó�«jáTT\Å£� d�Ö#áq\T

F NCF - 2005, RTE - 2009 ç|�ÜbÍ<�q\ �<ó�sÁ+>± 1-5 ÔásÁ>·ÔáT\Å£� qÖÔáq >·DìÔá bÍsÄÁ«|�Úd�ï¿±\T sÁÖbõ+<�sTT.

F ç|�Ü bÍsÄÁ+ ÿ¿£ d���yûXø ºçÔá+ÔÃ çbÍsÁ+uó�eTeÚÔáT+~. B�� |¾\¢\T eÖ{²¢&û+<�TÅ£�, #á]Ì+#û+<�TÅ£�, $Hû+<�TÅ£�

çbþÔ�àV¾²+#�*. bÍsÄÁ«|�Úd�ï¿£+ýË �ºÌq ¿£�Ô�«\ÔÃ u²³T, ç|�Ü uó²eqÅ£� �bÍ<ó�«jáTT&�T n<�q+>± qÖÔáq ¿£�Ô�«\T

sÁÖbõ+~+#áT¿Ãy�*.

F ÔásÁ>·Ü¿ì �¹sÝ¥+ºq nuó�«d�q |��*Ô�\T kÍ~ó+#û+<�TÅ£� M\T>± bÍsÄ�«+Xæ\T sÁÖbõ+<�sTT. d�+U²« e«ed��, ¿=\Ôá\T,

¹sU²>·DìÔá+, d�eÖ#�sÁ $Xâ¢w�D yîTT<�ýÉÕq uó²eq\ �<ó�sÁ+>± d�]Îý²¿±sÁ |�<�ÆÜýË bÍsÄ�«+Xæ\ neT]¿£ È]Ð+~.

F � bÍsÄÁ«|�Úd�ï¿£+ýË »�$ #ûjáT+&�µ, »ç|�jáTÜ�+#á+&�µ, »nuó²«d�+µ nHû eTÖ&�T ç|�<ó�q o]ü¿£\TH��sTT. »�$ #ûjáT+&�µ nHû

o]ü¿£ýË �ºÌq d�eTd�«\T d�Ö{ì>± eT]jáTT d�T\uó�+>± �+{²sTT. »ç|�jáTÜ�+#á+&�µ nHû o]ü¿£ýË �ºÌq d�eTd�«\T

¿£]Äq+>± �+{²sTT. »nuó²«d�+µ nHû o]ü¿£ýË �ºÌq d�eTd�«\T 2 ýñ<� 3 uó²eq\qT ¿£\T|�Ú¿=� �+{²sTT.

F ÔásÁ>·Ü >·~ýË uË~ó+#û+<�TÅ£� eTT+<�T>± ç|�Ü �bÍ<ó�«jáTT&�T bÍsÄÁ«|�Úd�ï¿£+ýË� ç|�Ü uó²eqqT Å£��D�+>± #á~$ nsÁ�+

#ûd�T¿Ãy�*. e«¿ìï>·Ôá, È³T¼, yîTTÔáï+ ÔásÁ>·Ü ¿£�Ô�«\qT �sÁÇV¾²+#�*. B� ¿Ãd�+ �bÍ<ó�«jáT ¿£sÁB|¾¿£qT

�|�jîÖÐ+#áT¿Ãy�*.

F kÍ��¿£+>± <=]¹¿ uË<ó�q kÍeTçÐ� �|�jîÖÐ+º �bÍ<ó�«jáTT&�T uË<ó�q #ûjáÖ*. B�e\q |¾\¢\T uó²eq\qT

d�T\uó�+>± nsÁ�+ #ûd�T¿Ã>·\T>·TÔ�sÁT.

F $_óq� uó²eq\qT nsÁ�+ #ûd�TÅ£�Hû+<�TÅ£� M\T>± �bÍ<ó�«jáTT&�T $<�«ç|�eÖD²\qT <��w¾¼ýË �+#áTÅ£�� $_óq�

¿£�Ô�«\qT sÁÖbõ+~+#�*. y�{ì�|Õ |¾\¢\Å£� ¥¿£�D �y�Ç*.

F bÍsÄÁ«|�Úd�ï¿£+ÔÃ bÍ³T esYØ�T¿ù Å£L&� �eÇ�&�TÔáT+~. 90 �öö\ d�eTjáÖ�� uË<ó�qÅ£�, nuó²«kÍ�¿ì M\T>±

$uó��+#áT¿Ãy�*.

¨ 45 �öö\T bÍsÄÁ«|�Úd�ï¿£+ýË� uó²eq\qT HûsÁTÌÅ£�� nuó²«kÍ\T #ûjáÖ*.

¨ 45 �öö\T esYØ�T¿ùýË nuó²«kÍ\T #ûjáÖ*.

F qÖÔáq bÍsÄÁ«|�Úd�ï¿±\T nHû¿£  d���yûXæ\T eT]jáTT ¿£�Ô�«\ÔÃ sÁÖbõ+<�sTT. M{ì <�Çs� $<�«sÁT�\T d�+U²«e«ed��,

_óH��\T, ¹sU²>·DìÔá+, ¿±sÁD²+¿±\T ̀  >·TDìC²\T, ¿=\Ôá\T, ¿±\+ yîTT<�ýÉÕq uó²eq\T HûsÁTÌ¿Ã>·\T>·TÔ�sÁT. >·TsÁTïÅ£�

Ôî#áTÌÅ£�+<�+ nHû yîTT<�{ì n<ó�«jáT+ ¿ì+~ ÔásÁ>·ÔáT\ýË HûsÁTÌÅ£�q� uó²eq\qT |�Úq'XøÌsÁD #ûd�T¿Ãe&��¿ì M\T

¿£*Ðd�Tï+~. � n<ó�«jáT+ HûsÁTÌÅ£�Hû+<�TÅ£� kÍ��¿£+>± <=]¹¿ >Ã°\T, |�Ú\¢\T, |�Pd�\T, Ð+È\T e+{ì ed�TïeÚ\qT

�|�jîÖÐ+#áTÅ£�Hû $<ó�+>± ¿£�Ô�«\T sÁÖbõ+~+#�*.
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- Rabindranath Tagore

Our National Anthem  |  C²rjáT ^Ôá+

India is my country. All Indians are my brothers and sisters.
I love my country and I am proud of its rich and varied heritage.

I shall always strive to be worthy of it.
I shall give my parents, teachers and all elders respect,

and treat everyone with courtesy. I shall be kind to animals.
To my country and my people, I pledge my devotion.

In their well-being and prosperity alone lies my happiness.

uó²sÁÔá<ûXø+ H� eÖÔá�uó�Ö$T. uó²sÁrjáTT\+<�sÁÖ H� d�¬<�sÁT\T.

HûqT H� <ûXæ�� ç�|$Td�TïH��qT. d�Td�+|�q�yîT®q, �V�Q$<ó�yîT®q H� <ûXø y�sÁd�ÔáÇ d�+|�<� H�Å£� >·sÁÇ¿±sÁD+.

B�¿ì nsÁ½Ôá bõ+<�&��Â¿Õ d�sÁÇ<� HûqT ¿£�w¾ #ûkÍïqT.

H� Ôá*¢<�+ç&�T*�, �bÍ<ó�«jáTT*�, �|<�Ý\+<�]� >�sÁ$kÍïqT. ç|�Üy�]ÔÃqT eTs�«<�>± q&�T#áT¿=+{²qT.

È+ÔáTeÚ\|�³¢ <�jáTÔÃ �+{²qT.

H� <ûXø+|�³¢, H� ç|�È\|�³¢ �dy��sÁÜÔÃ �+{²q� ç|�ÜÈã #ûd�TïH��qT.

y�] çXâjîÖ_óe�<�TÆýñ H� �q+<��¿ì eTÖý+.

Pledge  |  ç|�ÜÈã

Jana-gana-mana-adhinayaka jaya he

Bharata-bhagya-vidhata

Panjaba-Sindhu-Gujarata-Maratha

Dravida-Utkala-Banga

Vindhya-Himachala-Yamuna-Ganga

uchchala-jaladhi-taranga

Tava Subha name jage,

tave subha asisa mage,

gahe tava jaya-gatha.

Jana-gana-mangala-dayaka jaya he

Bharata-bhagya-vidhata.

Jaya he, Jaya he, Jaya he,

jaya jaya jaya jaya he.

Èq>·DeTq n~óH�jáT¿£ ÈjáT�V²!

uó²sÁÔá uó²>·«$<ó�Ô�!

|�+C²�, d¾+<ó�T, >·TÈs�Ôá, eTs�sÄ�,

ç<�$&�, �ÔáØÞø, e+>±!

$+<ó�«, V¾²eÖ#á\, jáTeTTH�, >·+>±!

�#áÌ\ È\~ó ÔásÁ+>±!

Ôáe Xø�uó�H�yûT C²¹>!

Ôáe Xø�uó� �¥w� eÖ"¹>

>±�V² Ôáe ÈjáT>±<̧�!

Èq>·D eT+>·Þø<�jáT¿£ ÈjáT�V²!

uó²sÁÔá uó²>·« $<ó�Ô�!

ÈjáT�V²! ÈjáT�V²! ÈjáT�V²!

ÈjáT ÈjáT ÈjáT ÈjáT�V²!!

- sÁM+ç<�H�<�̧ sÄ�>·ÖsY

- Pydimarri Venkata Subba Rao

- �|Õ&�eTç] yî+¿£³ d�Tu²Òs�eÚ
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ix

Academic Standards
Academic standards are clear statements about what students must know and be able to do.
The following are the specifications on the basis of which we lay down academic standards

Problem Solving
• Using concepts and procedures to solve mathematical problems.

Stages of problem solving
• Reads problems.
• Identifies all pieces of information.
• Separates relevant pieces of information.
• Understanding what concept is involved.
• Selection of procedure.
• Solving the problem.

Reasoning and Proof
• Reasoning between various steps.
• Understanding and making mathematical generalizations and conjectures.
• Understanding and justifying procedures.
• Examining logical arguments.
• Understanding the notion of proof.
• Using inductive and deductive logic.
• Testing mathematical conjectures.

Communication
• Writing and reading mathematical expressions.
• Creating mathematical expressions.
• Explaining mathematical ideas in his/her own words.
• Explaining mathematical procedure.
• Explaining mathematical logic.

Connections
• Connecting concepts within a mathematical domain.
• Making connections with daily life.
• Connecting mathematics to different subjects.
• Connecting concepts of different mathematical domains.
• Connecting concepts to multiple procedures.

Visualization and representation
• Interprets and reads data in tables, number line, pictograph, bar graph, 2D figures, 3D figures,

pictures.
• Making tables, number line, pictograph, bar graph, pictures.
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x

$<�«ç|�eÖD²\T
$<�«sÁT�\T ÿ¿£ ÔásÁ>·ÜýË @$T #ûjáT>·\>±*, @+ Ôî*d¾ �+&�ýË d�Îw�÷+>± $e]+#û ç|�e#áH�\qT � ÔásÁ>·Ü jîTT¿£Ø

»$<�«ç|�eÖD²\Tµ n+{²+. � $<�«ç|�eÖD²\qT ¿ì+~ $uó²>±\T>± e Z̄¿£]+#á&�yîT®q~. >·DìÔá+ýË� $$<ó� bÍsÄ�«+Xæ\

<�Çs� ¿ì+~ d�Öº+ºq $<�«ç|�eÖD²\T kÍ~ó+#�*.

1. d�eTkÍ« kÍ<ó�q :

>·DìÔá uó²eq\T, |�<�ÆÔáT\qT �|�jîÖÐ+#á&�+ <�Çs� >·DìÔá d�eTd�«\qT kÍ~ó+#á&�+.

d�eTd�« kÍ<ó�q ̀  kþbÍH�\T

• d�eTd�«\qT #á<�e&�+.

• <�Ô�ï+Xø+ýË� d�eÖ#�sÁ+ yîTTÔ�ï�� $&�uó²>±\T>± >·T]ï+#á&�+.

• nqT�+<ó� $&�uó²>±\qT yûsÁT#ûjáT&�+.

• d�eTd�«ýË �$T&�jáTTq� >·DìÔá uó²eq\qT ne>±V�²q #ûd�T¿Ãe&�+.

• ýÉ¿£Ø#ûjáTT |�<�ÆÜ� m+|¾¿£ #ûjáT&�+.

• m+|¾¿£ #ûd¾q |�<�ÆÜ ç|�¿±sÁ+ d�eTd�«qT kÍ~ó+#á&�+.

2. ¿±sÁD²\T #î|�Î&�+`�sÁÖ|�D #ûjáT&�+ :

• <�Xø\ y�¯>± �q� kþbÍH�\Å£� ¿±sÁD²\T $e]+#á&�+.

• >·DìÔá kÍ<ó�sÁD¡¿£sÁD\qT eT]jáTT ç|�¿£\Îq\qT nsÁ�+ #ûd�T¿Ãe&�+ eT]jáTT #ûjáT>·\>·&�+.

• |�<�ÆÜ� nsÁ�+ #ûd�T¿Ãe&�+ eT]jáTT d�]#áÖ&�&�+.

• Ô�]Ø¿£ #ásÁÌ\qT |�̄ ¿ì�+#á&�+.

• d�eTkÍ« �sÁÖ|�DýË� ç¿£eÖ�� nsÁ�+ #ûd�T¿Ãe&�+.

• �>·eTq, �>·eTq |�<�ÆÔáT\ýË Ô�]Ø¿£ÔáqT $�jîÖÐ+#á&�+.

• >·DìÔá ç|�¿£\Îq\qT |�̄ ¿ì�+#á&�+.

3. e«¿£ï|�sÁ#á&�+ :

• >·DìÔá uó²eq\qT, y�¿±«\qT #á<�e>·\>·&�+`s�jáT>·\>·&�+.

• >·DìÔá e«¿¡ï¿£sÁD\qT sÁÖbõ+~+#á&�+.

• >·DìÔá|�sÁyîT®q �ýË#áq\qT Ôáq kõ+ÔáeÖ³\ýË $e]+#á&�+.

• |�<�ÆÜ� $e]+#á&�+.

• >·DìÔá Ô�]Ø¿£ÔáqT $e]+#á&�+.

4. nqTd�+<ó�q+ :

• nqT�+<ó� >·DìÔá bÍsÄÁ«$uó²>±\qT ̀  uó²eq\qT nqTd�+<ó�q+ #ûjáT&�+.

• <îÕq+~q J$Ô��� >·DìÔ��¿ì nqTd�+<ó�q+ #ûjáT&�+.

• yû¹sÇsÁT d�uÉ¨Å£�¼\ÔÃ >·DìÔ��� nqTd�+<ó�q+ #ûjáT&�+.

• >·DìÔá+ýËHû yû¹sÇsÁT bÍsÄ�«+Xæ\Å£� d�+�+~ó+ºq uó²eq\qT nqTd�+<ó�q+ #ûjáT&�+.

• uó²eq\qT, �V�QÞø|�<�ÆÔáT\Å£� nqTd�+<ó�q+ #ûjáT&�+.

5. <��o«¿£sÁD eT]jáTT çbÍÜ�<ó�« |�sÁ#á&�+ :

• |�{ì¼¿£ýË� d�eÖ#�sÁ+, d�+U²«¹sK, |�³ºçÔá+, ¿£MT�¹sU²ºçÔá+, 2`D |�{²\T, 3`D |�{²\T eT]jáTT |�{²\qT

#á<�e&�+.

• |�{ì¼¿£\qT sÁÖbõ+~+#á&�+, d�+U²«¹sK�|Õ #áÖ|�&�+, |�³ºçÔáeTT\T, ¿£MT�¹sU²ºçÔ�\T, |�{²\qT ̂ jáT&�+.
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Maths Magic

>·DìÔá+ÔÃ >·eT�ÔáTï

Class (ÔásÁ>·Ü)  - 4

Semester (�d$Td�¼sY) - 2

6. Division November 2-27

 uó²>·V�äsÁ+ qe+�sÁT

7. Geometry December 28-65

C²«$TÜ &��d+�sÁT

8. Data Handling January 66-89

<�Ô�ï+Xø �s�ÇV�²D Èqe]

9. Fractions February 90-125

_óH��\T |�¾ç�e]

10. Measurements February, March 126-189

¿=\Ôá\T |�¾ç�e], eÖ]Ì

Lesson No.

bÍsÄÁ+ d�+K«

Name of the Unit

n<ó�«jáT+

Month

Hî\

Pages

�|J\T

Teacher corner Student corner
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2 Class - 4  Maths Magic

Yellamma makes papads and sells
them to the shops. One day she made
120 papads and was packing 10 papads
per pack. Manga, her daughter helped in
packing.

Yellamma asked Manga how many
packets are needed to pack 120 papads?

Manga thought like this:

If we pack 2 papads in each packet, number of packets required  = 120 ÷ 2 = 60
If we pack 3 papads in each packet, number of packets required = 120 ÷ 3 = 40
If we pack 4 papads in each packet, number of packets required = 120 ÷ 4 = 30
If we pack 5 papads in each packet, number of packets required = 120 ÷ 5 =
If we pack 6 papads in each packet, number of packets required = 120 ÷ 6 =
If we pack 8 papads in each packet, number of packets required = 120 ÷ 8 =
If we pack10 papads in each packet, number of packets required = 120 ÷ 10 = 12
So, we need 12 packets to pack 10 papads in each packet.

Think and discuss
For a fixed number of papads, if the number of papads in a

packet increases, then the number of packets.....

Do these

1) If 108 pencils are packed in 9 boxes, then find the number of pencils in each box.
2) Kiran arranged 168 chairs in 6 rows equally. How many chairs will be in each row?

Division
Chapter

6.1 Introduction
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3ÔásÁ>·Ü ` 4  >·DìÔá+ÔÃ >·eT�ÔáTï

uó²>·V�äsÁ+
n<ó�«jáT+

jáT\¢eT� Ôáq �+{Ë¢ n|�Î&�\T ÔájáÖsÁT #ûd¾,

<�T¿±D²\Å£� neTT�ÔáT+~. ÿ¿£ sÃE Ô�qT 120 n|�Î&�\T

ÔájáÖsÁT#ûd¾ bÍ«¿ì+>´ #ûd�Tïq�~. jáT\¢eT� Å£LÔáTsÁT eT+>·

�yîTÅ£� d�V�äjáT+ #ûkþï+~.

»»120 n|�Î&�\T bÍ«¿ù #ûjáT&��¿ìµµ m�� ¿£esÁT¢

ned�sÁeTeÚÔ�sTTµµ n� eT+>·qT y�Þøß neT� n&�Ð+~.

eT+>· ç¿ì+~ $<ó�+>± �ýËº+º+~.

ÿ¿£ yûÞø ÿ¿£ bÍ«Â¿{ÙÅ£� 2 n|�Î&�\ #=|�ðq bÍ«¿ù #û�dï ned�sÁeTjûT« ¿£esÁ¢ d�+K« R 120ª2 R 60

ÿ¿£ bÍ«Â¿{ÙÅ£� 3 n|�Î&�\ #=|�ðq bÍ«¿ù #û�dï ned�sÁeTjûT« ¿£esÁ¢ d�+K« R 120ª3 R 40

ÿ¿£ bÍ«Â¿{ÙÅ£� 4 n|�Î&�\ #=|�ðq bÍ«¿ù #û�dï ned�sÁeTjûT« ¿£esÁ¢ d�+K« R 120ª4 R 30

ÿ¿£ bÍ«Â¿{ÙÅ£� 5 n|�Î&�\ #=|�ðq bÍ«¿ù #û�dï ned�sÁeTjûT« ¿£esÁ¢ d�+K« R 120ª5 R

ÿ¿£ bÍ«Â¿{ÙÅ£� 6 n|�Î&�\ #=|�ðq bÍ«¿ù #û�dï ned�sÁeTjûT« ¿£esÁ¢ d�+K« R 120ª6 R

ÿ¿£ bÍ«Â¿{ÙÅ£� 8 n|�Î&�\ #=|�ðq bÍ«¿ù #û�dï ned�sÁeTjûT« ¿£esÁ¢ d�+K« R 120ª8 R

ÿ¿£ bÍ«Â¿{ÙÅ£� 10 n|�Î&�\ #=|�ðq bÍ«¿ù #û�dï ned�sÁeTjûT« ¿£esÁ¢ d�+K« R 120ª10 R12

n+<�Te\¢ 120 n|�Î&�\qT bÍ«Â¿{ÙÅ£� 10 #=|�ðq bÍ«¿ù#û�dï, 12 ¿£esÁT¢ ned�sÁeTeÚÔ�sTT.

»»�ýËº+#á+&�̀  #á]Ì+#á+&�µµ

yîTTÔáï+ n|�Î&�\ d�+K« d¾�sÁ+>± �q�|�ð&�T ÿ¿£ ¿£esÃ¢ �+&û n|�Î&�\ d�+K«

�|]ÐqfÉ®¢Ôû, bÍ«Â¿³¢ d�+K« @eTeÚÔáT+~?

�$ #ûjáT+&�.

1. 108 �|�àÞøßqT 9 u²Å£�à\ýË bÍ«¿ù #û�dï ÿ¿=Ø¿£Ø u²Å£�àýË �+&û �|�àÞø�ß m�� ?

2. ¿ìsÁDY 168 Å£�¯Ì\qT ç|�Ü esÁTd�ýË d�eÖq+>± �+&û³³T¢ 6 esÁTd�ýË¢ �|]ÌÔû, ÿ¿=Ø¿£Ø esÁTd�ýË� Å£�¯ÌýÉ��?

6.1 |�]#ájáT+
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4 Class - 4  Maths Magic

Example - 1

268 lemons are equally packed  in 2 baskets.
How many lemons are there in each basket ?
Divide :  268  ÷  2
The dividend   =   268, divisor  = 2
Here we start the division from left. Why?

Step - 1

Divide 2 which is in hundreds place by 2

2  ÷  2  =  1; write 1 as the first digit in the quotient. (from left)

2  ×  1  =  2; write 2 below 2, subtract

 \ 2 - 2  =  0

Step - 2

Bring 6 down from the tens place, now divide 6 by 2.
6  ÷  2 =  3 write 3 as the second digit in the quotient.
2  ×  3 =  6.  Write 6 below 6, which was carried down.
Subtract
\ 6  -  6  =  0

Step - 3

Bring down 8 from the ones place, Now divide 8 by 2.
8  ÷  2  =  4; write 4 as the last digit in the quotient.
2  ×  4  =  8; write 8 below 8, which was carried down.
subtract 8 - 8 =  0.
Thus 268  ÷  2 =  134
Remainder =  0
Quotient = 134
so, 268  ÷  2 =  134

 6.1 Division of a 3-digit number by a 1-digit number.

2)  2 6 8 (1 3 4
   – 2
     0 6
     – 6
        0 8
        – 8
          0
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5ÔásÁ>·Ü ` 4  >·DìÔá+ÔÃ >·eT�ÔáTï

�<�V�²sÁD `1

268 �eT�|�+&�¢qT d�eÖq+>± 2 �T³¼\ýË �|]ÌÔû, ÿ¿=Ø¿£Ø �T³¼ýË m��

�eT�|�+&�T¢ �|³¼e#áTÌ?

268 qT 2 ÔÃ uó²Ð+#á+&�.

�¿£Ø&� $uó²È«+ 268, $uó²È¿£+ 2

uó²>·V�äsÁ ç|�ç¿ìjáT kÍ<ó�sÁD+>± m&�eTyîÕ|�Ú qT+&� Å£�&� yîÕ|�ÚÅ£� #ûkÍïsÁT.

m+<�TÅ£� ?

kþbÍq+ ` 1

e+<�\ kÍ�q+ýË 2 qT 2 ÔÃ uó²Ð+#á+&�.

2 ª 2 R 1, 1 qT Å£�&�#ûÜ ç|�¿£Ø »»uó²>·|��\+µµýË s�jáT+&�.

2 I 1 R 2, 2 qT 2 ¿ì+<� s�d¾, rd¾yûjáT+&�.

     \ 2 ` 2 R 0

kþbÍq+ ` 2

|�<�T\kÍ�q+ýË �q� 6 qT ¿ì+<�Å£� ~+#á+&�. 6 qT 2 ÔÃ uó²Ð+#á+&�

6 ª 2 R 3,3 qT uó²>·|��\+ýË 1 ¿ì ÔásÁTy�Ôá kÍ�q+ýË s�jáT+&�.

2 I 3 R 6, 6 qT 6 ¿ì+<� s�d¾, rd¾yûjáT+&�.

     \ 6 ` 6 R 0

kþbÍq+ ` 3

ÿ¿£³¢ kÍ�q+ýË �q� 8 qT ¿ì+<�Å£� ~+#á+&�. 8 qT 2 ÔÃ uó²Ð+#á+&�.

8 ª 2 R 4, 4 uó²>·|��\+ýË qT 3 ÔásÁTy�Ôá kÍ�q+ýË s�jáT+&�.

2 I 4 R 8, 8 � 8 ¿ì+<� s�d¾, rd¾yûjáT+&�.

     \ 8 ` 8  R 0

n+<�Te\¢ 268 ª 2  R 134.

        Xâw�+ R 0

    uó²>·|��\+ R 134

    ¿±eÚq 268 ª 2 R 134

6.1    3 n+Â¿\ d�+K«qT ÿ¿£ n+Â¿ d�+K«ÔÃ uó²>·V�äsÁ+ #ûjáTT³

2)  2 6 8 (1 3 4
   – 2
     0 6
     – 6
        0 8
        – 8
          0
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6 Class - 4  Maths Magic

Example - 2
384 chairs were distributed equally in 6 rooms. Calculate how many chairs there

will be there in each room.

Solution: In 384  ÷ 6 ;  dividend  is 384, divisor is 6.
Step - 1

Arrange the numerals  as shown in the
adjacent box.

Step - 2
First, we start with hundreds.
6 cannot divide 3.
So we take 3 and 8 together (38).
3 hundreds + 8 tens = 38 tens.
Now divide 38 by 6.
As  6 x 6 = 36,
write 6 as the first digit in the quotient, write  36 below 38 and subtract.
38  – 36  = 2

Step - 3
Bring down 4.
Divide 24 by 6.
6 divides 24 for 4 times (6x4= 24).
write 4 in the quotient and 24 below 24.
24  – 24 = 0
Remainder =  0
Thus Quotient =  64
Hence 384 ÷  6 =  64

1. Find the quotient and remainder in the following divisions.

     a)   808  ÷  8            b)  996  ÷  6      c) 408  ÷  3

2. A fruit seller packed 108 custard apples in 9 baskets. How many

custard apples did each basket hold?

Do these

Dividend
Divisor Quotient

Remainder

6)  3 8 4 (6 4
   – 3 6
     0 2 4
  –    2 4
          0
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7ÔásÁ>·Ü ` 4  >·DìÔá+ÔÃ >·eT�ÔáTï

�<�V�²sÁD ` 2

384 Å£�¯Ì\qT 6 >·<�T\ýË d�eÖq+>± yûXæsÁT. ÿ¿=Ø¿£Ø >·~ýË yûd¾q Å£�¯Ì\T m�� ?

kÍ<ó�q : 384 ª 6 ýË 384 $uó²È«+, 6 $uó²È¿£+ neÚÔáT+~.

kþbÍq+ : 1

d�+K«\qT |�¿£Ø &�u²ÒýË s�d¾q $<ó�+>± s�jáT+&�.

kþbÍq+ : 2

yîTT<�³ e+<�\ kÍ�q+ÔÃ çbÍsÁ+_ó+#�*.

6 ÔÃ 3 uó²Ð+|��&�<�T.

n+<�Te\q |�<�T\kÍ�q+ýË �q� 8 Å£L&� rd�T¿Ãy�*.

�|�ð&�T 38 neÚÔáT+~.

3 e+<�\T G 8 |�<�T\T R 38 |�<�T\T

�|�ð&�T 38 � 6 ÔÃ uó²Ð+#á+&�.

6 I 6 R 36

6 qT uó²>·|��\+ýË 1e n+Â¿>± s�jáT+&�. 36 qT 38 ¿ì+<� s�d¾ rd¾yûjáT+&�.

38 ` 36 R 2

kþbÍq+ : 3

�|�ð&�T 4 qT ¿ì+<�Å£� rd�T¿Ã+&�.

24 qT 6 ÔÃ uó²Ð+#á+&�.

6, 24 qT 4 uó²>±\T #ûd�Tï+~. 6 I 4 R 24

4 qT uó²>·|��\+ýË 6 |�¿£Øq, 24qT 24 ¿ì+<� s�jáT+&�.

24 ` 24 R 0

Xâw�+ R  0,

uó²>·|��\+ R 64

n+<�Te\¢ 384 ª 6 R 64.

1. ¿ì+~ uó²>·V�äs�\T #ûd¾ uó²>·|��\+, Xâw�+ #î|�Î+&�.

2. ÿ¿£ |�+&�¢ ¿=³T¼y�&�T 108 dÓÔ�|��ý²\qT 8 �|fÉ¼\ýË C²ç>·Ôáï>± d�]Ýq, ÿ¿=Ø¿£Ø �|fÉ¼ýË

�q� dÓÔ�|��ý²\T m��?

�$ #ûjáT+&�

$uó²È«+

$uó²È¿£+ uó²>·|��\+

Xâw�+

�) 996 ª 6 �) 408 ª 3n) 808 ª 8

6)  3 8 4 (6 4
   – 3 6
     0 2 4
   –   2 4
          0
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8 Class - 4  Maths Magic

5)  6 0 2 (1 2 0
   – 5
     1 0
  – 1 0
        2
     – 0
        2

Example - 3
On the occasion of 'Vanamahotsavam', 602 saplings are to be distributed among 5 schools
equally. How many saplings will each school get  and how many remains undistributed?
Number of saplings to be distributed =   602
Number of schools =   5
Number of saplings each school will get =    602  ÷  5
Dividend  =  602    Divisor  =  5
Step - 1

Divide 6 by 5
Now 5 x 1 = 5,
So, 5 divides 6 for 1 time.
write 1as first digit in the quotient.
write 5 below 6 and subtract.
6 – 5 = 1, write 1 below 5.

Step - 2
Bring down 0 from the tens place and  write next to 1 to get 10.
Divide 10  by 5.
10 ÷ 5 = 2; write 2 as second digit in the quotient.
5 x 2 = 10, write 10 below 10 And subtract 10 – 10 = 0.

Step - 3
Bring down 2 from the ones place.
Now 2 < 5, so 5 cannot divide 2.
So, 5 divides 2 for 0 times.
Write 0 as last digit in the quotient.
5  x  0  =  0 write 0 below 2
2  –  0  = 2
Here Quotient = 120,   Remainder  = 2
We can check whether the division is correct or not.

Thus 602 ÷ 5
Quotient is 120

and Remainder is 2.
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5)  6 0 2 (1 2 0
   – 5
     1 0
  – 1 0
        2
     – 0
        2

�<�V�²sÁD `3

eqeTV�²ÃÔáàe+ sÃEq 602 yîTT¿£Ø\qT 5 bÍsÄÁXæ\\Å£� d�eÖq+>± |�+|¾D¡ #û�dï, ÿ¿=Ø¿£Ø bÍsÄÁXæ\Å£� mHî���

yîTT¿£Ø\T ekÍïsTT ? �+¿± m�� yîTT¿£Ø\T $T>·T\TÔ�sTT?

|�+|¾D¡ #ûjáTe\d¾q yîTT¿£Ø\T R 602

|�+|¾D¡ #ûjáTe\d¾q  bÍsÄÁXæ\\T R 5

ÿ¿=Ø¿£Ø bÍsÄÁXæ\Å£� �eÇe\d¾q yîTT¿£Ø\T R 602 ÷ 5

$uó²È«+ R 602,  $uó²È¿£+ 5

kþbÍq+:1

6 qT 5 ÔÃ uó²Ð+#á+&�.

5 I 1 R 5

5, 6 qT ÿ¿£kÍ] uó²Ðd�Tï+~.

1 qT uó²>·|��\+ýË s�jáT+&�.

5 qT 6 ¿ì+<� s�d¾, rd¾yûjáT>± 1 ed�Tï+~. (6 ` 5 R 1)

kþbÍq+ : 2

$uó²È«+ |�<�T\ kÍ�q+ýË� 0 qT 1 |�¿£Øq s�jáT+&�. 10 ed�Tï+~.

10 � 5 ÔÃ uó²Ð+#á+&�. 10 ª 5 R 2,

2 qT uó²>·|��\+ýË 1 |�¿£Øq s�jáT+&�.

5 I 2 R 10, 10 �, 10 ¿ì+<� s�d¾, rd¾yûjáT+&�.

10 ` 10 R 0

kþbÍq+ :3

$uó²È«+ ÿ¿£³¢ kÍ�q+ýË� 2 qT ÿ¿£³¢ kÍ�q+ qT+&� ¿ì+<�Å£� ~+#á+&�.

2 <  5 ¿±eÚq 5, 2 qT uó²Ð+#áýñ<�T.

0 qT 2 ¿ì+<� s�jáT+&�.

0 qT uó²>·|��\+ýË 2 |�¿£Øq s�jáT+&�. 2 ` 0 R 2 Xâw�+

uó²>·|��\+ R 120, Xâw�+ R 2

eTq+ #ûd¾q uó²>·V�äsÁ+ d�ÂsÕq<Ã ¿±<Ã eTq+ |�]o*+#áe#áTÌ.

ÿ¿=Ø¿£Ø bÍsÄÁXæ\Å£� 120 yîTT¿£Ø\T |�+|¾D¡ #ûjáT>± 2 yîTT¿£Ø\T $TÐ*q$.

602 qT 5 #û uó²Ð+#á>±,

uó²>·|��\+ 120,

Xâw�+ 2 ed�Tï+~.
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10 Class - 4  Maths Magic

In the above division, dividend is 602, divisor is 5, quotient is 120 and the remainder is 2.
We know 5 times of 120 is 600.
That is,  divisor  x  quotient  =  600.
The difference between the dividend and the product of divisor and quotient is 2.
That is 602  -  600  =  2 which is equal to the remainder.
602  =  (5  x  120)  +  2
From this, we can conclude that

Dividend  =  (Divisor  x  Quotient) + Remainder

Do these

1. Divide and check the result.

a)  509  ÷  9 b)  721  ÷  8 c)  802  ÷  8

2. Find the quotient and remainder in the following division problems.

a) 479  ÷  8 b)   983  ÷  5 c)  843  ÷  3

Try these
1. 240 and 176 are divisible by 16. Can their difference also be divisible by 16 ?

2. Divide 180 by 1,  2,  3,  4,  5 and 6. What do you observe?

Exercise 6.1

1. If the cost of each pen is ` 6, then how many pens can we get for ` 864?

2. 8 pupils went to circus and they paid ` 360 for tickets. What was the cost of  each

ticket?

3. One sheet of brown paper is needed to cover 6 note books. How many brown sheets

are required to cover 114 such books?
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eTT+<�T #ûd¾q uó²>·V�äsÁ+ýË $uó²È«+ 602, $uó²È¿£+ 5, uó²>·|��\+ 120, Xâw�+ 2

5 qT 120 ÔÃ >·TDì�dï 600 ed�Tï+<�� eTqÅ£� Ôî\Td�T. n+<�Te\¢ 5 I 120 R 600.

$uó²È¿£+ I uó²>·|��\+ R 600

eºÌq \�Æ+qT, 602 qT+º Ô=\Ð+#á>± 2 ed�Tï+~. n+fñ 602 ` 600 R 2

eºÌq uóñ<�+ Xâw�+qÅ£� d�eÖqyîT®q~.

602 R (5 I 120) G 2

B� qT+&� � ¿ì+~ $w�jáÖ�� eTq+ Ôî\Td�T¿Ãe#áTÌ.

$uó²È«+ R ($uó²È¿£+ I uó²>·|��\+) G Xâw�+

�$ #ûjáT+&�

1. uó²>·V�äsÁ+ #ûd¾, |��*Ô��� d�]#áÖ&�+&�.

n) 509 ª 9 �) 721 ª 8 �) 802 ª 8

2. ¿ì+~ uó²>·V�äsÁ d�eTd�«\T #ûd¾, uó²>·|��\+, XâcÍ\qT Ôî*jáTCñjáT+&�.

n) 479 ª 8 �) 983 ª 5 �) 843 ª 3

ç|�jáTÜ�+#á+&�

1. 240 eT]jáTT 176 \T 16 ÔÃ uó²Ð+|��&�Ô�sTT. y�{ì uóñ<�eTT Å£L&� 16 ÔÃ uó²Ð+|��&�TÔáT+<�? |�]o*+#á+&�.

2. 180 qT 1, 2, 3, 4, 5 eT]jáTT 6 \ÔÃ uó²Ð+#á+&�. MT¹s$T >·eT�+#�sÃ s�jáT+&�.

nuó²«d�+ 6.1

1. ÿ¿£ �|qT� K¯<�T ` 6 nsTTÔû ` 864 Å£� m�� �|qT�\T ¿=q>·\eTT?

2. 8 eT+~ |¾\¢\T d�sÁØdtÅ£� yî[ß ` 360 �ºÌ {ìÂ¿³T¢ ¿=H��sÁT. nsTTÔû ÿ¿=Ø¿£Ø {ìÂ¿Ø{Ù yî\ m+Ôá?

3. ÿ¿£ çu�H�wÓ{ÙÔÃ 6 HÃ³T |�Úd�ï¿±\Å£� n³¼\T yûjáT>·\eTT. nsTTÔû 114 HÃ³T |�Úd�ï¿±\Å£� n³¼\T yûjáT&��¿ì m��

çu�H�wÓ³T¢ ¿±y�*?
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12 Class - 4  Maths Magic

1 3)  5 9 8 (4 6
     –  5 2
           7 8

   7 8
            0

13 × 0 =  0
13 × 1 =  13
13 × 2 =  26
13 × 3 =  39
13 × 4 =  52
13 × 5 =  65
13 × 6 =  78
13 × 7 =  91
13 × 8 =  104
13 × 9 =  117
13 × 10 =  130

4. Fill the boxes with suitable number.

5. A drum has 500 litres of water. How many 20 litre cans can be filled
with the water?

6. Total bus fare from Vijayanagaram to Vishakhapatnam for 9 people is
` 540. What is the  bus fare for each person?

7. 183 ÷ 9 Rakesh did this problem like this

Is  Rakesh  correct? Justify your answer.

Quotient   = 2

Remainder = 3

           6.2   Division of a 3 digit number by a 2 digit number

In Ramayya's garden there are 598 sapota trees, which are distributed equally in 13 rows.
How many sapota trees are there in each row?

Number of  sapota trees =  598

Number of rows = 13

Number of trees in each row =  ?

What mathematical operation will be used?

we divide 598 by 13

Step - 1

We take 59  > 13,  so divide 59 by 13.

Write the multiplication table of 13 till you

get product just less than or equal to 59.

4) 4 8 7 (1  
4
   8
– 8

7
    –  

3

9) 7 6 3 (8  
7  2
   4 3
– 3 6

        

9) 1 8 3 (2
     1 8
         3
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1 3)  5 9 8 (4 6
     –  5 2
           7 8

   7 8
            0

13 × 0 =  0
13 × 1 =  13
13 × 2 =  26
13 × 3 =  39
13 × 4 =  52
13 × 5 =  65
13 × 6 =  78
13 × 7 =  91
13 × 8 =  104
13 × 9 =  117
13 × 10 =  130

4. d�ÂsÕq d�+K«\ÔÃ U²°\T |�P]+#á+&�.

5. ÿ¿£ |ÓbÍ �+&� 500 ©³sÁ¢ úÞø�ßH��sTT. � ú{ìÔÃ 20 ©³sÁ¢ ¿±«qT¢ m�� �+|�>·\eTT?

6. 9 eT+~ eTqTw�§\� $ÈjáTq>·sÁ+ qT+º $XæK|�³¼D²�¿ì �d�Tà #ó� ¨̄ ` 540 #î*¢�dï, ÿ¿=Ø¿£Ø]¿ì

�dt#� ¨̄ m+Ôá?

7. s�¹¿wt 183 ª 9 ýÉ¿£ØqT �ý² #ûXæ&�T.

s�¹¿wt d�]>± #ûXæ&�? ýñ<�? ú d�eÖ<ó�q+ÔÃ d�]bþ\TÌ.

uó²>·|��\+ R 2

Xâw�+ R 3

3 ` n+Â¿\ d�+K«qT 2 n+Â¿\ d�+K«ÔÃ  uó²Ð+#áT³

s�eTjáT« Ôáq ÔÃ³ýË 598 d�bþ{² #î³¢qT ç|�Ü esÁTd�ýË d�eÖq+>± �+&û³³T¢ 13 esÁTd�\ýË H�{²&�T.

nsTTÔû ç|�Ü esÁTd�ýË �+&û d�bþ{² #î³T¢ m�� ?

yîTTÔáï+ d�bþ{² #î³T¢ R 598

esÁTd�\ d�+K« R 13

ÿ¿ÃØ esÁTd�ýË #î³¢ d�+K« R ?

@ >·DìÔá ç|�ç¿ìjáTqT �|�jîÖÐ+#�*?

eTq+ 598 � 13 ÔÃ uó²Ð+#�*.

kþbÍq+ :1

eTq+ 59 � rd�TÅ£�+fñ 59 > 13 ¿±�{ì¼ 13 jîTT¿£Ø >·TD¿±sÁ

|�{ì¼¿£qT s�d¾, <�� qT+&� 59 ¿£+fñ ÔáÅ£�Øe �q� ýñ¿£ 59 ¿ì

d�eÖqyîT®q d�+K« esÁÅ£� >·TD¿±sÁ  |�{ì¼¿£qT |�]o*+#�*.

4) 4 8 7 (1  

4

   8

 ` 8

7

    `  

3

9) 7 6 3 (8  

7  2

   4 3

 ` 3 6

        

9) 1 8 3 (2

    1 8

         3
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14 Class - 4  Maths Magic

13  x  4  =  52,    13  x  5  =  65 and  52  < 59  <  65.
So, we take 13  x  4  =  52.
13 divides 59 for four times.
Write 4 for as first digit in the quotient.
Then write the product 52 below 59 and subtract.
We get 59 – 52 = 7.

Step - 2
Bring down the  digit 8 from ones place and write next to 7. So it becomes 78.
Divide 78 by 13,  13  x  6  =  78
Write 6 as second digit in the quotient.
Write 78 below 78 and subtract.
78 – 78 =  0 write 0 as remainder.

Ravi distributed 876 rupees to 38 students equally for purchase of class room decoration

items. Calculate how much amount each one would get and what amount would remain

with Ravi.

Example - 4

Data:

Total amount to be distributed equally =………….
Number of students =………….
Amount each will get = ..............
What operation is required here ?
Here we need to divide 876  by 38.

When 876 is divided by 38 we get,
Quotient  =  23   and   Remainder  =  2
So, each one get ` 23.

    In   598 ÷ 13
Quotient is 46

and Remainder is  0.

3 8) 8 7 6 (2 3

     – 7 6

        1 1 6

    – 1 1 4

              2

38 × 0 =  0
38 × 1 =  38
38 × 2 =  76
38 × 3 =  114
38 × 4 =  152
38 × 5 =  190
38 × 6 =  228
38 × 7 =  266
38 × 8 =  304
38 × 9 =  342
38 × 10 =  380

`
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3 8) 8 7 6 (2 3

     – 7 6

        1 1 6

    – 1 1 4

              2

38 × 0 =  0
38 × 1 =  38
38 × 2 =  76
38 × 3 =  114
38 × 4 =  152
38 × 5 =  190
38 × 6 =  228
38 × 7 =  266
38 × 8 =  304
38 × 9 =  342
38 × 10 =  380

13 I 4 R 52, 13 I 5 R 65 eT]jáTT  52 < 59 < 65
n+<�Te\¢ 13 I 4 R 52

13 qT 59 ýË H�\T>·TkÍsÁT¢ rd¾yûjáTe#áTÌ. ¿±eÚq uó²>·|��\+ýË 4 s�jáT+&�.

59 ¿ì+<� 52 s�d¾, rd¾yûjáT+&�. 59 ` 52 R 7.

kþbÍq+ ` 2

ÿ¿£³¢ kÍ�q+ýË �q� 8 qT 7 |�¿£Øq s�jáT+&�. n|�ÚÎ&�T 78 neÚÔáT+~.

78 � 13 ÔÃ uó²Ð+#á+&�, 78 ª 13 R 6

78 � 78 ¿ì+<� s�d¾, rd¾yûjáT+&�.

78 ` 78 R 0. 0 Xâw�+ neÚÔáT+~.

¿±eÚq ç|�Ü esÁTd�ýË 46 d�bþ{² #î³T¢ �+&�TqT.

 sÁ$ eÖkÍ¼sÁT Ôáq ÔásÁ>·ÜýË� 38 eT+~ |¾\¢\Å£� Ôî\¢¿±ÐÔ�\ |�Úd�ï¿±\T ¿=qT³Å£�>±qT ̀  876 qT d�eÖq+>±     |�+#�&�T.

nsTTÔû ÿ¿=Ø¿£Ø |¾\¢y��¿ì m�� sÁÖbÍjáT\T �#�ÌsÁT? �+¿£qT m�� sÁÖbÍjáT\T $TÐ*q$?

�<�V�²sÁD ` 4

kÍ<ó�q :

|�+ºq kõeTT� R .............

ÔásÁ>·ÜýË |¾\¢\ d�+K« R .............

ÿ¿=Ø¿£Ø |¾\¢ y��¿ì eºÌq sÁÖbÍjáT\T R .............

mqT�¿Ãe\d¾q >·DìÔá ç|�ç¿ìjáT @~?

�¿£Ø&� 876 qT 38 ÔÃ uó²Ð�dï

uó²>·|��\+ 23, Xâw�+ 2 ed�Tï+~.

¿±eÚq ÿ¿=Ø¿£Ø |¾\¢y��¿ì ` 23 ekÍïsTT.

598 qT 13 #û uó²Ð+#á>±,

uó²>·|��\+ 46, Xâw�+ 0

ed�Tï+~.

`
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16 Class - 4  Maths Magic

Do these

1. Find the quotient and the remainder for the following and check your answer.

a)  309  ÷ 15      b)  768  ÷  19  c)  422 ÷  24       d)  849  ÷  42
2. A garment vendor packs 24  T-shirts in a box. If he had 886 T- shirts, how many boxes

are required to pack and how many T- shirts would remain unpacked?

 6.3   Dividing a number by 10

Now observe what happens when a number is divided by 10.

Example - 5

Here quotient  =  63   and   remainder  =  7.

Example - 6

Divide  480 by 10

Here quotient  =  48   and   remainder  =  0.

     637  ÷  10
10) 6 3 7 (6 3

– 6 0
      3 7
   – 3 0

   7

10) 4 8 0 (4 8
– 4 0
      8 0
   – 8 0

   0
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     637  ÷  10
10) 6 3 7 (6 3

– 6 0
      3 7
   – 3 0

   7

10) 4 8 0 (4 8
– 4 0
      8 0
   – 8 0

   0

�$ #ûjáT+&�

1. ¿ì+~ uó²>·V�äs�\T #ûd¾ uó²>·|��\+, Xâw�+ Ôî*jáTCñjáT+&�.

n) 309 ª 15 �) 768 ª 19 �) 422 ª 24 �) 849 ª 42

2. ÿ¿£ �³¼\ <�T¿±D+ y�&�T 886 {¡ w�sÁT¼\qT ÿ¿ÃØ u²Å£�àýË 24 {¡ w�sÁT¼\ #=|�ðq �|]ÌÔû, m�� u²Å£�à\T

ÔájáÖsÁeÚÔ�sTT? eT]jáTT m�� {¡ w�sÁT¼\T $T>·T\TÔ�sTT?

10 ÔÃ uó²>·V�äsÁ+

ÿ¿£ d�+K«qT 10 ÔÃ uó²Ð+ºq|�Ú&�T @eTeÚÔáT+<Ã |�]o*<�Ý+.

�<�V�²sÁD : 5

uó²>·|��\+ ` 63,  Xâw�+ 7.

�<�V�²sÁD : 6

480 qT 10 ÔÃ uó²Ð+#á+&�.

uó²>·|��\+ 48,  Xâw�+ 0.
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18 Class - 4  Maths Magic

Divide 908 by 10

Here Quotient =  90   and   Remainder  = 8.

What do you observe?
When we divide a 3-digit

number by 10, the remainder is
always the digit in ones place of

the given number and the
quotient is the number formed

by the remaining digits.

6.4   Dividing a number by 100

Now observe what happens when a number is divided by 100.

Example - 8
                 967 ÷ 100.

Here the Quotient  = 9
and the Remainder = 67

100) 9 6 7 (9
  – 9 0 0
      6 7

Example - 7

10) 9 0 8 (9 0
 –9 0
    0 8
 – 0 0

  8

100 × 1 =  100

100 × 2 =  200

100 × 3 =  300

100 × 4 =  400

100 × 5 =  500

100 × 6 =  600

100 × 7 =  700

100 × 8 =  800

100 × 9 =  900

100 × 10=  1000
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100 × 1 =  100

100 × 2 =  200

100 × 3 =  300

100 × 4 =  400

100 × 5 =  500

100 × 6 =  600

100 × 7 =  700

100 × 8 =  800

100 × 9 =  900

100 × 10=  1000

908 qT 10 ÔÃ uó²Ð+#á+&�.

uó²>·|��\+ R 90,  Xâw�+ R 0.

qTyûÇ$T >·eT�+#�eÚ ?

ÿ¿£ eTÖ&�+Â¿\ d�+K«qT 10 ÔÃ

uó²Ð�dï. ÿ¿£³¢ kÍ�q+ýË �q� n+Â¿ Xâw�+>±

�+³T+~. ÿ¿£³¢ kÍ�q+ýË� n+Â¿ Ôá|�Î

$TqV�ä $TÐ*q n+Â¿\ÔÃ @sÁÎ&�q d�+K«

uó²>·|��\+>± �+³T+~.

100 ÔÃ uó²>·V�äsÁ+

ÿ¿£ d�+K«qT 100 ÔÃ uó²Ð�dï @eTeÚÔáT+<Ã #áÖ<�Ý+.

�<�V�²sÁD : 8

967 qT e+<�ÔÃ uó²Ð+#á+&�.

�¿£Ø&� uó²>·|��\+ R 9

           Xâw�+ R 67.

100) 9 6 7 (9

 ` 9 0 0

      6 7

�<�V�²sÁD : 7

10) 9 0 8 (9 0

`9 0

    0 8

 `  0 0

  8
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Example - 9

Example - 10
Quotient  =  7  Remainder  =  9

Quotient  =  9    and    Remainder  =  0.

What do you observe?

From the above examples, we observe that

When we divide a 3-digit number by 100, the quotient is the digit in the
hundred’s place and the remainder is the number formed by the digits in tens and
ones place of the given number taken in the same order.

614  ÷  100  Remainder = 14;     Quotient =  6
721  ÷  100 Remainder =  21,     Quotient =  7

Example - 11

Do these

1. Guess the remainder and quotient without doing actual division.
a)   649  ÷  10 b)  989  ÷  100
c)   701  ÷  100 d)  683  ÷  100

 Exercise 6.2

1. Dasu needs 3 oranges to make a glass of orange juice. How many glasses of orange

juice can be make with 240 oranges?

2.   The cost of a mango is `15. How many mangoes can be purchased for ` 210?

100) 7 0 9 (7
   –7 0 0
        9

709  ÷  100

100) 9 0 0 (9
   -9 0 0
        0

900  ÷  100
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�<�V�²sÁD : 9

�<�V�²sÁD : 10

�¿£Ø&� uó²>·|��\+ ` 7,   Xâw�+ 9.

�¿£Ø&� uó²>·|��\+ R 9,  Xâw�+ R 0.

�|Õ �<�V�²sÁD\ <�Çs� úyû$T >·eT�+#�eÚ?

ÿ¿£ eTÖ&�+Â¿\ d�+K«qT 100 ÔÃ uó²Ð+ºq|�Ú&�T, e+<�\ kÍ�q+ýË n+Â¿ m+Ôá �+fñ n+Ôá uó²>·|��\+,

neÚÔáT+~. |�<�T\T, ÿ¿£³¢ kÍ�q+ýË n+Â¿\ÔÃ @sÁÎ&�q d�+K« Xâw�+ neÚÔáT+~.

614ª100 , uó²>·|��\+ `6, Xâw�+ `14.

721ª100, uó²>·|��\+ `7, Xâw�+ ` 21.

�<�V�²sÁD : 11

�$ #ûjáT+&�

1. uó²>·V�äsÁ+ #ûjáTÅ£�+&� uó²>·|��\+, Xâw�+ #î|�Î+&�.

n) 649 ª 10 �) 989 ª 100

�) 701 ª 100 �) 683 ª 100

 nuó²«d�+ ` 6.2

1. <�d�T 3 H�]+È |�+&�¢ÔÃ ÿ¿£ >±¢d�T |�+&�¢sÁd�+ ÔájáÖsÁT#ûXæ&�T. nsTTÔû 240 H�]+È |�+&�¢ÔÃ m�� >±¢d�T\ |�+&�¢sÁd�+

ÔájáÖsÁT#ûjáT>·\&�T?

2. ÿ¿£ eÖ$T&� |�+&�T K¯<�T ` 15. nsTTÔû ` 210 Å£� m�� eÖ$T&� |�+&�T¢ ekÍïsTT?

100) 7 0 9 (7

 ` 7 0 0

        9

709 ª 100

100)  9 0 0 (9

 ` 9 0 0

        0

900 ª 100

�|Õ �<�V�²sÁD\ qT+&� eTq+ ¿ì+~ $w�jáÖ�� >·eT�+#áe#áTÌ.
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3. The earth takes 24 hours to complete one rotation. How many rotations can it make in

144 hours?

4. A school bus can accommodate 50 children. How many such buses are needed to

accommodate 250 children?
5. 160 children get into teams of 4 members. How many such teams  can they form?

6. How many weeks can make 126 days? (7 day are in one week)

7. Sanju bought 360 crayons in packets of 15 each. How many packets of crayons did

Sanju buy?

8. Fill in the missing digits in the division and find the quotient and the

remainder.

9.  Rani did the problem  in the following way.

 19) 3 9 8 (2

     - 3 8

 1 8

 Quotient =   2       Remainder  = 18

Is it correct? Justify.

10. A small scale industry made 750 candles in a week. The candles

were packed in a packet  of  12 each. How many packets were

made and how many candles were left behind?

a) b) 44) 6 2 5 (4 
    - 4 

  8  5
  – 1  7 

   
Quotient =  Remainder   = 

56) 9 1 6 (1 
   6

       5  6
  –    6

 2 0
Quotient =  Remainder   = 

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



23ÔásÁ>·Ü ` 4  >·DìÔá+ÔÃ >·eT�ÔáTï

3. uó�Ö$T ÿ¿£kÍ] çuó�eTD+ #ûjáT&��¿ì 24 >·+³\T |�&�TÔáT+~. nsTTÔû 144 >·+³\ýË uó�Ö$T m�� çuó�eTD²\qT #ûd�Tï+~?

4. ÿ¿£ d�ÖØýÙ�dt 50 eT+~ $<�«sÁT�\qT rd�TÅ£�yîÞøß>·\<�T. nsTTÔû 250 eT+~ $<�«sÁT�\qT rd�TÅ£�yîÞøß&��¿ì m��

�d�Tà\T ¿±y�*?

5. ÿ¿£ {¡eTT¿ì 4>·TsÁT �³>±Þø�ß #=|�ðq, 160 eT+~ �³>±Þø�ß m�� {¡eTT\T>± @sÁÎ&�TÔ�sÁT?

6. 126 sÃE\Å£� m�� y�s�\T? ( y�s��¿ì sÃE\T 7)

7. d�+E 15 bÍ«Â¿{¢ýË yîTTÔáï+ 360 ç¹¿jáÖqT¢ ¿=H��&�T. nsTTÔû ÿ¿=Ø¿£Ø bÍ«Â¿{ÙýË �q� ç¹¿jáÖqT¢ m��?

8. ¿ì+~ uó²>·V�äsÁ+ýË ýË|¾+ºq n+Â¿\ÔÃ ¿ì+<� �eÇ�&�q u²¿ùà\ýË �+|¾, uó²>·V�äsÁ+ d�]#ûjáT+&�.

9. s�Dì �ºÌq uó²>·V�äs��� � $<ó�+>± #ûd¾+~.

 19) 3 9 8 (2

     - 3 8

 1

uó²>·|��\+ ` 2,     Xâw�+ 18.

�~ d�ÂsÕq<ûH�? �ýËº+#á+&� ` d�]#ûjáT+&�.

10. ÿ¿£ ºq� ÔásÁV�ä |�]çXøeT ÿ¿£ y�sÁ+ýË 750 ¿=y=ÇÔáTï\T ÔájáÖsÁT#ûd�Tï+~. ÿ¿=Ø¿£Ø bÍ«Â¿{ÙýË 12

¿=y=ÇÔáTï\T �q�, yîTTÔáï+ m�� bÍ«Â¿³T¢ ÔájáÖsÁT neÚÔ�sTT? m�� ¿=y=ÇÔáTï\T $TÐ*bþjáÖsTT?

n) �) 44) 6 2 5 (4 

  ` 4 

  8  5

  ` 1  7 

   

uó²>·|��\+R      Xâw�+R 

56) 9 1 6 (1 

 6

    5  6

`    6

 2 0

uó²>·|��\+R    Xâw�+ R 
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Who is correct? Think and discuss.

To find the correct answer, we follow DMAS rule.

DMAS is an acronym in which

D- Division ÷

M-Multiplication x

A- Addition +

S- Subtraction =

Example - 12

Simplify the following .

14 + 26 – 27 ÷ 3 x 2

(Apply DMAS rule)

Step - 1

We perform the division first.

i.e.  27  ÷  3  =  9

Now it becomes,

14  +  26  – 9  x  2

Rama answered 3 + 5 x 4 = ? like this. Ravi answered 3 + 5 x 4? like this
=  3 + 5 x  4   =  3  +  5  x  4
=  8  x  4   =  3  +  20
=  32   =  23

It explains the order of operations to solve a problems involving addition,
subtraction, multiplication and division.

According to DMAS rule, if an expression contains the 4 operations, first we have
to perform Division followed by Multiplication, Addition and Subtraction respectively.
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mesÁT d�]>± #ûXæsÁT? �ýËº+#á+&�. #á]Ì+#á+&�.

�³Te+{ì ýÉ¿£Ø\T #ûjáT&��¿ì eTq+ &�eÖdt |�<�ÆÜ y�&�*.

&žeÖdt (DMAS) ýË �q� �+>·¢ n¿£�s�\T ns���� |�]o*<�Ý+.

D nq>± uó²>·V�äsÁ+ (ª)

M nq>± >·TD¿±sÁ+ (I)

A nq>± Å£L&�¿£ (G)

S nq>± rd¾yûÔá (`)

�<�V�²sÁD ` 12

'DMAS' �jáTeÖ�� �|�jîÖÐ+º ¿ì+<� ýÉ¿£ØqT d�Ö¿¡��¿£]+#á+&�.

14 G 26 ` 27 ª 3 I 2

kþbÍq+ ` 1

yîTT<�³ uó²>·V�äsÁ ç|�ç¿ìjáTqT #ûjáÖ*.

nq>± 27 ª 3 R 9

�|�ð&�T d�eTd�« 14 G 26 ` 9 I 2 neÚÔáT+~.

¿ì+~ ýÉ¿£ØÅ£� sÁ$, sÁeT � $<ó�+>± kÍ<ó�q #ûXæsÁT.

d�eTd�« ` 3 G 5 I 4 R ?

R 3 G 5 I 4 R 3 G 5 I 4

R 8 I 4 R 3 G 20

R 32 R 23

� �jáTeT+ �ºÌq d�eTd�«ýË� Å£L&�¿£, rd¾yûÔá, >·TD¿±sÁ+, uó²>±V�äs�\qT @ esÁTd� ç¿£eT+ýË kÍ~ó+#�ýË

Ôî*jáTCñd�Tï+~.

DMAS �jáTeT+ ç|�¿±sÁ+ yîTT<�{ì uó²>±V�äsÁ+ ÔásÁTy�Ôá esÁTd�>± >·TD¿±sÁ+, Å£L&�¿£, rd¾yûÔá ç|�ç¿ìjáT\T

#ûjáÖ*.
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Step - 2: N ow  the operat ion is mul t ipl icat ion.

i .e.  9 × 2 = 18

N ow i t  becomes,

14 + 26 – 18

Step - 3: N ex t operat ion is addi t ion.

i .e.  14 + 26 = 40

N ow i t  becomes,

40 – 18

Step - 4:  N ex t operat ion is subtraction.

N ow w e get 40 – 18 = 22

So the answ er is 22.

Exercise 6.3

 Do the following.

1. 168  ÷  8  +  5  ×  12  –  38

2. 412  –  108 +  315  ÷  45  ×  157

3. 476  ÷  14  ×  24  –  504  +  132

4. 482  –  412  +  276  ÷ 12  ×  204

5. 128  +  125  ÷  25  ×  26 –  127

6. 25  +  6 × 3  – 100 ÷ 10

7. 8 × 5 – 6 + 10 ÷ 2

  7 + 7 ÷ 7 + 7 × 7 – 7 =

Try this:
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  7 + 7 ÷ 7 + 7 × 7 – 7 =

kþbÍq+ ` 2: �|�Ú&�T >·TD¿±sÁ+ (I) #ûjáÖ*.

nq>± 9 I 2 R 18.

�|�Ú&�T d�eTd�«

14 G 26 ` 18 neÚÔáT+~.

kþbÍq+ ` 3: ÔásÁTy�Ôá ç|�ç¿ìjáT Å£L&�¿£(G) #ûjáÖ*.

14 G 26 R 40

�|�ÚÎ&�T d�eTd�« ¿ì+~ $<ó�+>± neÚÔáT+~.

40 ̀  18

kþbÍq+ ` 4: ÔásÁTy�Ôá ç|�ç¿ìjáT rd¾yûÔá (`) #ûjáÖ*.

n+<�Te\¢ d�eÖ<ó�q+ neÚÔáT+~.

40 ` 18 R 22

nuó²«d�+ 6.3

 ¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

1. 168 ª 8 G 5 I 12  - 38

2. 412 ` 108 G 315 ª 45 I 157

3. 476 ª 14 I 24 ` 504 G 132

4. 482 ` 412 G 276 ª 12 I 204

5. 128 G 125 ª 25 I 26 ` 127

6. 25  G  6 × 3  ` 100 ª 10

7. 8 I 5 ` 6 G 10 ª 2

ç|�jáTÜ�+#á+&� :
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Geometry
7

Chapter

Geometry

They requested the carpenter to show the articles. Carpenter Brahmam showed them and
explained the details of all the articles made by him in the shop. Meanwhile, Rani observed
a box in the shop.

On a Sunday some students were going to play in a ground. On their way they stopped at
carpenter Brahmam's shop. There they observed a lot of objects made by the carpenter.

7.1  Introduction
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� sÃE �~y�sÁ+ ¿±e&�+ÔÃ |¾\¢\+<�sÁÖ �&�T¿Ãe&��¿ì yîÞø�ÔáTH��sÁT. <�]ýË y�Þø�ß eç&�+Ð ç�V�²�+ cÍ|�Ú e<�Ý

�>±sÁT. n¿£Ø&� eç&�+Ð #ûd¾q #�ý² kÍeÖqT¢, ed�TïeÚ\T |�]o*+#�sÁT.

y�Þø�ß eç&�+Ð ç�V�²�+ÔÃ nÔáqT #ûd¾q ed�TïeÚ*� #áÖ|¾+#áeT� n&�>±sÁT. ç�V�²�+ y�]¿ì Ô�qT #ûd¾q ed�TïeÚ*�, y�{ì

$es�*� Ôî*jáTCñd�TïH��&�T.  � ýË>± s�Dì cÍ|�ÚýË ÔájáÖsÁT#ûd¾q ÿ¿£ �|fÉ¼qT |�]o*kþï+~.

C²«$TÜ
n<ó�«jáT+

7
 7.1  |�]#ájáT+
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Kittu

Hey! Look at the legs
of teapoy. What do we

call this shape?

Mary

This shape is
called a cone.

Look at the box. This
box is  having 12 edges,
8 corners  and 6 faces.

My rubric cube is also
having 12 edges 8

corners and 6 faces.

The shape is just
like joker cap.

Rani Rajiya

face edge

length

he
ig

ht

Corner (Vertex)

breadth
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� �|fÉ¼ #áÖ&�+&�. B�¿ì 12

n+#áT\T, 8 eTÖ\\T, 6 Ôáý²\T

�H��sTT.

s�Dì

H� sÁÖ_¿ù Å£L«uÙ¿ì Å£L&� 12

n+#áT\T, 8 eTÖ\\T, 6

Ôáý²\T �H��sTT.

sÁ�jáÖ

� �¿±sÁ+ CË¿£sY

{Ë|Ó ý² �+~.

¿ì³T¼

yûT¯

� {¡bÍjYT ¿±Þø�ß #áÖ&�+&�!

eTq+ � �¿±s���

@eT+{²eTT?

� �¿±s���

Xø+U²¿±sÁ+ n+{²sÁT.

eTÖ\ (osÁü+)

m
Ô
áTï

bõ&�eÚ

Ôá\+
n+#áT

yî&�\TÎ
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What is the shape
of this gum bottle?

This shape is
called a cylinder.

Think and discuss
Does a cone or cylinder have any edges and corners?

Jyothi too observed the shape of the plywood sheet and measured, then the lengths
of all edges. Brahmam helped Jyothi in measuring the plywood sheet. From the
measurements, she noticed that the opposite edges have the same length. Adjacent edges
(sides) have different lengths.

Children observed the cot made by Brahmam. The plywood used
for the top of the cot is in this shape.

breadth

length

180cm

180cm

120cm120cm
This shape is

called Rectangle.

Rani drew a line on a rectangular paper as
given below. Now, the rectangle is divided
into two  equal parts.

Rajiya drew a line on another rectangular
paper joining the opposite corners to make
the rectangle into two equal parts.

Do these

a) Draw a line to  divide the adjacent. Rectangles into two equal parts.
b) Name  some objects which are in rectangle shape

Jyothi measured
       like this.

7.1   Rectangle :
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CË«Ü ¿ì+~

$<ó�+>± ¿=*º+~.

� >·y�T u²{ìýÙ �¿±sÁ+

@$T{ì?

� �¿±s��� d�Ö�bÍ¿±sÁ+

n+{²sÁT.

eç&�+Ð ç�V�²�+ cÍ|�ÚýË �q� eT+#áeTTqT |¾\¢\T |�]o*d�TïH��sÁT. eT+#áeTTqÅ£�

�|Õq yûd¾q �|¢eÚ&� wÓ{Ù  �¿±sÁ+ýË �+~.

CË«Ü �|¢eÚ&�qT |�]o*+º n�� n+#áT\ bõ&�eÚ\qT ¿=*º+~. ç�V�²�+ CË«Ü¿ì ¿=\Ôá

¿=\e&�+ýË d�V�äjáT+ #ûkÍ&�T. �yîT H�\T>·T n+#áT\qT (uó�TC²\qT) |�]o*+º+~. m<�TÂs<�TsÁT n+#áT\T (uó�TC²\T)

bõ&�eÚ\T d�eÖq+>± �H��jáT� Ôî\Td�T¿=+~. ç|�¿£Øç|�¿£Ø n+#áT\T (uó�TC²\T) bõ&�eÚ\T yûsÁTyûsÁT>± �H��jáT� >·T]ï+º+~.

bõ&�eÚ

 yî&�\TÎ

 � �¿±s���

BsÁé#áÔáTsÁçkÍ¿±sÁ+

n+{²sÁT.

s�Dì ÿ¿£ BsÁé#áÔáTsÁçkÍ¿±sÁ|�Ú ¿±ÐÔ��¿ì n&�¦+>± ÿ¿£

^Ôá ^d¾+~. n|�Ú&�T BsÁé#áÔáTsÁçd�+ 2 d�eÖq

uó²>±\T>± $uó��+#á�&�+~.

 sÁ�jáÖ ÿ¿£ BsÁé#áÔáTsÁçkÍ¿±sÁ|�Ú ¿±ÐÔ��� rd�T¿=�

m<�TÂs<�TsÁT os�ü\qT Å£\T|�ÚÔáÖ ÿ¿£ ¹sK �ý² ^d¾+~.

�ý² #ûjáT&�+ e\¢ BsÁé#áÔáTsÁçd�+ 2 d�eÖq uó²>±\T>±

$uó��+#á�&�q~.

120 �d+.MT.

180 �d+.MT.

120 �d+.MT.

180 �d+.MT.

Xø+U²¿±sÁeTT eT]jáTT d�Ö�bÍ¿±sÁ ed�TïeÚ\Å£� n+#áT\T, eTÖ\\T �H��jáÖ ?

 �ýËº+#á+&� ` #á]Ì+#á+&�

�~ #ûjáT+&�:

n) �ºÌq BsÁé#áÔáTsÁçkÍ\qT 2 uó²>±\T>± #û�d $<ó�+>± ^Ôá\T ^jáT+&�.

�) MT |�]d�s�\ýË �+&û BsÁé#áÔáTsÁçkÍ¿±sÁ|�Ú ed�TïeÚ\T ¿=��+{ì� s�jáT+&�.

7.1  BsÁé #áÔáTsÁçd�+ :
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Children were discussing the shape of carrom board kept in the carpenter's shop.
Rani measured each length of carom board. She found that each length is 74cm.

This shape is called a SQUARE.
The edge is also called a side and
all  the four sides are equal.

Mary drew a line on a square paper as
shown below. Now, the square divided into
two equal parts.

Kittu drew a line another square paper
joining the opposite corners to make the
square into two equal parts equal parts.

Do these

Draw a line to divide the following squares into two equal parts.

 7.2  Square :

74cm.

74cm.

74
cm

.

74
cm

.

    This carroms board has 4
edges. All are equal in length.
The adjacent edges are vertical
to each other.
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|¾\¢\T ¿±«sÁy�T uËsY¦ �¿±s��� >·T]+º #á]Ì+#áTÅ£�+³TH��sÁT. s�Dì ç�V�²�+ cÍ|�ÚýË �q� ¿±«sÁy�T uËsÁT¦ 4

n+#áT\ bõ&�eÚ\T ¿=*º+~. ÿ¿ÃØ n+#áT bõ&�eÚ 74 �d+.MT �q�³T¢ >·T]ï+º+~.

 � �¿±s��� #áÔáTsÁçd�+ n+{²sÁT. #áÔáTsÁçd�+ýË

n�� n+#áT\T d�eÖqyîT®q bõ&�eÚ\T ¿£*Ð

�+{²sTT. ç|�Ü n+#áTqT uó�TÈ+ n+{²sÁT.

yûT¯ ÿ¿£ �||�sÁT MT<� #áÔáTsÁçd�+ ̂ d¾+~.

<���|Õ ÿ¿£ ^ÔáqT �ý² ^d¾+~. #áÔáTsÁçd�+

2 d�eÖquó²>±ýÉÕ+~.

¿ì³T¼ eTs=¿£ �||�sÁT MT<� #áÔáTsÁçd�eTT ^Xæ&�T.

m<�TÂs<�TsÁT os�ü\qT ¿£\T|�ÚÔáÖ ÿ¿£ ^Ôá ^Xæ&�T. n~

#áÔáTsÁçd�eTTqT 2 d�eÖq uó²>±\T>± $uó��+º+~.

�~ #ûjáT+&�

�ºÌq #áÔáTsÁçd�+�|Õ ^Ôá\T ^jáT&�+ <�Çs� 2 d�eÖq uó²>±\T>± #ûjáT+&�.

� ¿±«sÁy�T uËsÁT¦Å£� 4 n+#áT\T

�H��sTT. n�� n+#áT\T ÿ¹¿

bõ&�eÚqT ¿£*Ð �H��sTT.

ç|�¿£Ø³+#áT\T ÿ¿£<��¿=¿£{ì

�³¼�\TeÚ>± �H��sTT.

7.2 #áÔáTsÁçd�+ :

74 �d+.MT.

74 �d+.MT.

7
4
 �
d
+
.M

T.

7
4
 �
d
+
.M

T.
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Activity - 1:
Measure the sides of the objects and record them in the table given below. Write your

observations in last column.

Shape of
object

Name of
the object

Length of
opposite sides

Length of
adjacent sides

Property

Rectangular

Maths Text
book

cover page

Note book
cover page

Square

One face
of a rubric

cube

One face
of a die

1st pair:…....…….cm,
……...........cm

2nd pair…....…......cm,
……............cm

1) ............. side
   are equal
2)  ..............
    sides are
    unequal
3) ...............
   sides are
  vertical

1) ............. side
   are equal

2)  ...............
    sides are
   vertical

Activity - 2 :

Take a card board and cut it in the shapes of a square and a rectangle.
Fold them as shown below.

The line drawn through
the opposite corners of a rectangle

or a square is called it's
diagonal

1st pair:…....…….cm,
……...........cm

2nd pair…....…......cm,
……............cm

1st pair:…....…….cm,
……...........cm

2nd pair…....…......cm,
……............cm

1st pair:…....…….cm,
……...........cm

2nd pair…....…......cm,
……............cm

1st pair:…....…….cm,
……...........cm

2nd pair…....…......cm,
……............cm

1st pair:…....…….cm,
……...........cm

2nd pair…....…......cm,
……............cm

1st pair:…....…….cm,
……...........cm

2nd pair…....…......cm,
……............cm

1st pair:…....…….cm,
……...........cm

2nd pair…....…......cm,
……............cm

7.3 Triangle :

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



37ÔásÁ>·Ü ` 4  >·DìÔá+ÔÃ >·eT�ÔáTï

¿£�Ôá«+ ` 1:

ÿ¿£ <�Þød�] #�sÁT¼ ýñ<� n³¼ rd�T¿Ã+&�. <��� #áÔáTsÁçd�+ ýñ<� BsÁé#áÔáTsÁçd�+ �¿±sÁ+ýË ¿£Üï]+#á+&�.

ºçÔá+ýË #áÖ|¾+ºq³T¢ eT&�Ôá �|³¼+&�.

#áÔáTsÁçd�eTTqÅ£� >±�,

BsÁé#áÔáTsÁçd�eTTqÅ£� >±� m<�T{ì

eTÖ\\T (osÁüeTT\T) ¿£\T|�ÚÔáÖ

^jáT�&�¦ ¹sK\qT ¿£s��\T n+{²sÁT.

�ºÌq ed�TïeÚ\ uó�TC²\ bõ&�eÚ\T ¿=\e+&�. MTsÁT ¿=*ºq ¿=\Ôá\qT |�{ì¼¿£ýË bõ+<�T|�sÁ#á+&�. MTsÁT @$T >·eT�+#�sÃ

s�jáT+&�.

ed�TïeÚ   ed�TïeÚ         m<�TÂs<�TsÁT uó�TC²\       ç|�¿£Øç|�¿£Ø uó�TC²\     y�{ì \¿£�D²\T

�¿±sÁ+ �|sÁT       bõ&�eÚ\T     bõ&�eÚ\T

 BsÁé#áÔáTsÁçkÍ¿±sÁ   >·DìÔábÍsÄÁ«   1) ...................

 ed�TïeÚ\T    |�Úd�ï¿£+   uó�TC²\ bõ&�eÚ\T d�eÖq+

eTTK   2) ...................

|�çÔá+   uó�TC²\ bõ&�eÚ\T

  nd�eÖq+

     HÃ³T |�Úd�ï¿£+   3) ...................

     eTTK |�çÔá+   uó�TC²\T ÿ¿£<��¿=¿£{ì

  �³¼�\TeÚ>± �H��sTT.

 #áÔáTsÁçd�+      sÁÖ_¿ùÅ£L«uÙ   1) ...................

     ÿ¿£ Ôá\+    uó�TC²\T d�eÖq+

     ý² eTTK+   2) ...................

   uó�TC²\T �³¼�\TeÚ>±

   �H��sTT.

¿£�Ôá«+ ` 2:

yîTT<�{ìÈÔá : ......�d+.MT.

......�d+.MT.

Âs+&�eÈÔá : ......�d+.MT.

......�d+.MT.

yîTT<�{ìÈÔá : ......�d+.MT.

......�d+.MT.

Âs+&�eÈÔá : ......�d+.MT.

......�d+.MT.

yîTT<�{ìÈÔá : ......�d+.MT.

......�d+.MT.

Âs+&�eÈÔá : ......�d+.MT.

......�d+.MT.

yîTT<�{ìÈÔá : ......�d+.MT.

......�d+.MT.

Âs+&�eÈÔá : ......�d+.MT.

......�d+.MT.

yîTT<�{ìÈÔá : ......�d+.MT.

......�d+.MT.

Âs+&�eÈÔá : ......�d+.MT.

......�d+.MT.

yîTT<�{ìÈÔá : ......�d+.MT.

......�d+.MT.

Âs+&�eÈÔá : ......�d+.MT.

......�d+.MT.

yîTT<�{ìÈÔá : ......�d+.MT.

......�d+.MT.

Âs+&�eÈÔá : ......�d+.MT.

......�d+.MT.

yîTT<�{ìÈÔá : ......�d+.MT.

......�d+.MT.

Âs+&�eÈÔá : ......�d+.MT.

......�d+.MT.

bÍº¿£

eTTK+

     7.3  çÜuó�TÈ+ :
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¾¾¾®

If you cut the shapes along the crease. You get two equal shapes as shown in the figure

Observe this shapes.

side side

side

It has 3 edges

It is a triangle

Do these

a) How many triangles are formed when a square or rectangle is cut diagonally?

b) In a figure, the four sides are 20cm, 16cm, 20cm, 16cm then what is the shape
of the object?

c) In a figure, measurements of four sides are 15cm each and the adjacent sides are
vertical to each other. What is the shape of the object.

Collect some cartons of tooth paste and chalk pieces.
Cut and unfold them completely.
We find the shape as shown in the figure.
Identify the combination of shapes.

Empty toothpaste box Net form of unfolded toothpaste box

7.4  Nets of 3-D object
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eT&�Ôá\ yî+�&� |�³+ýË #áÖ|¾+ºq $<ó�+>± ¿£Üï]+#á+&�. MTÅ£� � $<ó�yîT®q �¿±s�\T ekÍïsTT.

� �¿±s��� |�]o*+#á+&�.

�~ #ûjáT+&�

n) ÿ¿£ BsÁé#áÔáTsÁçd�eTTqT >±�, #áÔáTsÁçd�eTTqT >±� ¿£sÁ�eTT yî+�&� ¿£Üï]�dï m�� çÜuó�TC²\T @sÁÎ&�Ô�sTT?

�) ÿ¿£ |�³eTTýË H�\T>·T uó�TC²\ bõ&�eÚ\T esÁTd�>± 20 �d+.MT, 16 �d+.MT, 20 �d+.MT, 16 �d+.MT.

nsTTÔû � |�³eTT @ �¿±sÁ+ýË �+³T+~?

�) ÿ¿£ |�³+ýË H�\T>·T uó�TC²\ bõ&�eÚ\T 15 �d+.MT. Å£� d�eÖqyîT®q ¿=\Ôá\T ¿£*Ð �+fñ, � |�³eTTqT

@eT+{²sÁT?

¿=�� ³ÖÔY�|d�T¼ ýñ¿£ d�T<�ÝeTT¿£Ø\ U²° n³¼�|fÉ¼\T rd�T¿Ã+&�.

y�{ì eT&�Ôá\ yî+�&� C²ç>·Ôáï>± $|�Î+&�.

ný²#û�dï � $<ó�yîT®q �¿±s�\T ekÍïsTT.

U²° n³¼�|fÉ¼ ³ÖÔY�|dt¼ �|fÉ¼ jîTT¿£Ø e\sÁÖ|�eTT.

¾¾¾®

B�� çÜuó�TÈ+

n+{²sÁT.

uó�TÈ+uó�TÈ+

uó�TÈ+

B�¿ì 3 uó�TC²\T

�H��sTT.

7.4 çÜ$TrjáT ed�TïeÚ\ e\ sÁÖbÍ\T
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Unfold the chalk piece box carefully and you will get this shape. What do you observe in this
unofolded shape?

Empty chalkbox Net form of unfold chalk box
By folding this shape along the creases carefully you get the shape of a chalk piece

box again.

Rafi wanted to make a cube with a card board. He knew that all the faces of a cube are
equal. So he took a cardboard and set it into different shapes to fold them into a cube.

Select a net from the above to make a perfect cube from the above net forms.

Do these

1)  Which of the following can be folded as open box.

There are 6
faces for a

cube.
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U²° d�T<�ÝeTT¿£Ø �|fÉ¼qT C²ç>·Ôáï>± eT&�Ôá\ yî+�&� ÔîsÁe+&�. �ý² ÔîsÁe&�+ e\¢ mý²+{ì �¿±sÁ+ @sÁÎ&�+~?

U²° d�T<�ÝeTT¿£Ø �|fÉ¼  d�T<�ÝeTT¿£Ø �|fÉ¼ e\sÁÖ|�eTT

� e\sÁÖ|�eTTqT eTsÁ\ eT&�Ôá\ yî+�&� ¿£*|¾Ôû, Ü]Ð eTq+ d�T<�ÝeTT¿£Ø �|fÉ¼ �¿±s��� bõ+<�TÔ�+.

sÁ|�Ó ÿ¿£ ¿±sÁT¦ uËsÁT¦ÔÃ |��TH�¿±sÁ �|fÉ¼ ÔájáÖsÁT #û<�ÝeTqT¿=H��&�T. |��TH�¿±sÁ �|fÉ¼Å£� n�� eTTU²\T ÿ¹¿ $<ó�+>±

�+{²jáT� ÔáqÅ£� Ôî\Td�T. n+<�Te\¢ ÔáqT ÿ¿£ ¿±sÁT¦uËsÁT¦qT rd�T¿=�, |��TH�¿±sÁ �|fÉ¼qT #ûjáT&��¿ì �ý²+{ì �¿±s�\qT

¿£Üï]+#�&�T. M�ýË yû{ìÔÃ �|fÉ¼qT ÔájáÖsÁT #ûjáTe#áTÌ?

ÿ¿£ |��TH��¿ì 6

uó�TC²\T+{²sTT.

�~ #ûjáT+&�

1) ¿ì+~ y��ýË yû{ìÔÃ eTÖÔáýñ� �|fÉ¼qT ÔájáÖsÁT#ûjáT>·\+?
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1)

2)

3)

4)

     2)  Observe the net shapes of the boxes and match them with their 3D shapes.

a)

b)

c)

d)

A pandal was erected in front

of Raju's house on the occasion of

his brother's marriage. He wanted

to decorate it with a "Thoranam"

around it. So, he has to measure

the four sides of the pandal to
collect string of required length.

Raju measured all the four sides of the pandal on the ground.  He found the lengths of four

sides as 12m, 10m, 12m  and 10m.

So, the total length of thoranam required = the length of four sides

         = 12 m  + 10 m + 12 m + 10 m

         = 44 m

7.5   Perimeter :
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2. ¿ì+~ çÜ$TrjáT �¿±s�\qT y�{ì e\sÁÖbÍ\ÔÃ ÈÔá#ûjáT+&�.

s�E y�Þøß nq�jáT« �|[ß d�+<�sÁÒÛ+>±

�+{ìeTT+<�T ÿ¿£ |�+~] yûXæsÁT. s�E �

|�+~] #áT³Ö¼ ÿ¿£ ÔÃsÁD+ ¿£{²¼\qTÅ£�H��&�T.

|�+~]� ÔÃsÁD+ÔÃ n\+¿£]+#á&�+ ¿Ãd�+

m+Ôá bõ&�eÚ �q� ÔÃsÁD+ ¿±y�ýË

Ôî\Td�T¿=qT³Å£�, |�+~] #áT³Ö¼ ¿=*#�&�T.

s�E |�+~]¿ì H�\T>·TyîÕ|�Úý² Hû\�|Õq bõ&�eÚ\qT ¿=*º

Ôî\Td�TÅ£�H��&�T.y�{ì bõ&�eÚ\T 12 MT., 10 MT., 12 MT., 10 MT. �H��sTT.

¿±e\d¾q ÔÃsÁD+ bõ&�eÚ R |�+~] #áT³Ö¼ �q� 4 uó�TC²\ bõ&�eÚ\ yîTTÔáï+.

R 12 MT. G 10 MT. G 12 MT. G 10 MT.

R 44 MT.

n)

�)

�)

�)

1)

2)

3)

4)

     7.5  #áT³T¼¿=\Ôá :
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Perimeter is the total length of all sides of a shape.

Example : Somesh purchased a square carpet. Its side is 180cm. He wanted to attach a
Ribbon of good design along its sides. Find the length of the ribbon required.

180 cm

We need do find the total length of all sides of the carpet.

Length of the first side = ......................cm

Length of the second side = ......................cm

Length of the third side = ......................cm

Length of the fourth side = ......................cm

Total length of 4 sides = ......................cm

So, the perimeter of the carpet = ......................cm

Therefore, the length of ribbon required = ......................cm

Try these

Make some squares, rectangles and triangles with some cool drink straws. Find the
perimeter of the shapes.

><

><

>

>

>

>
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ÿ¿£  �¿±sÁeTT jîTT¿£Ø n�� uó�TC²\ bõ&�eÚ\ yîTTÔáï+ <�� #áT³T¼¿=\Ôá neÚÔáT+~.

  �<�V�²sÁD : kþyûTwt #áÔáTsÁçkÍ¿±sÁ+ýË �q� ÿ¿£ |�sÁ<�qT ¿=H��&�T. <�� ÿ¿£ n+#áT 180 �d+.MT. |�sÁ<�#áT³Ö¼

  n+#áT Å£�{²¼\qTÅ£�H��&�T. nsTTÔû ¿±e\d¾q ]�ÒqT bõ&�eÚ m+Ôá?

eTq+ Üy�N H�\T>·T n+#áT\ bõ&�eÚ\ yîTTÔáï+ ¿£qT>=H�*.

Üy�N yîTT<�{ì n+#áT bõ&�eÚ R...... �d+.MT.

Üy�N Âs+&�e n+#áT bõ&�eÚ R...... �d+.MT.

Üy�N eTÖ&�e n+#áT bõ&�eÚ R...... �d+.MT.

Üy�N H�\T>·e n+#áT bõ&�eÚ R...... �d+.MT.

Üy�N H�\T>·T n+#áT\ bõ&�eÚ\ yîTTÔáïeTT R...... �d+.MT.

n+<�Te\¢ |�sÁ<� #áT³T¼¿=\Ôá R...... �d+.MT.

¿±e\d¾q &�CÉÕqT ]�ÒqT bõ&�eÚ R...... �d+.MT.

ç|�jáTÜ�+#á+&�

 çkÍ¼\ÔÃ $$<ó� |�]eÖD²\Tq� BsÁé#áÔáTsÁçd�eTT, #áÔáTsÁçd�eTT, çÜuó�TÈeTT\qT ÔájáÖsÁT#ûd¾ y�{ì

 #áT³T¼¿=\Ôá\T ¿£qT¿ÃØ+&�.

180 �d+.MT.

><

><

>

>

>

>
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Example 7.1 :

1) The length and breadth of a rectangular field are 60m and 40m respectively. If Somaiah
walked around the field, then find the distance covered by him.

2) Somulu's site is in square shape. He wanted to construct the compound wall around it.
Find the length of the compound wall.

3) A park is in a triangular shape as shown below. What is the perimeter of the park?

4) Find the perimeters of the following figures.

Perimeter = ..................... cm

6 cm

6 cm

a)

40m

30m
50m

14m

14m

40m

60m

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



47ÔásÁ>·Ü ` 4  >·DìÔá+ÔÃ >·eT�ÔáTï

1. ÿ¿£ BsÁé#áÔáTsÁçkÍ¿±sÁ|�Ú bõ\eTT bõ&�eÚ, yî&�\TÎ\T esÁTd�>± 60 MT. 40 MT. kþeTjáT« ÿ¿£kÍ] Ôáq bõ\eTT

#áT³Ö¼ Ü]Ð e�dï m+Ôá <�ÖsÁ+ q&�ºq³T¢ ?

2. kþeTT\T �+{ì d��\+ #áÔáTsÁçkÍ¿±sÁ+ýË �+³T+~. <�� #áT³Ö¼ nÔáqT ç|�V�²¯>Ã&� �]�+#�* nqTÅ£�H��&�T.

nsTTÔû ç|�V�²¯ >Ã&� bõ&�eÚ m+Ôá?

3. ÿ¿£ bÍsÁTØ çÜuó�TC²¿±sÁ+ýË �+~. <�� ¿=\Ôá\T ¿ì+<� �eÇ�&�¦sTT. � bÍsÁTØ jîTT¿£Ø #áT³T¼¿=\Ôá m+Ôá?

4. ¿ì+<� |�{²\ jîTT¿£Ø #áT³T¼¿=\Ôá\T ¿£qT>=q+&�.

#áT³T¼¿=\Ôá R............�d+.MT

n)

nuó²«d�eTT 7.1

40 MT.

60 MT.

14 MT.

14 MT.

30 MT.

50 MT.

40 MT.

6 �d+. MT.

6 �d+. MT.
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4cm

7cm

b)

c) d)

Perimeter = ............cm

Perimeter = ............cm

3cm
5cm

4cm
Perimeter = ............cm

Ravi and Rama are drawing various
shapes on the centimetre grid paper.
You also try it.

In this grid sheet all the grids/boxes are in the shape of a square with side 1 cm.
Thus the perimeter of each grid is 4 cm (1cm + 1cm + 1cm + 1cm)
In a sample grid paper take two consecutive squares and color them.

Yes, the shape is a
rectangle with length 2
cm and breadth 1 cm

1cm 1cm

1cm 1cm

1cm1cm

5c
m 5cm

5cm

7.6 Finding the perimeter using a grid paper :
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#áT³T¼¿=\Ôá R .......�d+.MT

#áT³T¼¿=\Ôá R .......�d+.MT. #áT³T¼¿=\Ôá R .......�d+.MT.

sÁ$, sÁeT yû¹sÇsÁT >·Þøß ¿±ÐÔ�\ MT<�

$$<ó� �¿±s�\T ^d�TïH��sÁT.

MTsÁT Å£L&� ç|�jáTÜ�+#á+&�.

� >·Þøß ¿±ÐÔá+ýË ç|�Ü >·&� #áÔáTsÁçkÍ¿±s��� ¿£*Ð �+³T+~. eT]jáTT <�� uó�TÈeTT 1 �d+.MT.

nsTTq ç|�Ü >·&� jîTT¿£Ø #áT³T¼ ¿=\Ôá 4 �d+.MT. (1 �d+.MT.G1 �d+.MT.G1 �d+.MT.G1 �d+.MT.)

neÚÔáT+~.

�ºÌq >·Þøß ¿±ÐÔá+ýË 2 |�¿£Ø ç|�¿£Ø >·ÞøßÅ£� sÁ+>·T\T yûjáT+&�. �~ ÿ¿£ BsÁé#áÔáTsÁçkÍ¿±sÁ+.

bõ&�eÚ 2 �d+.MT. yî&�\TÎ

ÿ¿£ �d+.MT.

7 �d+.MT.

4 �d+.MT.

5 �d+.MT. 5 �d+.MT.

5 �d+.MT.

5 �d+.MT.

3 �d+.MT.

4 �d+.MT.

1 �d+.MT. 1 �d+.MT.

1 �d+.MT.1 �d+.MT.

1 �d+.MT. 1 �d+.MT.

�)

�) �)

   7.6  çÐ&� �||�sÁT (>·Þøß ¿±ÐÔá+ ) �|�jîÖÐ+º, #áT³T¼¿=\Ôá ¿£qT¿ÃØe&�+:
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Let's calculate the perimeter of this rectangle.
The perimeter of the rectangle =  (1cm+2cm+1cm+2cm) = 6 cm

Do These
Find the perimeter of the given shapes

7.7 Area

Students count the number of tiles on the floor of their classroom.
Students have counted a total of 100 tiles on the classroom floor.
The place occupied by the floor  = 100 tiles.
We call this area of the floor       = 100 tiles.
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� BsÁé#áÔáTsÁçd�+ jîTT¿£Ø #áT³T¼¿=\Ôá ¿£qTÅ£�Ø+<�+.

BsÁé#áÔáTsÁçd�+ #áT³T¼¿=\Ôá R 1 �d+.MT. G 2 �d+.MT. G 1 �d+.MT. G 2 �d+.MT. R 6 �d+.MT.

�~ #ûjáT+&�

�ºÌq �¿±s�\ #áT³T¼¿=\Ôá\T ¿£qT>=q+&�.

   
  7.7  yîÕXæ\«eTT :

|¾\¢\T y�] ÔásÁ>·Ü >·~ýË Hû\�|Õ |�sÁºq |�\¿£\qT(fÉ®ýÙà) ýÉ¿ìØd�TïH��sÁT. yîTTÔáï+ 100 |�\¿£\T Hû\�|Õ

|�sÁºH�sÁT n� ýÉ¿ìØ+#�sÁT.

ÔásÁ>·Ü >·~ Hû\ �ç¿£$T+ºq |�\¿£\T R 100

� ÔásÁ>·Ü >·~  yîÕXæ\«eTT R 100 |�\¿£\T
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Students had arranged rectangular shaped
papers (of the same size) on the table to
calculate its surface area. It is observed that
the table has taken 20 papers and the area is
20 sheets.

Students of MPP school,

Vizag decided to grow

vegetables and flowering plants

in the school garden. They have

cleaned, levelled and graded a

small part of the land in school.

They have planted seeds.

Now, the entire place where the seeds were
planted for growing plants is called the “area of
that land”.

The length and breadth of each grid
on the centimetre grid paper is 1 cm.

7.8 Finding the area using a grid paper :
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|¾\¢\T ÔásÁ>·ÜýË fñ�TýÙ �|Õ BsÁé#áÔáTsÁçkÍ¿±sÁ+ýË ÿ¹¿ |�]eÖD+

�q� ¿±ÐÔ�\qT �|s�ÌsÁT. � fñ�TýÙ 20 ¿±ÐÔ�\T �ç¿£$T+º+~.

B� yîÕXæ\«eTT 20 ¿±ÐÔ�\T.

eT+&�\ |�]w�ÔY çbÍ<̧�$T¿£ bÍsÄÁXæ\

yîÕC²>´ ¿±\ú, |¾\¢\T y�] bÍsÄÁXæ\,

�esÁDýË Å£LsÁ>±jáT\ yîTT¿£Ø\T �|+#�\qT

Å£�H��sÁT. ºq� U²° kÍ�H��� Xø�çuó�|�]º,

#á<�TqT #ûd¾, eT{ì¼� Ôá$Ç, Å£LsÁ>±jáT\

$ÔáïH�\T H�{²sÁT.

�¿£Ø&� |¾\¢\T Å£LsÁ>±jáT\T $ÔáïH�\T H�³&�+ ¿Ãd�+ #á<�TqT

#ûd¾, eT{ì¼Ôá$Ç $ÔáïH�\T H�{ìq ç|�<ûXø+ n+Ô� y�sÁT Å£LsÁ>±jáT\T

yîTT¿£Ø\T H�{ìq ç|�<ûXø yîÕXæ\«+ neÚÔáT+~.

   
7.8 ÿ¿£ ed�TïeÚ jîTT¿£Ø yîÕXæý²«�� >·Þøß¿±ÐÔá+

�|�jîÖÐ+º ¿£qT¿ÃØe&�+:

�ºÌq >·Þøß ¿±ÐÔáeTTýË ÿ¿£ >·&� jîTT¿£Ø bõ&�eÚ,

yî&�\TÎ 1 �d+{¡ MT³sÁT #=|�ðq �+{²sTT.
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Each grid on the grid paper is called a square.
The area of each grid on a grid paper is called 1 square centimetre.
Thus, the area of each grid is equal to 1 square centimetre.

Task : On a grid paper, colour two grids to form different shapes.

Now, calculate the areas of the shapes formed. What do you observe?

Calculate the area of the shapes formed by colouring three, four and five grids.

This coloured figure occupies 4 grids.

Hence its area  = 4 square centimetre.

This coloured figure occupies 9 grids.

Hence shaded area = ............ square centimetre.

This coloured  figure occupies ........ grids.

Hence its area  = ............ square centimetre.

Try This

Find the area and perimeter of each shaded shape in the above pictures. What do you notice?

Do This
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>·Þøß ¿±ÐÔá+ýË �q� >·&�� ÿ¿£ #á<�sÁ+ n+{²sÁT.

ÿ¿£ >·&� �ç¿£$T+ºq ç|�<ûXø yîÕXæ\«+ ÿ¿£ #á<�sÁ|�Ú �d+{¡MT³sÁT n+{²sÁT.

>·Þøß ¿±ÐÔá+ýË ÿ¿ÃØ >·&� ÿ¿ÃØ #á<�sÁ|�Ú �d+{¡MT³sÁT yîÕXæ\«+ ¿£*Ð�+³T+~.

�ºÌq yû¹sÇsÁT �¿±s�\ýË �q� >·ÞøßÅ£� sÁ+>·T\T yûjáT+&�.

� �¿±s�\ yîÕXæý²«\T ¿£qT>=q+&�. úyû$T >·eT�+#�eÚ?

�~ #ûjáT+&�

eTÖ&�T, H�\T>·T, ×<�T >·ÞøßýË sÁ+>·T\T yûjáT>± @sÁÎ&û yû¹sÇsÁT �¿±s�\ yîÕXæý²«\T ¿£qT>=q+&�.

� |�³+ H�\T>·T, sÁ+>·T #á<�s�\qT �ç¿£$T+º+~.

|�³+ yîÕXæ\«+ R 4 #á<�sÁ|�Ú �d+{¡MT³sÁT.

� |�³+ 9 sÁ+>·T #á<�s�\qT �ç¿£$T+º+~.

|�³+ yîÕXæ\«+ R ............. #á<�sÁ|�Ú �d+{¡MT³sÁT.

� |�³+........ sÁ+>·T #á<�s�\qT �ç¿£$T+º+~.

|�³ yîÕXæ\«+ R ........#á<�sÁ|�Ú �d+{¡MT³sÁT.

ç|�jáTÜ�+#á+&�

�|Õ |�{²\Å£� yîÕXæ\«eTT\T, #áT³T¼¿=\Ôá\T ¿£qT>=q+&�. MT¹s$T >·eT�+#�sÁT?
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Exercise 7.2

7.9   Circles :

1. On a grid paper, draw different shapes totalling to an area of 8 square centimetre.
2. Draw a rectangle of 4 centimetre length and 3 centimetre breadth on a grid paper. Also,

calculate its area.
3. Draw a square of side 5 centimetre on a grid paper and calculate the area.

One day, Ravi and Karuna observed the wheels of the vehicles moving on the road.

You would have also noticed the wheels of different vehicles.
What is the shape of a wheel? If you draw a line around it, then,
the shape will be like this.

Have you ever noticed the shape of a bangle?
Place a bangle on a white paper and draw a line around it. What is the shape you have
drawn?
Draw the outlines of different sized bangles and observe the shapes.
Place different coins on the paper and draw the outlines. What shape you have drawn?

Name some objects of                 shape

___________  ___________  ___________  ___________  ___________  ___________
Can you draw this shape using a thread?
These things like wheels, bangles etc. are round shaped.
In mathematics, the shape is called a "Circle"
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nuó²«d�+ ` 7. 2

1. yîÕXæ\«+ 8 #á<�sÁ|�Ú �d+{¡MT³sÁT¢ �+&ûý² >·Þøß ¿±ÐÔá+ MT<� yû¹sÇsÁT �¿±s�\T ^jáT+&�.

2. ÿ¿£ >·Þøß ¿±ÐÔá+ MT<� 4 �d+{¡MT³sÁ¢ bõ&�eÚ, 3 �d+{¡MT³sÁ¢ yî&�\TÎ �+&ûý² BsÁé#áÔáTsÁçd�+ ^jáT+&�.

� BsÁé#áÔáTsÁçd� yîÕXæ\«+ ¿£qT>=q+&�.

3. >·Þøß ¿±ÐÔá+ MT<� 5 �d+{¡MT³sÁ¢ uó�TÈ+ ¿£*Ðq #áÔáTsÁçd�+ ^jáT+&�. <�� yîÕXæ\«+ ¿£qT>=q+&�.

ÿ¿£ sÃE sÁ$, ¿£sÁTD sÃ&�T¦�|Õ yîÞø�ÔáTq� y�V�²H�\ #áç¿±\qT ýÉî¿ìØd�TïH��sÁT.

MTsÁT Å£L&� yû¹sÇsÁT y�V�²H�\ #áç¿±\qT >·eT�+#á+&�. #áç¿£+ @ �¿±sÁ+ýË �+~?

ÿ¿£ #áç¿£eTTqÅ£� #áT³Ö¼ ÿ¿£ ^Ôá̂ jáT+&�. n|�Ú&�T � �¿±sÁ+ ed�Tï+~.

qTeÚÇ m|�ð&îÕH� #ûÜ >±E �¿±s��� |�]o*+#�y� !

ÿ¿£ #ûÜ >±E rd�T¿=� ¿±ÐÔá+�|Õ �+#á+&�. <�� #áT³Ö¼ �|�àýÙÔÃ ^Ôá̂ jáT+&�.

qTeÚÇ @ �¿±s��� bõ+<�TÔ�eÚ?

yû¹sÇsÁT �dÕE ( |�]eÖD+ ) �q� #ûÜ >±E\T rd�T¿=� yû¹sÇsÁT �¿±s�\T  ^jáT+&�.

             �¿±sÁ+ýË �+&û ¿=�� ed�TïeÚ\ �|sÁT¢ #î|�Î+&�.

__________________,  __________________,  __________________,  __________________,  __________________,

ÿ¿£ Ô�&�T d�V�äjáT+ÔÃ � �¿±s��� ^jáT>·\y� ?

#áç¿£+ >±E e+{ì �¿±s�\T >·T+ç&�+>± �+{²sTT. �³Te+{ì �¿±s��� >·DìÔá+ýË »e�Ôáï+µ n+{²+.

7.9 e�ÔáïeTT :
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R

E

O
D

Task : Take a round plate and draw an outline around it. Cut along the shape. Its a circle.

Now, fold the cut paper making the circle into two equal parts. Fold again and again for two
more times till you get the shape given below.

The last shape is like this.
Now, unfold the paper to see a full circle.
Now, cut the paper along the lines and keep all the pieces together,
Now, measure the length of straight edges of one of the pieces.

Similarly, measure the lengths of the straight edges of all the pieces.
Have you notice all these lengths are equal in length?
This length is called the "radius of the circle"
The point at which all the lines meet is known as the "centre of the circle"
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ÿ¿£ >·T+ç&�� �|¢³T rd�T¿=�, ¿±ÐÔá+�|Õ �+º, �|�àýÙýË <�� #áT³Ö¼ ^jáT+&�. <�� n+#áTyî+�&� ¿£Üï]+#á+&�.

�|�ÚÎ&�T �¿±sÁ+ ed�Tï+~.� �¿±sÁyûT »»e�Ôáï+µµ .

¿£Üï]+ºq ¿±ÐÔ��� Âs+&�T d�eÖq uó²>±\T>± eT&�Ôá �|³¼+&�. B�� eTsÁý² Âs+&�T d�eÖq uó²>±\T>± ºçÔá+ýË

#áÖ|¾q $<ó�+>± eTsÁ\ eTsÁý² eT&�Ôá |�&�Ôû ¿ì+~ �¿±sÁ+ ed�Tï+~.

ºe] �¿±sÁ+ � $<ó�+>± ed�Tï+~.

eTsÁ\ eT&�Ôá\T n�� $|�Î+&�. eT&�Ôá\ yî+�&� eTT¿£Ø\qT ¿£Üï]+#á+&�. eT]jáTT

eTT¿£Ø\��+{ìú ºçÔá+ýË #áÖ|¾+ºq $<ó�+>± �|sÁÌ+&�. ÿ¿£ eTT¿£Ø¿ì ÿ¿£ ç|�¿£Ø n+#áTbõ&�eÚ

¿=\e+&�.

n�� eTT¿£Ø\Å£� ç|�¿£Ø n+#áT\ bõ&�eÚ\T ¿=\e+&�.

n�� eTT¿£Ø\Å£� ¿=*ºq n+#áT\ bõ&�eÚ d�eÖq+ n� >·T]ï+#�s� !

� bõ&�eÚHû »»e�Ôáï y�«kÍsÁÆ+µµ n+{²sÁT.

� n+#áT\T n�� ÿ¹¿ kÍ�q+ e<�Ý ¿£\TkÍïsTT. � kÍ�H��� »»e�ÔáïeTT ¹¿+ç<�eTTµµ n+{²sÁT.

R

E

O
D
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7.10 TANGRAM

a) Draw a few circles using a bangle, plate, bottle cap etc.
b) Draw circles using one-rupee, two-rupee, five-rupee and ten-rupees coins.

Do these

Now, place a thread along the boundary of a circle and measure its length by a scale.
This length is called the "circumference of the circle".

Students! Have you ever seen a Tangram?
Tangram is a puzzle. It consists of 7 flat shapes, which are called "tans". They are put
together to form different shapes. Let's see how to make a Tangram.

1. Take a square grid paper and
draw the lines as shown in the
adjacent figure.

2. Cut along the lines drawn on it.
3. You get 7 pieces of different

shapes.
4. This set of pieces is called

"TANGRAM".
All parts of the Tangram are
used to make different shapes.
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�|�Ú&�T ÿ¿£ <�sÁ+ rd�T¿=� e�Ôáï+ #áT³Ö¼ �q� bõ&�eÚqT ¿=\e+&�.

� bõ&�eÚqT »»e�Ôáï |�]~óµµ n+{²+.

�~ #ûjáT+&�

n) ÿ¿£ ¿±ÐÔá+�|Õ #ûÜ >±E, úÞøß dÓkÍeTÖÔá, �|¢³T ý²+{ì ed�TïeÚ\qT �+º e�Ô�ï\T ^jáT+&�.

�) ÿ¿£ sÁÖbÍsTT, 2 sÁÖbÍjáT\T, 5 sÁÖbÍjáT\T, 10 sÁÖbÍjáT\ H�D²\T �|�jîÖÐ+º, e�Ô�ï\T

^jáT+&�.

|¾\¢\Ö! MTsÁT m|�ð&îÕH� {²H�ç>±+ #áÖXæs� ? {²H�ç>±+ ÿ¿£ »|��ýÙµ ý²+{ì~.

�+<�TýË 7 �¿±s�\T �+{²sTT. M{ì� {²H�à n+{²sÁT. �eú� ÿ¿£ <�>·ZsÁ �|sÁÌ&�+ <�Çs� yû¹sÇsÁT �¿±s�\T

mHîÕ�H� bõ+<�e#áTÌ. {²H�ç>±+ mý² ÔájáÖsÁT #ûjáTe#ÃÌ #áÖ&�+&�.

1. ÿ¿£ #áÔ áTs ÁçkÍ¿±s Á|�Ú ¿±ÐÔá+ rd�T¿Ã+&�

<��ýË ºçÔá+ýË #áÖ|¾q $<ó�+>± ̂ Ôá\T ̂ jáT+&�.

2. ^Ôá\T yî+�&� ¿£Üï]+#á+&�.

3. MTsÁT 7 yû¹sÇsÁT uó²>±\qT bõ+<�TÔ�sÁT.

4. �  �¿±s�\T nú� ¿£*|¾ »{²H�ç>±+µ n+{²sÁT.

M{ìÔÃ mHÃ� �¿±s�\T ÔájáÖsÁT#ûjáTe#áTÌ. MTsÁT

Å£L&� ç|�jáTÜ�+#á+&�.

7.10 {²H� ç>±+
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Now, let's try making different shapes using the Tangram.

You compare and observe the shapes made by you and your friends.

Exercies 7.3

1. What is the perimeter of the following figures?

2. A piece of land of Simhachalam is in the following shape. Find the length of the
fencing wire required to provide fencing around the land.

3. The perimeter of the following shape is _____________ Meters.

3m 5m

6m

2m

3m

17m

18m

14m

16m

3cm

3cm

3cm3cm 3cm

3cm

4cm

6cm
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{²H�ç>±+ �|�jîÖÐ+º $$<ó� �¿±s�\T ÔájáÖsÁT #ûjáTT³Å£� ç|�jáTÜ�+#á+&�.

nuó²«d�+ ` 7.3

1. �ºÌq �¿±s�\ #áT³T¼¿=\Ôá\T m+Ôá?

2. d¾+V�ä#á\+ bõ\+ ¿ì+~ �¿±sÁ+ýË �+~. � bõ\+ #áT³Ö¼ ¿£+#î yûjáT&��¿ì, m+Ôá bõ&�eÚq� r>· ned�sÁ+ ?

3. �ºÌq �¿±sÁ+ jîTT¿£Ø #áT³T¼¿=\Ôá m+Ôá?

3 �d+.MT.

3 �d+.MT.

3 �d+.MT.

3 �d+.MT. 3 �d+.MT.

3 �d+.MT.

6 �d+.MT.

4 �d+.MT.

úeÚ ÔájáÖsÁT #ûd¾q �¿±s�\qT, ú �d�V¾²ÔáT\T ÔájáÖsÁT #ûd¾q �¿±s�\ÔÃ bþ\TÌ.

14 MT.

18 MT.

17 MT.

16 MT.

5 MT.

3 MT.

3 MT.

2 MT.

6 MT.
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4.   What is the perimeter of the figure?

2cm 2cm

3cm 3cm

3cm5cm 5cm

7cm

5.   What is the perimeter and area of figures given below.

Fig.1 Fig.2
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4. �ºÌq |�³+ jîTT¿£Ø #áT³T¼¿=\Ôá m+Ôá?

5. ¿ì+~ ¿±ÐÔá+ýË �ºÌq |�{²\ #áT³T¼¿=\Ôá, yîÕXæý²«\T m+Ôá?

2 �d+. MT. 2 �d+. MT.

3 �d+. MT. 3 �d+. MT.

3 �d+. MT.

7 �d+. MT.

5 �d+. MT. 5 �d+. MT.

|�³+:1 |�³+:2
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Data Handling 8

Orange 2

Mango 3

Guava 4

Pomegranate 3

Papaya 2

Coconut 1

Chapter

Data Handling

 Observe the following picture.

l What do you see in the picture?
l How many trees are there? What are they?
l How do you count the number of trees of each type?

If one goes on counting orange trees in first round, mango trees in the second round and
so on, then one needs to go around the garden for 6 times. It is a lengthy and laborious
process. Instead of going around the garden for six times the counting can be done in a
single round if we make tally marks table.
We have to prepare a table first. For instance,
if we see an orange tree we write one tally
mark as '|' in the table against orange. Similarly

For two trees we write -
For three trees -
For four trees -
For five trees we write -

Now, complete the table by using the above picture.

Tree Tally
marks

Number
of trees

8 . 0
Introduction
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n<ó�«jáT+

8
<�Ô�ï+Xø �sÁÇV�²D

¿ì+~ ºçÔ��� |�]o*+#á+&�.

• úeÚ ºçÔáeTTýË @$T |�]o*+#�eÚ?

• ºçÔáeTTýË yîTTÔáï+ m�� #î³T¢ �H��sTT? n$ @$?

• $$<ó� sÁ¿±\ #î³T¢ m�� �H��jîÖ úeÚ mý² ýÉ¿ìØkÍïeÚ?

ÿ¿£ u²\T&�T ÔÃ{ýË� #î³¢qT ýÉ¿ìØ+#á&��¿ì yî[ß yîTT<�³ ¿£eTý²|�+&�¢ #î³T¢, ÔásÁTy�Ôá eÖ$T&�|�+&�¢ #î³T¢, ýÉ¿ìØ+#�&�T.

n+fñ nÔáqT 6 sÁ¿±\ |�+&�¢#î³¢qT ýÉ¿ìØ+#á{²�¿ì ÔÃ³ #áT³Ö¼ 6 kÍsÁT¢ ÜsÁ>·e\d¾ ed�Tï+~. �~ çXøeTÔÃ Å£L&�q mÅ£�Øe d�eTjáT+

|�fñ¼ |��. ÔÃ³ #áT³Ö¼ 6 kÍsÁT¢ ÜsÁ>·{²�¿£H�� ÿ¿£ >·Dq ºV�²� |�{ì¼¿£qT ÔájáÖsÁT#ûd�TÅ£�� ÿ¿£ kÍ] ÜsÁ>·³+ e\q yîTTÔáï+ @ sÁ¿£+

#î³T¢ m�� �H��jîÖ ýÉ¿ìØ+#áe#áTÌ.

yîTT<�³ eTq+ |�{ì¼¿£ ÔájáÖsÁT #ûd�T¿Ãy�*. ¿£eTý²|�+&�¢ #î³T¼qT

#áÖd¾q yî+³Hû |�{ì¼¿£ýË ¿£eTý²|�+&�¢ #î³T¼ �|sÁTÅ£� m<�TsÁT>± » µ nHû

>·Dq ºV�ä��� s�kÍïeTT.

Âs+&�e ¿£eTý²#î³T¼qT #áÖ�dï

eTÖ&�e ¿£eTý²#î³T¼qT #áÖ�dï

H�\T>·e ¿£eTý²#î³T¼qT #áÖ�dï

×<�e ¿£eTý²#î³T¼qT #áÖ�dï

�|�ÚÎ&�T �|Õ ºçÔá+ kÍjáT+ÔÃ ç|�¿£Ø |�{ì¼¿£qT |�P]ï#ûjáT+&�.

#î³T¢
>·Dq

ºV�ä�\T #î³¢ d�+K«

¿£eT\ 2

eÖ$T&� 3

C²eT 4

<��eT� 3

u¤bÍÎsTT 2

¿=�Ò] 1

8.0 |�]#ájáT+
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  Data collection and interpretation :

What colour do you think is most liked by your class 4 pupils?
Harshitha wanted to find out which colour is mostly liked in her class. So, she talked to her
40 classmates and recorded the information about the colours they liked most.
The collected data is as follows :

Red Green Pink Black Brown White Green Red White White
Black Black Pink Blue Pink Green Brown Pink Green Green
Red Pink Blue Pink Pink Green Blue Black White Brown
Blue Red Red Red Pink Green White Pink Pink Green
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 <�Ô�ï+Xø�d¿£sÁD eT]jáTT $Xâ¢w�D:

4e ÔásÁ>·Ü $<�«sÁT�\Å£� nÔá«+Ôá �w�¼yîT®q sÁ+>·T @<�� úeÚ uó²$d�TïH��eÚ?

V�²]üÔá Ôáq ÔásÁ>·ÜýË� 40 eT+~ $<�«sÁT�\Å£� �w�¼yîT®q sÁ+>·T @<Ã Ôî\Td�T¿Ãy�\qTÅ£�+~. Ôáq ÔÃ{ì $<�«sÁT�\qT n&�Ð

y�]¿ì �w�¼yîT®q sÁ+>·T\ �|sÁ¢qT Ôî\Td�T¿=�, ç¿ì+~ $<ó�+>± qyîÖ<�T #ûd¾+~.

�d¿£]+ºq <�Ô�ï+Xø+ ¿ì+~ $<ó�+>± eÚ+~.

msÁT|�Ú �Å£�|�#áÌ >·Tý²_ q\T|�Ú >Ã<ó�TeT Ôî\T|�Ú �Å£�|�#áÌ msÁT|�Ú Ôî\T|�Ú Ôî\T|�Ú

q\T|�Ú q\T|�Ú >·Tý²_ ú\+ >·Tý²_ �Å£�|�#áÌ >Ã<ó�TeT >·Tý²_ �Å£�|�#áÌ �Å£�|�#áÌ

msÁT|�Ú >·Tý²_ ú\+ >·Tý²_ >·Tý²_ �Å£�|�#áÌ ú\+ q\T|�Ú Ôî\T|�Ú >Ã<ó�TeT

ú\+ msÁT|�Ú msÁT|�Ú msÁT|�Ú >·Tý²_ �Å£�|�#áÌ Ôî\T|�Ú >·Tý²_ >·Tý²_ �Å£�|�#áÌ
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Is it easy to say the most liked colour of class 4 from this information? It becomes easy
if we organise the collected information i.e. data in a tabular form.

Now we can easily say the most liked colour in the class. Yes, pink is the most liked
    colour in the class. What is the least liked colour in the class?

Do these
Observe the two tables and write the number for the given tally marks, and tally
marks for the numbers.

Try these

 Balu has saved  ` 1,  ` 2 and  ` 5 coins in his kiddy bank.  Now his kiddy bank is full and he
 wanted to count the numbers of each coins separately. How could he do this in an easy way?

8.1   Table with more than five Tally Marks

Red

Green

Pink

Black

Brown

White

Blue

Total

 6

 8

10

 4

 3

 5

 4

40

Colour  Number of times repeated/tally marks      Number form

  4

  5

  9

12

15

  8

Event Tally marks Number Event Tally marks Number

a

b

c

d

e

f

a

b

c

d

e

f
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�|Õ d�eÖ#�sÁ+ �<ó�sÁ+>± 4e ÔásÁ>·Ü $<�«sÁTÆ\T @ sÁ+>·TqT mÅ£�Øe �w�¼|�&�TÔáTH��sÃ #î|�Î&�+ d�T\uó�yûTH�? �

d�eÖ#�s��� >·Dq ºV�ä�\ |�{ì¼¿£ <�Çs� #î|�Î&�+ d�T\uó�+ neÚÔáT+~.

� ¿ì+~ |�{ì¼¿£\ýË >·Dq ºV�ä�\Å£� d�+K«\qT, d�+K«\Å£� >·Dq ºV�ä�\qT s�jáT+&�.

�$ #ûjáT+&�

n+Xø+ >·Dq ºV�ä�\T d�+K« n+Xø+ >·Dq ºV�ä�\T d�+K«

ç|�jáTÜ�+#á+&�

u²\T Ôáq ¿ì&�¦ u²«+¿ùýË ` 1, ` 2 eT]jáTT ` 5 H�DÉeTT\qT <�#áTÅ£�H��&�T. �|�ð&�T �+&�bþsTTq ¿ì&�¦ u²«+¿ù ýË

 @ @ H�DÉ\T mHî��� �H��jîÖ ýÉ¿ìØ+#�\� nqTÅ£�H��&�T. @ d�T\uó� |�<�ÆÜ <�Çs� ýÉ¿ìØ+º �+{²&�T?

n)

�)

�)

�)

�)

})

n)

�)

�)

�)

�)

})

  4

  5

  9

12

15

  8

5 n+Ôá¿£H�� mÅ£�Øe >·Dq ºV�ä�\T >·\ |�{ì¼¿£ :

sÁ+>·T       |�Úqs�e�Ôá+ nsTTq d�+<�s�ÒÛ\ d�+K«/ >·Dq ºV�ä�\T d�+U²«sÁÖ|�+

msÁT|�Ú

�Å£�|�#áÌ

>·Tý²_

q\T|�Ú

>Ã<ó�TeT

Ôî\T|�Ú

ú\+

yîTTÔáï+

 6

 8

10

 4

 3

 5

 4

40

mÅ£�Øe eT+~ $<�«sÁT�\Å£� @ sÁ+>·T �w�¼yîÖ �|�Î&�T #�ý² d�T\uó�+>± #î|�Îe#áTÌ. >·Tý²_ sÁ+>·TqT mÅ£�Øe eT+~

�w�¼|�&�TÔáTH��sÁT. @ sÁ+>·TqT ÔáÅ£�Øe eT+~ �w�¼|�&�TÔáTH��sÁT ?
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4

6

3

9

7

5

2

8

6

50

Sheela wants to find which fruit picture is collected least in number by the children in the
class 4. What questions should Sheela ask her friends to obtain the information?

    Instead of writing the name of the fruit she started drawing its picture like this.

    Then she classified the collected information as follows.

From the above arrangement, it is easy to find which fruit picture is collected the least
in the class and also which fruit picture collected the most in the class.

Total

8.2  Pictograph
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wÓý² 4 e ÔásÁ>·Ü #á~yû $<�«sÁT Æ\T, @ |�+&�T ºçÔ�\T ÔáÅ£�Øe>± �d¿£]+#�sÃ Ôî\Td�T¿Ãy�\� nqT¿=q�~.

� d�eÖ#�s��� �d¿£]+#á{²�¿ì �yîT Ôáq �d�V¾²ÔáT\qT @jûT ç|�Xø�\T n&�Ð �+³T+~?

�|Õ |�{ì¼¿£qT |�]o*+ºq³¢sTTÔû 4 e ÔásÁ>·Ü $<�«sÁTÆ\T @ |�+&�T jîTT¿£Ø ºçÔ�\T mÅ£�Øe>± �d¿£]+#�sÃ,

@ |�+&�T ºçÔ�\T ÔáÅ£�Øe �d¿£]+#�sÃ Ôî\Td�T¿Ãe#áTÌ.

4

6

3

9

7

5

2

8

6

50
|�+&�¢ �|sÁT¢ s�jáT&��¿ì �<�T\T>± �yîT |�+&�¢ u¤eT�\qT ºçÜ+º+~.

ÔáqT �d¿£]+ºq d�eÖ#�s��� � ç¿ì+~ $<ó�+>± e Z̄¿£]+º+~.

yîTTÔáï+

8.2 |�³ºçÔá+
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3+

4+

4

7

6

3

Do these

Look at the following data. The data is about the number of children who have taken their
mid day meal at an Anganwadi centre.

Age of
the child

Number of children
taken meals at Anganwadi Picture

Boys Girls Boys Girls

Total

Collect the necessary information to find the most favourite flower / vegetable of
your class. Represent the data in a) tabular form   b) pictograph.

There are 300 students in a school. Now, to represent the number of children who opted
for MDM at  school  in  a  pictograph,  it  is  not  easy  to  draw  300  pictures  to  represent  all  the
students. In such a case, where the number of observations is more we introduce 'scale' in the
pictograph. A scale is a convenient way to represent the information precisely.

We take or draw one picture for every 5 or 10 or so as per the convenience. For example
observe the following data. It is about the number of ice cream bars sold during a week.

Day Number of ice cream bars sold
Monday 50
Tuesday 40
Wednesday 60
Thursday 80
Friday 50
Saturday 30

For the sake of convenience we take/represent 10 ice cream bars by a single picture (     ).
10 ice cream bars   =
20 ice cream bars   = 10 bars + 10 bars =                            +
30 ice cream bars   = 10 bars + 10 bars + 10 bars =       +       +

8.3   Reading a pictograph

=
=
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¿ì+~ |�{ì¼¿£ýË n+>·H�y�&� ¹¿+ç<�+ýË eT<ó�«V�²� uóËÈq+ #ûd¾q $<�«sÁTÆ\ $es�\T �H��sTT. y�{ì� |�]o*+#á+&�.

|¾\¢\

ejáTd�Tà

n+>·H� y�&� ¹¿+ç<�+ýË uóËÈq+ #ûd¾q |¾\¢\T u¤eT�\T

u²\TsÁT          u²*¿£\T u²\TsÁT          u²*¿£\T

yîTTÔáï+

MT ÔásÁ>·Ü >·~ýË MT �d�V¾²ÔáT\Å£� m+ÔÃ �w�¼yîT®q Å£LsÁ>±jáT\T ýñ<� |�P\ �|sÁT¢ �d¿£]+#á+&�.

� d�eÖ#�s��� |�{ì¼¿± sÁÖ|�+, |�³ ºçÔá+ sÁÖ|�+ýË #áÖ|�+&�.

ÿ¿£ bÍsÄÁXæ\ýË 300 eT+~ $<�«sÁTÆ\T �H��sÁT. �|�ð&�T y�]ýË m+Ôá eT+~ $<�«sÁTÆ\T eT<ó�«V�²� uóËÈq+ rd�TÅ£�H��sÃ

n+ÔáeT+~� eTq+ |�³ ºçÔá+ýË #áÖ|�>·\eÖ! �ý²+{ì d�+<�sÁÒÛ+ýË eTq+ |�³ ºçÔ�\ýË »�dØ\TµqT �|�jîÖÐkÍïeTT. ¿£ºÌÔáyîT®q

d�eÖ#�s��� n+~+#á{²�¿ì �dØ\T nHû~ eTqÅ£� #�ý² nqTÅ£L\+>± �+³T+~. eTq nqTÅ£L\ÔáqT �{ì¼ eTq+ ̂ d¾q ÿ¿£ ºçÔá+

5 ýñ¿£ 10 ýñ¿£ n+Ôá¿£H�� mÅ£�Øe ºçÔ�\Å£� d�eÖq+>± #î�TÔ�eTT.

�<�V�²sÁDÅ£� � ç¿ì+~ |�{ì¼¿£qT |�]o*+#á+&�.

ÿ¿£ y�sÁ+ýË m�� ×dtç¿¡+ u²sY\T neTT�&�T bþsTTH�sTT nHû d�eÖ#�sÁ+ |�{ì¼¿£ýË �+#�sÁT.

y�sÁ+

kþeTy�sÁ+

eT+>·Þøy�sÁ+

�T<ó�y�sÁ+

>·TsÁTy�sÁ+

Xø�ç¿£y�sÁ+

Xø�y�sÁ+

1 ×dt ç¿¡+ u²sY ºçÔá+ ( ) 10 ×dtç¿¡+ u²sY\ÔÃ d�eÖq+ n� rd�TÅ£�+fñ,

10 ×dt ç¿¡+ u²sYà R 

20 ×dt ç¿¡+ u²sYà R 10 u²sYà G 10 u²sYà R

30 ×dt ç¿¡+ u²sYà R 10 u²sYà G 10 u²sYà G 10 u²sYàR

3+

4+

4

7

6

3

50
40
60
80
50
30

neT��&�q ×dtç¿¡+ u²sY\ d�+K«

�$ #ûjáT+&�

8.3 |�³ ºçÔ��� #á<�e&�+

=
= +

 +  +
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        Now the above information shown in the table can be represented in a pictograph as follows.
      Scale :         = 10 ice cream bars

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

Do these

Day Number of ice cream bars

From the Pictograph :
*    The day on which maximum number of ice cream bars was sold ........................
*    The day on which minimum number of ice cream bars was sold ........................
* Total number of ice cream bars sold during the week ...........

l In Unnava village three types of houses are there in a street. Number of houses of
each type is in the table given below. Fill the table using tally marks.

Type of house Number of households
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�|Õq �d¿£]+ºq d�eÖ#�sÁ+ �<ó�sÁ+>± ç¿ì+~ |�³ ºçÔá+ýË

�dØ\T:     R 10 ×dt ç¿¡+ u²sYà

kþeTy�sÁ+

eT+>·Þøy�sÁ+

�T<ó�y�sÁ+

>·TsÁTy�sÁ+

Xø�ç¿£y�sÁ+

Xø�y�sÁ+

y�sÁ+

|�³ ºçÔ��� nqTd�]+º

• mÅ£�Øe ×dtç¿¡+ u²sY\T neTT�&�TbþsTTq sÃE ..................

• ÔáÅ£�Øe ×dtç¿¡+ u²sY\T neTT�&�TbþsTTq sÃE ..................

• y�sÁ+ýË n$T�q yîTTÔáï+ ×dt ç¿¡+ u²sY\T .......................

�$ #ûjáT+&�

                                 l �q�e ç>±eT+ýË ÿ¿£ M~óýË 3 sÁ¿±\ �Þø�ß �H��sTT. 3 sÁ¿±\ �Þøß d�+K«qT ç¿ì+~ |�{ì¼¿£ýË qyîÖ<�T

#ûXæsÁT. |�{ì¼¿£ýË� U²°\qT >·Dq ºV�ä�\ÔÃ |�P]+#á+&�.

�\T¢ sÁ¿£+

×dtç¿¡+ u²sY\ d�+K«

�Þøß d�+K«
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Observe the data given below.

The below pictograph shows the number of students of a class who liked different
food items.

Try these

Food Item Number of plates taken by the students of a class

Chapathi

Dosa

Idly

Poori

Vada

By observing the above pictograph answer the following questions ?
l How many students like dosa?
l Which food item is the least liked? How many students like it?
l How many students are there in the class?
l Which food item is the most liked? How many students like it?

8.4    Reading a Bar graph:

Colour of the dress Number of times repeated
Red   3

Green   4

Pink   5

Black   2

Brown   1

White   3

Blue   2

Total 20
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ÿ¿£ ÔásÁ>·ÜýË m+Ôá eT+~ $<�«sÁT�\T @ @ �V�äsÁ|�<�s��\qT �w�¼|�&�TÔáTH��sÃ � ¿ì+~ |�³ºçÔá+ýË #áÖ|��&�+~.

�|Õ |�³ ºçÔ��� |�]o*+º ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�q+ s�jáT+&�.

• m+Ôá eT+~ $<�«sÁT�\T <ÃXøqT �w�¼|�&�TÔáTH��sÁT?

• $<�«sÁT�\T ÔáÅ£�Øe>± �w�¼|�&û �V�äsÁ |�<�sÁ�+ @~? m+Ôá eT+~ �w�¼|�&�TÔáTH��sÁT ?

• ÔásÁ>·ÜýË� yîTTÔáï+ $<�«sÁT�\T m+<�sÁT ?

• mÅ£�Øe eT+~ $<�«sÁT�\T �w�¼|�&û �V�äsÁ |�<�sÁ�+ @~? m+Ôá eT+~ �w�¼|�&�TÔáTH��sÁT?

� ¿ì+~ |�{ì¼¿£ýË �ºÌq d�eÖ#�s��� |�]o*+#á+&�.

ç|�jáTÜ�+#á+&�.

�V�äsÁ |�<�sÁ�+

#ábÍÜ

<ÃXø

�&�¢

|�P¯

e&�

ÔásÁ>·Ü $<�«sÁT�\#û rd�T¿=q�&�q �|¢³¢ d�+K«

8.4 ¿£MT�¹sU² ºçÔ�\T #á<�e&�+ :

<�Td�Tï\ sÁ+>·T         mÅ£�ØekÍsÁT¢ y�&�q~

msÁT|�Ú

�Å£�|�#áÌ

>·Tý²_

q\T|�Ú

>Ã<ó�TeT

Ôî\T|�Ú

ú\+

yîTTÔáï+

3

4

5

2

1

3

2

        20
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Example : There are six types of flower plants in the garden of M.P.U.P. School, Kothapalem.
The number of plants of each type is given below.

10

9

8

7

6

5

4

3

2

1

0

0 1 2 3 4 5 6 7 8 9 10

To make it more clear and interesting the above data can be represented in vertical bars
or horizontal rectangular bars  using rectangles. So the BAR GRAPH of the above data can be
depicted as follows.

Red

Green

Pink

Black

Brown

White

BlueRe
d

G
re

en

Pi
nk

Bl
ac

k

Br
ow

n

W
hi

te

Bl
ue

(OR)

Bar graph shows the most liked colour in class 4.

•  The bar graph for the above information can be drawn as follows.
•  The maximum number of plants here is chrysanthemum.
•  If we denote the number as it is like this in the bar graph, the graph becomes big in size.
•  Therefore, we show this information by taking a convenient scale.
•  The above numbers can be represented as multiples of 3.

Marygold 24
Hibiscus 18
Rose 15
Chrysanthemum 27
Jasmine  6
Lily  9

     Plant Number of plants
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�|Õ |�{ì¼¿£ýË �ºÌq d�eÖ#�sÁ+ jîTT¿£Ø d�Îw�¼yîT®q ne>±V�²q ¿Ãd�+ � d�eÖ#�sÁ+ yîTTÔ�ï�� �\TeÚ eT]jáTT n&�¦+>±

�q� BsÁé#áÔáTsÁçkÍ¿±sÁ |�{¡¼\ sÁÖ|�+ýË ç|�<�]ô+#á³yîT®q~.�|Õ |�{ì¼¿£ýË� d�eÖ#�s��� u²sY ç>±|�t <�Çs� ¿ì+~ $<ó�+>± $e]+#�sÁT.

�|Õ ¿£MT� ¹sU² ºçÔá+ 4e ÔásÁ>·Ü $<�«sÁT�\T mÅ£�Øe>± �w�¼|�&ûsÁ+>·TqT Ôî\T|�ÚÔáT+~.

�<� : ` jáTy�T.|¾.jáTT. |¾ bÍsÄÁXæ\, ¿=ÔáïbÍýÉ+ ÔÃ³ýË 6 sÁ¿±ýÉÕq |�P\yîTT¿£Ø\T �H��sTT. ÿ¿=Ø¿£ØsÁ¿£+ýË m��

|�P\ yîTT¿£Ø\T �H��jîÖ ¿ì+~ |�{ì¼¿£ýË �eÇ�&�q~.

• �|Õ |�{ì¼¿£ýË� d�eÖ#�sÁ+ �<ó�sÁ+>± eTq+ ÿ¿£ ¿£MT� ¹sU²ºçÔ��� ^jáTe#áTÌ.

• #�eT+Ü yîTT¿£Ø\ d�+K« #�ý² mÅ£�Øe>± �+~.

• |�{ì¼¿£ýË �ºÌq d�eÖ#�sÁ+ �<ó�sÁ+>± ¿£MT� ¹sU²ºçÔá+ ÔájáÖsÁT#ûd¾q³¢sTTÔû #�ý² �|<�Ý~>± ̂ jáTe\d¾ ed�Tï+~.

• ¿±�{ì¼ |�³ ºçÔá+ýË #î|¾Îq³T¢ eTq+ ÿ¿£ �dØ\T ÔájáÖsÁT#ûd�T¿Ãy�*.

• �|Õ |�{ì¼¿£ýË �ºÌq d�eÖ#�sÁ+ýË, �eÇ�&�q d�+K«\ú� 3 jîTT¿£Ø >·TDìC²\T.

m
s
ÁT|

�Ú

�
Å
£�|

�#
áÌ

>
·Tý

²_

q
\
T|

�Ú

>
Ã<

ó�Te
T

Ô
î\
T|

�Ú

ú
\
+

10

9

8

7

6

5

4

3

2

1

0

yîTT¿£Ø sÁ¿£+           yîTT¿£Ø\ d�+K«

     �+Ü

     eT+<�sÁ+

     >·Tý²_

     #�eT+Ü

     eTýÉ¢

     *©¢

24
18
15
27
 6
 9

(ýñ<�)

msÁT|�Ú

�Å£�|�#áÌ

>·Tý²_

q\T|�Ú

>Ã<ó�TeT

Ôî\T|�Ú

ú\+

0 1 2 3 4 5 6 7 8 9 10
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The bar graph shows the number of flower plants in the garden of M.P.U.P. School,
Kothapalem.

Answer the following from the above bar graph.

1. Number of jasmine plants

2. Number of lily plants  = ______________

3. Number of marigold plants = ______________

 =  3 + 3

 =  6 plants

Let's take 1 box = 3 plants as the scale.

3 plants =

6 plants =  3 plants + 3 plants =

9 plants =  3 plants + 3 plants + 3 plants =

12plants =  3 plants + 3 plants + 3 plants + 3 plants =

and so on ...........

G

G G

G G G

N
um

be
r o
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Number of Plants
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H
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R
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C
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(ýñ<�)

Marigold

Hibiscus

Rose

Chrysathemum

Jasmine

Lily

(Or)
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3 yîTT¿£Ø\T R

6 yîTT¿£Ø\T R 3 yîTT¿£Ø\T G 3 yîTT¿£Ø\T R

9 yîTT¿£Ø\T R 3 yîTT¿£Ø\T G 3 yîTT¿£Ø\T G 3 yîTT¿£Ø\T R

12 yîTT¿£Ø\T R 3 yîTT¿£Ø\T G 3 yîTT¿£Ø\T G3 yîTT¿£Ø\TG3 yîTT¿£Ø\T R

�|Õ ¿£MT� ¹sU²ºçÔáeTT jáTy�T.|¾.jáTT.|¾ bÍsÄÁXæ\, ¿=ÔáïbÍýÉ+ýË $$<ó� sÁ¿±\ |�P\ yîTT¿£Ø\T m�� �H��jîÖ Ôî\T|�ÚÔáT+~.

¿£MT� ¹sU²ºçÔá+ �<ó�sÁ+>± ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�q+ �eÇ+&�.

   ¿±�{ì¼ 1 �|fÉ¼ R 3 yîTT¿£Ø\Å£� d�eÖq+.

G

G G

G G G

�
+
Ü

e
T+

<
�s

Á+

>
·Tý

²_

#
�e

T+
Ü

e
Tý

É¢

*
©
¢

10

9

8

7

6

5

4

3

2

1

0

yîTT¿£Ø\ d�+K«

y
îTT
¿
£Ø\

 
d
�+
K
«

1. eTýÉ¢|�P\ yîTT¿£Ø\ d�+K«

2. *©¢ |�P\ yîTT¿£Ø\ d�+K« R  ______________

3. �+Ü |�P\ yîTT¿£Ø\ d�+K« R  ______________

R  3 G 3

R  6 yîTT¿£Ø\T

0 1 2 3 4 5 6 7 8 9 10

�+Ü

eT+<�sÁ+

>·Tý²_

#�eT+Ü

eTýÉ¢

*©¢

(ýñ<�)
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Do these

       The bar graph shows how Peter spends his time on a normal day.
Scale : 1 box = 1 hour

1 30 children of class 4 gave the particulars of their pets as follows.
cat dog hen dog goat cat hen dog goat cat
hen dog goat hen dog cat goat hen dog cat
dog hen cat goat goat cat cat hen dog hen

Complete the table by using above data and answer the questions given below.

9

8

7

6

5

4

3

2

1

0

4

3

1

2

8

6

Study Other At SchoolWatching
TV

Playing Sleeping

Answer the following questions based on the above bar graph.
l On which activity does Peter spend more number of hours?
l How many hours does Peter spend in sleeping and at school?
l On which activity does Peter spend the least number of hours?
l What is the difference between the number of hours spend in sleeping and the number

of  hours spend at school?

Exercise - 8.1

Pets Tally marks Number

Cat
Dog
Hen
Goat
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¿ì+~ ¿£MT� ¹sU² ºçÔá+ |Ó³sY Ôáq d�eTjáÖ�� ÿ¿£ sÃEýË ÿ¿=Ø¿£Ø |��¿ì m+Ôá d�eTjáÖ�� ¹¿{²sTTkÍï&Ã

Ôî\T|�ÚÔáT+~. �dØ\T: 1 >·+³ R 1 �|fÉ¼

�|Õq �eÇ�&�q ¿£MT� ¹sU²ºçÔá+ �<ó�sÁ+>± ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�q+ #î|�Î+&�.

1. |Ó³sY @ |��¿ì mÅ£�Øe d�eTjáT+ ¹¿{²sTTkÍï&�T ?

2. |Ó³sY �ç<�bþe{²�¿ì, bÍsÄÁXæ\ýË >·&�|�{²�¿ì ¿£*|¾ yîTTÔáï+ m�� >·+³\ d�eTjáT+ |�&�TÔáT+~ ?

3. |Ó³sY @ |��¿ì ÔáÅ£�Øe d�eTjáT+ ¹¿{²sTTkÍï&�T?

4. �ç<�bþe{²�¿ì, bÍsÄÁXæ\ýË >·&��| d�eTjáÖ�¿ì eT<ó�« >·\ Ôû&� m+Ôá?

1. 4 e ÔásÁ>·ÜýË� 30 eT+~ $<�«sÁT�\ �|+|�Ú&�T È+ÔáTeÚ\ $es�\T � ¿ì+~ $<ó�+>± �H��sTT.

|¾*¢ Å£�¿£Ø ¿Ã&� Å£�¿£Ø yûT¿£ |¾*¢ ¿Ã&� Å£�¿£Ø yûT¿£ |¾*¢

¿Ã&� Å£�¿£Ø yûT¿£ ¿Ã&� Å£�¿£Ø |¾*¢ yûT¿£ ¿Ã&� Å£�¿£Ø |¾*¢

Å£�¿£Ø ¿Ã&� |¾*¢ yûT¿£ yûT¿£ |¾*¢ |¾*¢ ¿Ã&� Å£�¿£Ø ¿Ã&�

�|Õq  d�eÖ#�sÁ+ �<ó�sÁ+>± ¿ì+~ |�{ì¼¿£qT |�P]+#á+&�. |�{ì¼¿£ ¿ì+~ ç|�Xø�\Å£� Èy��T*eÇ+&�.

�$ #ûjáT+&�:

nuó²«d�+ 8.1

�|+|�Ú&�T È+ÔáTeÚ >·Dq ºV�ä�\T d�+K«

|¾*¢

Å£�Å£Ø

¿Ã&�

yûT¿£

#á<�e{²�¿ì �ÔásÁeTT\Å£� {ì.$.
#áÖ#áT³Å£�

�³\Å£� �ç<�Å£� bÍsÄÁXæ\ýË

9

8

7

6

5

4

3

2

1

0

4

3

1

2

8

6
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2) The students recorded the homes of the little creatures near their houses in the activity
book.

Number  of  homes

a)   Which is the most favourite pet?
b)   How many children have hen as pet?
c)   How many children have dog as pet?

Birds nest

Birds tree holes

Anthills

Spider webs

Scale       = 5 homes

Name of the creatures Homes of the creatures

a)  How many homes did they record in their activity book?
b)  Which animals have equal number of houses?
c)  Which creature homes are more than the others?

3) Observe the bar graph and answer the following. The bar graph shows the number of
varities of flowers used to make bouquets in a day by a flower vendor.

Scale : 1 box = 10 flowers

Rose Jasmine Lily Marigold

10
9
8
7
6
5
4
3
2
1
0

a) How many roses are used in a day? b) Which flowers are used the least?

c) How many flowers are used totally in a day? d) Which flowers are used the most?
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1) mÅ£�Øe eT+~¿ì �w�¼yîT®q �|+|�Ú&�T È+ÔáTeÚ @~ ?

2) m+Ôá eT+~ |¾\¢\Å£� ¿Ã&� �|+|�Ú&�T È+ÔáTeÚ>± �+~?

3) m+Ôá eT+~ |¾\¢\Å£� Å£�¿£Ø �|+|�Ú&�T È+ÔáTeÚ ?

2. $<�«sÁTÆ\T ÔáeT ¿£�Ôá« |�Úd�ï¿£+ýË ÔáeT �+{ì <�>·ZsÁýË� $$<ó� JeÚ\ �y�d�eTT\ $esÁeTT\T � ¿ì+~ $<ó�+>± qyîÖ<�T#ûXæsÁT.

                �dØ\T: 1    R 5 �Þø�ß

1. $<�«sÁT�\T ÔáeT ¿£�Ôá« |�Úd�ï¿£+ýË yîTTÔáï+ m�� �ÞøßqT qyîÖ<�T #ûXæsÁT?

2. @ @ JeÚ\ �Þøß d�+K«\T d�eÖq+>± �H��sTT?

3. @ J$ jîTT¿£Ø �Þø�ß mÅ£�Øe>± �H��sTT?

3. ÿ¿£ |�P\ y�«bÍ] ÿ¿£ sÃEýË u¤¹¿\T ÔájáÖsÁT#ûjáT{²�¿ì y�&û |�P\T �<ó�sÁ+>± ÿ¿£ ¿£MT� ¹sU²ºçÔ��� ^XæsÁT. ¿£MT�¹sU²

ºçÔ��� |�]o*+º, ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�q+ s�jáT+&�.
�dØ\T : 1 �|fÉ¼ R 10 |�P\T

1. ÿ¿£ sÃEýË m�� >·Tý²; |�P\T y�&�Ô�sÁT? 2. @ |�P\� ÔáÅ£�Øe>± y�&�Ô�sÁT?

3. ÿ¿£ sÃEýË yîTTÔáï+ m�� |�P\T y�&�Ô�sÁT? 4. @ |�P\qT mÅ£�Øe>± y�&�Ô�sÁT?

JeÚ\T JeÚ\ >·ÖÞø�ß >·ÖÞøß d�+K«

|�¿ì� >·ÖÞø�ß

|�¿ì� #î³T¼ Ô=çsÁ\T

NeT\ |�Ú³¼\T

kÍýÉ|�ÚsÁT>·T >·ÖÞø�ß

>·Tý²_ eTýÉ¢ *©¢ �+Ü

10
9
8
7
6
5
4
3
2
1
0

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



88MATHEMATICS CLASS - 4

    Note the number of students who got marks in maths range from 40 - 50 out of 50
and prepare a pictograph in your class.

Maths lab activity

Project work
l Sort out your school library books into categories like comedy, story books, picture

books, moral books etc., and make a table with tally marks?

l Take a dice and throw it 50 times. Record your result at each throw of the dice, by
drawing a tally mark in front of the number of dots you get. Make a table as shown
below.

l Which face of the dice did you get the least number of times?
l Which face of the dice did you get the most number of times?

Fun Activity

      Classify the animals which are living on the ground, in the water and on the
trees nearby your house or school.

1

2

3

4

5

6

TOTAL

Number of dots on the
face of the die             Tally marks                 Number
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>·DìÔá ç|�jîÖ>·Xæ\ ¿£�Ôá«eTT

çbÍCÉÅ£�¼ |��

n) MT bÍsÄÁXæ\ ýÉÕç�¯ýË� |�Úd�ï¿±\qT V�äd�«, úÜ, ¿£<�̧ , ºçÔá ¿£<¸� |�Úd�ï¿±\T>± $uó��+#á+&�. >·Dq ºV�ä�\ÔÃ ÿ¿£

|�{ì¼¿£qT ÔájáÖsÁT#ûjáT+&�.

�) MTsÁT ÿ¿£ bÍº¿£ rd�TÅ£�� ÿ¿=Ø¿£ØsÁT 50 kÍsÁT¢ yûjáT+&�. MTÅ£� ç|�ÜkÍ] |�&�q d�+K«qT ÿ¿£ |�Úd�ï¿£+ýË >·Dq

ºV�ä�\ �<ó�sÁ+>± qyîÖ<�T#ûjáT+&�. >·Dq |�{ì¼¿£qT � ç¿ì+~ $<ó�+>± ÔájáÖsÁT#ûjáT+&�.

• bÍº¿£ ýË� @ d�+K« MTÅ£� ÔáÅ£�Øe kÍsÁT¢ eºÌ+~?

• bÍº¿£ ýË� @ d�+K« MTÅ£� mÅ£�Øe kÍsÁT¢ eºÌ+~?

d�sÁ<� ¿£�Ôá«+

MT �+{ì¿ì <�>·ZsÁ ýñ<� bÍsÄÁXæ\ <�>·ZsÁ uó�Ö$T MT<�, ú{ìýË, #î³¢MT<� �ed¾+#û È+ÔáTeÚ\qT $uó��d�Öï |�{ì¼¿£

ÔájáÖsÁT#ûjáT+&�.

MT ÔásÁ>·ÜýË� $<�«sÁTÆ\Å£� >·DìÔá |�̄ ¿£�ýË 50 eÖsÁTØ\Å£� >±qT m+Ôá eT+~¿ì 40 ̀ 50 eT<ó�«ýË eÖsÁTØ\T bõ+~ �H��sÁT

nHû d�eÖ#�sÁ+ �<ó�sÁ+>± ÿ¿£ |�³ ºçÔ��� ÔájáÖsÁT#ûjáT+&�.

1

2

3

4

5

6

yîTTÔáï+

            >·Dq ºV�ä�\T                    d�+K«

bÍº¿£ eTTK+�|Õ >·\

#áT¿£Ø\ d�+K«
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Fractions 9

Chapter

Fractions

In the following picture some pupils are participating in a painting
competition. Can you identify the pupils who have completed half ?

Kishore Mary

Balu
Gopika

Aditya

Naseema

Now answer the following.
 a) Kishore has done half of the picture. True / False ( )
 b) Aditya has done completely. True / False ( )
 c) Balu has done half of the picture. True / False ( )
 d) Gopika has completed the picture. True / False ( )
 e) Mary has done half of the picture. True / False ( )
 f) Naseema has done half of the picture. True / False ( )

9.0 Introduction

Balu Gopika Aditya MaryKishore Naseema
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_óH��\T
n<ó�«jáT+

9.0  |�]#ájáT+

¿ì+~ ºçÔá+ýË |¾\¢\T sÁ+>·T\ bþ{¡\ýË bÍý¤Z+³TH��sÁT. ¿ì+~ ºçÔá+ýË

d�>· uó²>·eTTqÅ£� eÖçÔáyûT sÁ+>·T\T yûd¾q y�]� >·T]ï+#á+&�.

¿ìcþsY

u²\T

qdÓeT

>Ã|¾¿£

�~Ôá«

yûT]

¿ìcþsY qdÓeT u²\T >Ã|¾¿£ �~Ôá« yûT]

 n) ¿ìcþsY d�>· uó²>±�¿ì sÁ+>·T yûkÍ&�T. neÚqT/¿±<�T ( )

 �) �~Ôá« |�P]ï>± sÁ+>·T yûkÍ&�T. neÚqT/¿±<�T ( )

 �) u²\T d�>· uó²>±�¿ì sÁ+>·T yûkÍ&�T. neÚqT/¿±<�T ( )

 �) >Ã|¾¿£ |�P]ï>± sÁ+>·T yûd¾+~. neÚqT/¿±<�T ( )

 �) yûT] d�>· uó²>±�¿ì sÁ+>·T yûd¾+~. neÚqT/¿±<�T ( )

 }) qdÓeT d�>· uó²>±�¿ì sÁ+>·T yûd¾+~. neÚqT/¿±<�T ( )

¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T �eÇ+&�.

_óH��\T
n<ó�«jáT+

9
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4

Write the numbers that denote the apples in the box.

You might have written half and quarter in the last boxes because the apple is not full. To
represent a part of a whole, we write it in a different way.

In the following, some pictures are shown as a whole some in halves and some in quarter.
Write 'W' for whole, 'H' for the half and 'Q' for the quarter.

Look at the following figures. A complete picture and its half are given. Find the other
half from the list to make picture into a complete one.

Other halfWhole Half

9.1 Half and Quarter
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¿ì+~ �|fÉ¼ýË� �|¾ýÙ |�+&�¢Å£� m<�TsÁT>± y�{ì d�+K«qT qyîÖ<�T #ûjáT+&�.

ºe] �|fÉ¼\ýË� �|¾ýÙ uó²>±\Å£� m<�TsÁT>± d�>·+ eT]jáTT bÍeÚ n� eÖçÔáyûT s�d¾ �+{²sÁT. m+<�T¿£+fñ n¿£Ø&�

|�P]ï �|¾ýÙ |�+&�T ýñ<�T. uó²>·eTT nHû <��� eÖeTT\T n+Â¿ ¿£H�� _óq�+>± #áÖ|�ÚÔ�+.

¿ì+~ �ºÌq u¤eT�\ýË ¿=�� |�P]ï>± �H��sTT. ¿=�� d�>·yûT �H��sTT. eT]¿=�� bÍeÚ uó²>·+ �H��sTT.

|�P]ï u¤eT�Å£� W n�, d�>· uó²>±�� H n�, bÍeÚ uó²>±�� Q n� s�jáT+&�.

¿ì+~ �ºÌq u¤eT�\qT |�]o*+#á+&�. |�P]ï u¤eT�qT eT]jáTT <�� d�>· uó²>·eTTqT �#�ÌsÁT. �ºÌq d�>·uó²>·eTTqÅ£�

 #î+~q $TÐ*q d�>· uó²>±�� >·T]ï+#á+&�.

yîTTÔáï+ d�>·+ $T>·Ô� d�>·+

4

9.1  d�>·eTT eT]jáTT bÍeÚ
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1
2

Observe the following. Label the shaded part as half and quarter.

1.    Colour the quarter part of each of the following. One is done for you.

Do these

2.    Write 'half' or 'quarter' in the boxes provided under each figure. One is done for you.
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¿ì+~ ºçÔáeTT\qT |�]o*+#á+&�. d�>·eTT eT]jáTT bÍeÚ uó²>±\qT >·T]ï+#á+&�.

1. ¿ì+~ �ºÌq |�³eTT\ýË bÍeÚ uó²>±�� >·T]ï+º sÁ+>·T yûjáT+&�. ÿ¿£{ì MT¿Ãd�+ #ûjáT�&�q~.

2. ¿ì+~ �ºÌq |�³eTT\ýË »d�>·eTTµ eT]jáTT »bÍeÚµ uó²>±\qT >·T]ï+#á+&�. ÿ¿£{ì MT¿Ãd�+ #ûjáT�&�q~.

�$#ûjáT+&�

1
2
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9.2    FRACTION
Observe the picture given below.

Teacher : How many circles are there?
Student : There are 5 circles in all.
Teacher : How many circles are shaded?
Student : Two circles are shaded.
Teacher : We write this as a part of group or whole as 5

2

The number which is written above the horizontal line is called the numerator.
The number which is written below the horizontal line is called the denominator.

Fraction =
Numerator

Denominator

Let us observe the following pictures and complete the table.

2

5 2

1
1
2

5

3

4 1

1
1
3

1
4

2

Picture
Total number
of equal parts

or objects

Number of parts /
objects coloured

Coloured part
of the whole
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9.2  _óH��\T

¿ì+~ ºçÔ��� |�]o*+#á+&�.

�bÍ<ó�«jáTT&�T : �|Õ |�³eTTýË m�� e�ÔáïeTT\T �H��sTT ?

$<�«]� : 5 e�ÔáïeTT\T �H��sTT.

�bÍ<ó�«jáTT&�T : m�� e�ÔáïeTT\Å£� sÁ+>·T yûXæsÁT ?

    $<�«]� : Âs+&�T e�ÔáïeTT\Å£� sÁ+>·T yûXæsÁT.

�bÍ<ó�«jáTT&�T : yîTTÔáï+ ýñ<� ç>·Ö|�ÚýË� � uó²>±��  5
2

 n�� s�kÍï+.

_óq�+ýË ̂ Ôá �|Õq s�jáT�&�q d�+K«qT \eeTT n+{²sÁT.

_óq�+ýË ̂ Ôá ¿ì+<� s�jáT�&�q d�+K«qT V�äsÁeTT n+{²sÁT.

¿ì+~ |�{ì¼¿£ýË� ºçÔ�\qT |�]o*+#á+&�. |�{ì¼¿£qT |�P]ï#ûjáT+&�.

_óq�eTT R
\eeTT

V�äsÁeTT

ºçÔáeTT
yîTTÔáï+ d�eÖq uó²>±\T (ýñ<�)

ed�TïeÚ\ d�+K«.

sÁ+>·T yûd¾q uó²>±\T (ýñ<�)

ed�TïeÚ\ d�+K«.

yîTTÔáï+ýË sÁ+>·T

yûd¾q uó²>·+

2

3

4

5 2

1

1

1
1
2

1
3

1
4

2
5

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



98MATHEMATICS CLASS - 4

4
6

6

3

8

4

2

5

Let us represent 'part of a whole' or 'fraction' with some more pictures.

Part of a whole Pictures

9.3    Understanding a Fraction
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eT]¿=�� ºçÔáeTT\ <�Çs� »_óq�eTTµ \qT ne>±V�²q #ûd�TÅ£�+<�+.

yîTTÔáïeTTýË uó²>·eTT ºçÔáeTT\T

4
6

6

3

8

4

2

5

9.3  _óq�eTT >·T]+ºq ne>±V�²q
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What do you observe from 
3
4 ? We mean that the total number of equal parts / units is 4

and the number of equal parts taken is 3.

In the same way in 2
3 , total number of equal parts = 3

The number of equal parts taken        = 2
Do these

1) In 
3
11

, total number of equal parts or units is ______ and the number of equal parts taken is

_______.

2) In 
3
8 , total number of equal parts or units is ____ and the number of equal parts taken is _______.

3) In _______ the total number of equal parts are 8 and the number of equal parts taken 3

4) In 
2
5 , total number of equal parts or units is ______________ and the shaded number of equal

parts is _____ and the number of unshaded parts is ___________.

Activity

We can't see a fraction as two separate numbers, but as a part of the whole. Suppose Rani
has half a Guava, Sudha has half of an apple. Now what is the sum or total of these two halves?
Justify your answer.

Is ( 2
1
G 2

1 ) a whole?

So a fraction doesn't tell about the nature of the object or group of objects under
consideration but tells the quantity or part of the whole under consideration. By ( 4

3 ) we mean
there are four equal parts of a whole, and 3 are taken (considered).
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�|Õq s�d¾q _óq�+ 
3
4  qT+&� MTsÁT @$T ç>·V¾²+#�sÁT? 

3
4  nq>± 4 d�eÖq uó²>±\T ýñ<� ed�TïeÚ\ qT+&�, 3 d�eÖq uó²>±\T

rd�T¿Ã�&�q$ n� nsÁ�+.

ný²¹> 
2
3  ýË yîTTÔáï+ d�eÖq uó²>±\T R 3.

rd�T¿Ã�&�q uó²>±\T R 2.

�$ #ûjáT+&� :

1. 
3
11

 _óq�+ýË yîTTÔáï+ d�eÖq uó²>±\T ______, rd�T¿Ã�&�q uó²>±\T ______.

2. 
3
8  _óq�+ýË yîTTÔáï+ d�eÖq uó²>±\T ______, rd�T¿Ã�&�q uó²>±\T ______.

3. ______ _óq�+ýË yîTTÔáï+ d�eÖquó²>±\T 8, rd�T¿Ã�&�q uó²>±\T 3.

4. 
2
5  _óq�+ýË yîTTÔáï+ d�eÖquó²>±\T ______, rd�T¿Ã�&�q uó²>±\T ýñ<� sÁ+>·T yûjáT�&�q uó²>±\T ______,

    eT] sÁ+>·T yûjáT� uó²>±\T______.

¿£�Ôá«eTT

_óH���� Âs+&�T yûsÁTyûsÁT d�+K«\T>± #áÖ&�Å£L&�<�T. �~ ed�TïeÚýË ÿ¿£ uó²>·+ eÖçÔáyûT. s�Dì <�>·ZsÁ d�>·+ C²eT¿±jáT

�+~. d�T<ó� <�>·ZsÁ d�>·+ jáÖ|¾ýÙ �+~. � Âs+&�+{ì� ¿£*|¾Ôû @eTeÚÔáT+~?

2
1
G 2

1
 � yîTTÔáï+ nqe#�Ì ?

_óq�eTT nHû~ ÿ¿£ ed�TïeÚ jîTT¿£Ø ýñ<� d�eTÖV�²+ jîTT¿£Ø d�Çuó²y��� Ôî*jáT#ûjáT<�T. ¿±ú ed�TïeÚýË ýñ<�

d�eTÖV�²+ýË |�]eÖD²�� |�]>·DqýË�¿ì rd�TÅ£�q� uó²>±�� Ôî*jáTCñd�Tï+~. 4
3

 nHû _óq�+ýË 4 nHû~ yîTTÔáï+

d�eÖquó²>±\qT d�Öºd�Tïq�~. 3 nHû~ sÁ+>·T yûd¾q ýñ<� rd�T¿=q� uó²>±�� Ôî*jáTCñkþï+~.
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Fraction 2
3  can be read as 2 over 3 or 2 out of 3 or 2 by 3.

Think & Discuss
A student denoted the shaded part as 3/5
Is it correct? Justify your answer.

Identify the numerator and denominator in the following fractions.

1
2

3
4

6
7

2
7

2
3

4
11

1 2

3 4

Fraction Numerator Denominator Fraction Read as
in words

Half

Three fourths

Six Sevenths

1 over 2

3 out of 4

6 by 7

2 over 7

2 out of 3

4 by 11

5
17
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2
3  nHû _óH���� 2 uÉÕ 3 ýñ<� eTÖ&�+³ Âs+&�T e+ÔáT\T n� #á<�TeÚÔ�sÁT.

|�¿£Ø |�³eTTýË� sÁ+>·T yûd¾q uó²>±�� s�V�QýÙ 3/5 n� s�Xæ&�T.

nÔáqT #î|¾Îq Èy��T d�ÂsÕq<ûH�? ¿±<�? $e]+#á+&�.

�ýËº+#á+&� eT]jáTT #á]Ì+#á+&�

   ¿ì+~ _óH��\ýË \e, V�äs�\qT >·T]ï+#á+&�.

1
2

3
4

6
7

2
7

2
3

4
11

1 2

3 4

5
17

d�>·+

eTTbÍÎeÚ

ÿ¿£{ì uÉÕ Âs+&�T

eTÖ&�T uÉÕ H�\T>·T

�sÁT uÉÕ @&�T

@&�+³ Âs+&�T

e+ÔáT\T

eTÖ&�+³ Âs+&�T

e+ÔáT\T

4 uÉÕ 11

@&�TýË

�sÁT uó²>±\T

_óq�eTT                 \eeTT      V�äsÁeTT      |�<�\ýË _óq�eTT    #á~yû $<ó�q+
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1
4

1
3

1
7

1
8

1
5

1
4

1
3

Look at the following pictures :

a)

b)

c)

d)

e)

f)

g)

The fractions represented by the above shaded parts are 3
1,

4
1,

5
1,

8
1,

7
1,

3
1,

4
1

What do you observe in all the above fractions? How many parts or units are coloured in
each of the above figures?
Single unit or one part is coloured.
Do you find anything in common for the above fractions.
Yes, the numerator is 1 for all fractions. These are called unit fractions

Fractions with numerator '1' are called UNIT FRACTIONS.

9.4   Unit Fractions
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¿ì+~ ºçÔ�\qT |�]o*+#á+&�.

n)

�)

�)

�)

�)

})

�TT)

1
4

1
3

1
7

1
8

1
5

1
4

1
3

9.4  @¿±+¿£ _óH��\T

3
1,

4
1,

5
1,

8
1,

7
1,

3
1,

4
1

 _óH��\T, sÁ+>·T yûd¾q uó²>±\qT d�Öºd�TïH��sTT.

�|Õ _óH��\ýË �+¿± MTsÁT @$T >·eT�+#�sÁT? �|Õq Ôî*|¾q uó²>±\T ýñ<� ed�TïeÚ\ýË m��+{ì¿ì sÁ+>·T yûjáT�&�+~?

ÿ¿£ ed�TïeÚ ýñ<� ÿ¿£ uó²>±�¿ì eÖçÔáyûT sÁ+>·T yûjáT�&�+~.

�|Õq n�� _óH��\ýË ÿ¹¿ $<ó�+>± �q� n+Xæ�� @yîT®H� >·T]ï+#�s� ?

neÚqT. �|Õq _óH��\��+{ì¿ì »1µ \eeTT>± �q�~. � _óH��\qT @¿±+¿£ _óH��\T n+{²sÁT.

\eeTT 1 >± >·\ _óH��\qT @¿±+¿£ _óH��\T n� n+{²sÁT.
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What do you observe from the above fractions 
1 1 1 1

, , ,
2 3 4 5  and 

1
6

Numerators are same. Denominators are different.

By comparing above shaded portions, we can clearly say that

So, we have                                     and

1
2

1
3

1
8

1
5

1
7

1
3

1
4

, , , ,Observe some more unit fractions

Write some more unit fractions with denominators 2, 6, 9.

Try these

Write some unit fractions as you like.

          a)                         b)                         c)                         d)

Write the fractions for the following shaded parts.

6
1

5
1;

5
1

4
1;

4
1

3
1;

3
1

2
1

>>>>

2
1

3
1

4
1

5
1

6
1 <<<<

6
1

5
1

4
1

3
1

2
1 >>>>

Descending order
In any two fractions with same numerator, the fraction with smaller denominator is greater

than the other and vice versa. Thus we arrange them in ascending/ descending order, according
to the descending / ascending order of their denominators.
Do these

1) Which is smaller      or

2) Which is greater       or

3) Circle the smallest fraction among

4) Circle the greatest fraction among

1
12

1
10

?

1
5

1
3

?

9.5 Comparison of unit fractions

Ascending order

1
2

1
8

1
15

1
6

1
10

1
13

7
1 1

3
1
9

1
2

1
6

, , , ,

, , , , ,
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� ¿ì+~ �eÇ�&�q @¿±+¿£ _óH��\qT |�]o*+#á+&�.

2, 6, 9 \ÔÃ eT]¿=�� @¿±+¿£ _óH��\T s�jáT+&�.

� ¿ì+~ sÁ+>·T yûd¾q uó²>±\Å£� _óH��\qT s�jáT+&�.

�|Õ _óH��\T 
1 1 1 1 1

, , , ,
2 3 4 5 6  \qT |�]o*+ºq|�Ú&�T MT¹s$T >·eT�+#�sÁT?

\eeTT\T d�eÖq+>± �H��sTT. ¿±ú V�äsÁeTT\T yûsÁTyûsÁT>± �H��sTT.

�|Õ sÁ+>·T yûd¾q uó²>±\qT eTq+ |�]o*+ºq³¢sTTÔû eTqÅ£� d�Îw�¼+>± Ôî*�d<ûeT+fñ

@yîÕH� Âs+&�T _óH��\ýË \eeTT d�eÖq+>± �+fñ, V�äsÁeTT ºq�~>± �q� _óq�eTT, Âs+&�e _óq�eTT ¿£+fñ �|<�Ý~.

� $<ó�+>± V�äs�\ nesÃV�äD, nsÃV�²D ç¿£eÖ\qT |�]>·DqýË�¿ì rd�TÅ£��, _óH��\qT �sÃV�²D, nesÃV�²D ç¿£eÖ\ýË s�jáTe#áTÌ.

MTÅ£� qºÌq @¿±+¿£ _óH��\T s�jáT+&�.

n) �) �) �)

9.5  jáTÖ�{Ù _óH��\qT bþ\Ì³+

1
2

1
3

ç|�jáTÜ�+#á+&�

1
8

1
5

1
7

1
3

1
4

, , , ,

2
1

3
1

4
1

5
1

6
1 <<<<

6
1

5
1

4
1

3
1

2
1 >>>>

�sÃV�²D ç¿£eT+ nesÃV�²D ç¿£eT+

6
1

5
1;

5
1

4
1;

4
1

3
1;

3
1

2
1

>>>>

11
�$ #ûjáT+&�

1. � Âs+&�T _óH��\ýË ºq�~ @~?

2. � Âs+&�T _óH��\ýË �|<�Ý~ @~?

 \ýË ºq� _óH���¿ì d�Tq� #áT³¼+&�.

 \ýË �|<�Ý _óH���¿ì d�Tq� #áT³¼+&�.

ýñ¿£

ýñ¿£ 53
?

1
12

1
10

?

1
7

1
3

1
9

1
2

1
6

3.

1
2

1
8

1
15

1
6

1
10

1
134. , , , , ,

, , , ,
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1
7

3
7

4
7

6
74

9
74

56
74

, ,

, ,

, ,

,,

Try these

Look at the marks obtained by 4th Class students of MPP School, K. Kothapalem in a
school  project.

What do you observe in all the above fractions?
Numerators are DIFFERENT.
Denominators are SAME.

Fractions with same denominators are called LIKE FRACTIONS.

Denominator Fractions with same denominator ( like fractions)

7

74

12

17

Arrange the following in ascending order and descending order

9.6   Like Fractions

3
10

8
10

7
10

9
10

4
10

6
10

Student
Name

Marks
obtained

Teja Krishna Gopika Bhavya Bharath David

Days of a week    :

Days of a month  :

Months of a year  :

Fractional representations of

Do you know?

1
12

2
12

3
12

, ,

1
31

2
31

3
31

,,

7 7
1
7

2 3, ,

1 1 1 1 1 1 1
9 2 6 8 4 15 3

, , , , , ,
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ç|�jáTÜ�+#á+&�

� ¿ì+~ _óH��\qT �sÃV�²D, nesÃV�²D ç¿£eÖ\ýË s�jáT+&�.

eT+&�\ |�]w�ÔY çbÍ<ó�$T¿£ bÍsÄÁXæ\, Â¿. ¿=ÔáïbÍýÉ+, 4 e ÔásÁ>·Ü $<�«sÁTÆ\T çbÍCÉÅ£�¼ýË bõ+~q eÖsÁTØ\T

� ¿ì+~ $<ó�+>± �H��sTT.

�|Õ _óH��\ qT+&� MTsÁT @$T ç>·V¾²+#�sÁT.

\y�\T yûsÁT yûsÁT>± �H��sTT.

V�äs�\T d�eÖq+>± �H��sTT.

MTÅ£� Ôî\TkÍ?

_óH��\ çbÍÜ�<ó�«+

y�sÁ+ýË� sÃE\T    :

Hî\ýË� sÃE\T      :

d�+eÔáàsÁ+ýË� Hî\\T :

$<�«]� �|sÁT

bõ+~q

eÖsÁTØ\T

ÔûÈ ¿£�w�� >Ã|¾¿£ uó�e« uó�sÁÔY &û$&�

V�äsÁeTT ÿ¹¿ V�äsÁ+ ¿£*Ðq _óH��\T (d�C²Ü _óH��\T)

d�eÖq V�äs�\qT ¿£*Ð �q� _óH��\qT »d�C²Ü _óH��\Tµ n+{²sÁT.

9.6  d�C²Ü _óH��\T :

3
10

8
10

7
10

9
10

4
10

6
10

1
7

3
7

4
7

6
74

9
74

56
74

, ,

, ,

, ,

,,

7

74

12

17

1
7

2
7

3
7

1
31

2
31

3
31

1
12

2
12

3
12

, ,

,,

, ,

1 1 1 1 1 1 1
9 2 6 8 4 15 3

, , , , , ,
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Let's eat the Birthday cake.

      On  Sreekari's  birthday,  she

cut the cake into 10 pieces. She

gave 2 pieces to Sreeja and 5

pieces to Sonali.

2
6

3
8

1
5

4
6

2
7

5
6

3
6

, , , , , ,

, , , , ,, , , , , ,2
5

4
7

3
5

6
9

1
5

5
8

4
5

Do these

1) Circle the like fractions among the following.

2) Circle the fractions other than like fractions among the following.

3) Write like fractions of the following figures.

b)

Fraction of shaded part

Fraction of unshaded part

Fraction of shaded part Fraction of unshaded part

9.7 Addition and Subtraction of Like Fractions

a)

           =
5

10

Sreeja’s part or fraction    =

Sonali’s part or fraction    =

Pieces taken by both        =

=
2

10

=
2

10
5

10 =+ 2+5
10 = 7

10
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2
6

3
8

1
5

4
6

2
7

5
6

3
6

, , , , , ,

, , , , ,, , , , , ,2
5

4
7

3
5

6
9

1
5

5
8

4
5

�$ #ûjáT+&�

1. � ¿ì+~ _óH��\ýË d�C²Ü _óH��\Å£� d�Tq� #áT³¼+&�.

2. � ¿ì+~ _óH��\ýË d�C²Ü _óH��\T ¿±� y�{ì¿ì d�Tq� #áT³¼+&�.

3. � ¿ì+~ ºçÔ�\ �<ó�sÁ+>± d�C²Ü _óH��\T s�jáT+&�.

sÁ+>·T yûd¾q uó²>±�¿ì _óq� sÁÖ|�+

sÁ+>·T yûjáT�&�� uó²>±�¿ì _óq� sÁÖ|�+

 sÁ+>·T yûd¾q uó²>±�¿ì _óq�sÁÖ|�+ sÁ+>·T yûjáT�&�� uó²>±�¿ì _óq� sÁÖ|�+

|�Ú{ì¼q sÃE ¹¿Å£� Ü+<�eTT.

l¿£] |�Ú{ì¼q sÃEq, Ôáq |�Ú{ì¼q sÃE ¹¿Å£�qT

10 uó²>±\T>± #ûd¾+~. lÈ¿ì 2 eTT¿£Ø\T,

kþH�*¿ì 5 eTT¿£Ø\T �ºÌ+~.

n)

�)

9.7  d�C²Ü _óH��\ Å£L&�¿£\T eT]jáTT rd¾yûÔá\T

 =
5

10

lÈ uó²>±�� _óq� sÁÖ|�+ýË s��dï     =

kþH�* uó²>±�� _óq� sÁÖ|�+ýË #î_Ôû =

�<�ÝsÁÖ ¿£*d¾ rd�TÅ£�q� eTT¿£Ø\T       =

=
2

10

=
2

10
5

10 =+ 2+5
10 = 7

10

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



112MATHEMATICS CLASS - 4

This is equal to seven tenths   =

Srikari's part is three tenths   =

 Now, observe this :

 Pieces of Sreeja       +                  Sonali                    +          Sreekari

2 pieces 8 pieces=

–

–

=

+=

7
1

7
2

+ =

6
2

6
3

+ = 8
4

8
2

+ =

5
2

5
2

+ =
4
3

4
1

+ =

9
5

9
3

+ =

=  2 + 5 + 3 = 10 Pieces

+

7
10
3

10

Do these

a)

d)

b)

e)

c)

f)

On Sreekari's Birthday, when Sreekari gave two pieces to Sreeja, number of pieces left
with her is 8.

10 pieces

= 1 (whole cake)

Sreekari

SonaliSree
ja

10
10

2
10

10 – 2
10

8

10
=– =

= 2
10

5
10

3
10+ + = 2+ 5 +  3

10
10

= = 1 whole
10
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�|�ð&�T lÈ, kþH�*¿ì ¿£*|¾ eºÌq ¹¿Å£� uó²>·+ R

l¿£] ¹¿¿ù uó²>·+ R

�|�ð&�T |�]o*+#á+&�.

    lÈ uó²>·+    G kþH�* uó²>·+       G l¿£] uó²>·+

�$ #ûjáT+&�

 l¿£] Ôáq |�Ú{ì¼q sÃEH�&�T, lÈ¿ì 2 ¹¿Å£� eTT¿£Ø\T �ºÌq³¢sTTÔû l¿£] <�>·ZsÁ yîTTÔáï+ 8 ¹¿Å£� eTT¿£Ø\T

 $TÐ* �+{²sTT.

10 eTT¿£Ø\T 2 eTT¿£Ø\T 8 eTT¿£Ø\T

n)

�)

�)

�)

�)

})

=

–

–

==

7
10
3

10

+

+=

= 1 (yîTTÔáï+ ¹¿Å£�)

7
1

7
2

+ =

6
2

6
3

+ = 8
4

8
2

+ =

5
2

5
2

+ =
4
3

4
1

+ =

9
5

9
3

+ =

=  2 + 5 + 3 = 10    eTT¿£Ø\T

+

10
10

2
10

10 – 2
10

8

10
=– =

= 2
10

5
10

3
10+ + = 2+ 5 +  3

10
10

= = 1 (yîTTÔáï+)
10
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7
12

5
12 = 9

10
3
10 =

18
20 =11

20

2 2 4 4
11 += = =+ 13 1

2
1
2

Do these

a) b) c)

a) b) c)

Think and discuss

If all the addends as the same in each of the following,  complete the circles.

Excercise - 9.1

a)

b)

c)

d)

e)

f)

1
2

1
2+ =

+ +

+ + +

+ + + +

+ + + + +

+ + ++ + + +

=

=

=

=

=

1

1

1

1

1

1

1
3

1
3

1
3
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�ýËº+#á+&� eT]jáTT #á]Ì+#á+&�.

� ¿ì+~ ç|�Ü ýÉ¿£ØýË� ÿ¹¿ _óH��\T ¿£*|¾q³¢sTTÔû ÿ¹¿ Èy��T ed�Tï+~, e�Ô�ï\ýË� U²°\qT |�P]+#á+&�.

n) �) �)

n) �) �)

�$ #ûjáT+&�

7
12

5
12 = 9

10
3

10 =
18
20 =11

20

2 2 4 4
11 += = =+ 13 1

2
1
2

nuó²«d�+ 9.1

1
2

1
2+ =

+ +

+ + +

+ + + +

+ + + + +

+ + ++ + + +

=

=

=

=

=

1

1

1

1

1

1

1
3

1
3

1
3

n)

�)

�)

�)

�)

})
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3. Do the following.

a) 
2 1
7 7
+ b)  

5 4
11 11

+ c) 
2 1 5

13 13 13
+ +

4. Find the value of  
1 5
3 3
+

5. Do the following Subtractions.

a) 
7 5

12 12
- b)  

5 1
9 9
- c) 

8 7
19 19

-

2.    Do the following additions. One is done for you.

a)

b)

c)

d)

e)

Take three rectangular shapped cordboard strips of the same length and breadth. Divide

each of them into 4 equal parts. Shade 1, 2 and 3 parts of them respectively. So, the shaded

portions represent          and      respectively as shown below.
4
3

4
2  ,

4
1

1
4
–

2
4
–

4
3–

9.8 Comparison of  Like fractions
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2. � ¿ì+~ Å£L&�¿£\qT #ûjáT+&�. ÿ¿£{ì  MT ¿Ãd�+ #ûjáT�&�+~.

3. ¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

  n) 
2 1
7 7
+ �)  

5 4
11 11

+ �) 
2 1 5

13 13 13
+ +

4. 
1 5
3 3
+  jîTT¿£Ø $\Te ¿£qT¿ÃØ+&�.

5. � ¿ì+~ rd¾yûÔá\qT #ûjáT+&�.

  n) 
7 5

12 12
- �)  

5 1
9 9
- �) 

8 7
19 19

-

ÿ¹¿ bõ&�eÚ, yî&�\TÎ eÚq� BsÁé#áÔáTsÁçkÍ¿±sÁ 3 n³¼eTT¿£Ø\qT rd�T¿Ã+&�. ÿ¿=Ø¿£Ø n³¼ eTT¿£ØqT 4 uó²>±\T>±

$uó��+#á+&�. ÿ¿=Ø¿£Ø n³¼eTT¿£ØýË esÁTd�>± 1, 2, 3 uó²>±\Å£� sÁ+>·T yûjáT+&�. n|�ð&�T y�{ì� _óq� sÁÖ|�+ýË

#áÖ|¾q³¢sTTÔû 4
2  ,

4
1

 eT]jáTT 4
3

 >± � ¿ì+~ #áÖ|¾q $<ó�+>± �+{²sTT.

n)

�)

�)

�)

�)

1
4
–

2
4
–

4
3–

9.8  d�C²Ü _óH��\qT bþ\Ì³+
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v Which is greater

Now, take four strips of the same length and breadth. Divide each one of them into 5

equal parts. Shade 1, 2, 3, and 4 parts, so that the shaded portions represent               and

respetively as shown below.

1
4

2
4

3
4<< 3

4
2
4

1
4> >

    From the above figures, it's clear that

1
5

2
5

3
5

4
5

5
3  ,

5
2  ,

5
1

5
4

and

From the above figures, it is clear that.
1
5

2
5

3
5

4
5

< < < 4
5

3
5

2
5

1
5> > >

By observing the above fractions, we conclude that, 'out of the given two fractions with
the same denominator, the fraction with smaller numerator is smaller than the other'. So we
arrange them in ascending or descending order, according to the ascending or descending order
of their numerators.

and

Ascending order Descending order

Try these

3
7

5
7

?

4
6

?
2
6

v Which is smaller

or

or

v Arrange the following fractions in descending order 2
9

1
9

7
9

3
9

5
9

, , , and

9
12

,,, 11
12

5
12

3
12

7
12v Arrange the following fractions in ascending order and

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



119>·DìÔá+ ÔásÁ>·Ü ` 4

     �|Õ _óH��\qT #áÖd¾q|�Ú&�T eTqÅ£� ÿ¿£ $w�jáT+ d�Îw�¼+>± nsÁÆeTeÚÔáT+~.

eT°ß n<û bõ&�eÚ, yî&�\TÎ eÚq� 4 n³¼ eTT¿£Ø\qT rd�TÅ£�� 5 d�eÖq uó²>±\T>± $uó��+#á+&�. esÁTd�>± 1, 2, 3, 4

uó²>±\Å£� sÁ+>·T\T yûd¾, y�{ì� _óq�sÁÖ|�+ýË #áÖ|¾q³¢sTTÔû 5
3  ,

5
2  ,

5
1

 eT]jáTT 5
4

 >± �+{²sTT.

�|Õ ºçÔá+ �<ó�sÁ+>± eTqÅ£� ÿ¿£ $w�jáT+ ne>±V�²q neÚÔáT+~.

�|Õq _óH��\qT |�]o*+ºq ÔásÁTy�Ôá eTqÅ£� ÿ¿£ $w�jáT+ d�Îw�¼+>± ne>±V�²q neÚÔáT+~.

ÿ¹¿ V�äsÁ+>± ¿£*Ðq Âs+&�T _óH��\qT rd�TÅ£�q�³¢sTTÔû @ _óq�+ýË \eeTT ºq�~ nsTTÔû n~ ºq� _óq�+

neÚÔáT+~. eT]jáTT y�{ì \eeTT\ �sÃV�²D, nesÃV�²D ç¿£eT+ �<ó�sÁ+>±Hû eTq+ �sÃV�²D, nesÃV�²D ç¿£eÖ\qT

Å£L&� #î�TÔ�eTT.

� Âs+&�T _óH��\ýË �|<�Ý~ @~?

ºq� _óq�+ @~?

_óH��\qT nesÃV�²D ç¿£eT+ýË s�jáT+&�.

_óH��\qT �sÃV�²D ç¿£eT+ýË s�jáT+&�.

ýñ¿£

ýñ¿£

eT]jáTT

eT]jáTT

ç|�jáTÜ�+#á+&�

1
5

2
5

3
5

4
5

5
7

3
7

2
6

4
6

?

?

1
9

7
9

3
9

5
9

2
9

, , ,

,,, 9
12

11
12

5
12

3
12

7
12v

v

v

v

eT]jáTT
1
4

2
4

3
4<< 3

4
2
4

1
4> >

eT]jáTT

�sÃV�²D ç¿£eT+ nesÃV�²D ç¿£eT+

1
5

2
5

3
5

4
5

4
5

3
5

2
5

1
5> > >< < <

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



120MATHEMATICS CLASS - 4

1. Write the correct symbol > or < in the given boxes.

a)                                             b)

c)                                             d)

a)                                             b)

a)                                             b)

a)                                                         b)

a)                                                         b)

a)                                                         b)

In our daily life we come across many situations where we share whole object works
among two or three or many for instance.

a) A pizza may be shared among three.
b) Four fruits used for making juice for 5 people.
c) Constructing a wall by more than 2 people.
In all such cases we apply the concept of fractions in our daily life.

Exercise - 9.2

2. Encircle the smallest fraction.

3. Encircle the greatest fraction.

4. Shade the following figures as per the given fraction and then compare.

5. Arrange the following in ascending order.

6. Arrange the following in descending order.

9.9 Applications of fractions in daily life

2 4
8 8

3 8
10 10

5 6
7 7

23 21
25 25

7 3 1 5 8
8 8 8 8 8

7 3 5 11 9
12 12 12 12 12

3 4 1 2 5
5 5 5 5 5

17 5 20 10 9
21 21 21 21 12

2 5
6 6

4 6
8 8

4 2 5 1 7
9 9 9 9 9

4 2 3 5 1
7 7 7 7 7

14 4 21 15 2
27 27 27 27 27

2 4 3 6 1 5
7 7 7 7 7 7

, , , ,

, , , ,, , , ,

, , , , ,

, , , ,

, , , , , , , ,

, , , ,
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nuó²«d�+ 9.2

eTq+ �Ôá« J$Ôá+ýË nHû¿£ d�+|��T³q\qT #áÖd�Tï+{²eTT. eTq+ nHû¿£ ed�TïeÚ\qT ýñ<� |�qT\qT �<�ÝsÁÅ£� ýñ¿£

eTT>·TZsÁÅ£� ýñ¿£ nHû¿£ eT+~¿ì |�+#áTÔáT+{²eTT.

n)  ÿ¿£ |¾C²¨qT �<�ÝsÁT ýñ<� eTT>·TZsÁT |�+#áT¿Ãe³+.

�)  4 |�+&�¢ÔÃ p«dt #ûd¾, 5 >·T]¿ì |�+#á³+.

�)  �<�ÝsÁT ¿£H�� mÅ£�Øe eT+~ ¿£*d¾ ÿ¿£ >Ã&�qT �]�+#á³+.

�ý²+{ì nHû¿£ d�+<�s�ÒÛ\ýË eTq+ _óH��\qT $�jîÖÐd�Öï �+{²eTT.

n)

�)

�)

�)

n) n)

n) n)

n) n)

n) n)

n) n)

1. d�ÂsÕq >·TsÁTï > ýñ<� < qT �|fÉ¼ýË �+#á+&�.

2. ºq� _óH���¿ì d�Tq� #áT³¼+&�.

3. �|<�Ý _óH���¿ì d�Tq� #áT³¼+&�.

4 ¿ì+~ �ºÌq _óH��\Å£� nqT>·TD+>± u¤eT�\Å£� sÁ+>·T\T yûjáT+&�, d�ÂsÕq >·TsÁTï\qT|�jîÖÐ+º, bþ\Ì+&�.

5. ¿ì+~ _óH��\qT �sÃV�²D ç¿£eT+ýË neTsÁÌ+&�.

6. ¿ì+~ _óH��\qT nesÃV�²D ç¿£eT+ýË neTsÁÌ+&�.

9.9 _óH��\qT �Ôá« J$Ô��¿ì nqÇsTT+#á³+ :

2 4
8 8

3 8
10 10

5 6
7 7

23 21
25 25

7 3 1 5 8
8 8 8 8 8

7 3 5 11 9
12 12 12 12 12

3 4 1 2 5
5 5 5 5 5

17 5 20 10 9
21 21 21 21 12

2 5
6 6

4 6
8 8

4 2 5 1 7
9 9 9 9 9

4 2 3 5 1
7 7 7 7 7

14 4 21 15 2
27 27 27 27 27

2 4 3 6 1 5
7 7 7 7 7 7

, , , ,

, , , ,, , , ,

, , , , ,

, , , , , , , ,

, , , , , , , ,
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whole whole

wholewhole

whole

whole

1) Arya adds      litres of apple juice to      litres of orange juice to make a fruit punch. How

many litres of fruit punch does he have now?

2) A piece of ribbon (of length)    was cut from a ribbon (of length)     units. What is the

length of the remaining ribbon?

3) If  Raman ate      of a pizza and Jagan ate      of another pizza of same size, then how

much more pizza did Raman eat than Jagan ?

4) A scooter tank has      litres of petrol.  Prasad rides around for some time and notices that

the petrol level has come down to 3
1  litres. How much petrol does he use for riding

around?

5) Jamal covered  
5
1 th of this journey to school and suddenly he realized that he had

forgotten to bring his maths book. So, he walked back and returned to school in time.

What is the extra distance he walked than usual?

7
4

7
2

5
9

2
9

10
9

10
6

3
2

Exercise - 9.3
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nuó²«d�eTT ` 9.3

1. �sÁ« ç|��P{Ù |�+#Y ÔájáÖsÁT#ûjáT{²�¿ì 7
4

 ©. �|¾ýÙ p«dt�, 7
2

 ©. �Âs+CÙ p«dt� ¿£*bÍ&�T. nÔá� e<�Ý �|�ð&�T m��

©³sÁ¢ ç|��P{Ù |�+#Y �q�~?

2. 9
5
 jáTÖ�{Ù\T bõ&�eÚ ¿£*Ðq ]�ÒH� qT+&� 9

2
 jáTÖ�³¢ bõ&�eÚ >·\ ]�ÒH� eTT¿£ØqT eTq+ ¿£Üï]+ºq³¢sTTÔû $TÐ*q

]�ÒH� m�� jáTÖ�³¢ bõ&�eÚ �q�~?

3. sÁeTD ÿ¿£ |¾C²¨ qT+&� 10
9

 uó²>·+ ÜH��&�T. È>·H� n+Ôû �dÕE >·\ eTsÃ |¾C²̈ qT+&� 10
6

 uó²>·+ ÜH��&�T. nsTTÔû sÁeTD,

È>·H� ¿£H�� m+Ôá mÅ£�Øe |¾C²̈ ÜH��&�T?

4. ÿ¿£ d�ÖØ³sY {²«+Å£�ýË 3
2

 ©. �|ç{Ë\T �q�~. ç|�kÍ<� ¿=+Ôá <�ÖsÁ+ d�ÖØ³sY q&�|¾, �|ç{ËýÙ {²«+¿ù #áÖ&�>±

3
1

 ©. �|ç{Ë\T �q�~. nsTTÔû ç|�kÍ<� m�� ©³sÁ¢ �|ç{Ë\T �|�jîÖÐ+#�&�T?

5. ÈeÖýÙ Ôáq d�ÖØ\TÅ£� yîÞâß <�ÖsÁ+ýË 5
1

 e+ÔáT q&�#�¿£, ýÉ¿£Ø\ |�Úd�ï¿£+ eTsÁº bþjáÖqT nHû $w�jáT+ >·TsÁTïÅ£� eºÌ

�+{ì¿ì yî[ß |�Úd�ï¿£+ rd�TÅ£��, eTsÁý² d�ÖØ\TÅ£� yîÞ²ß&�T. nsTTÔû nÔáqT m+Ôá mÅ£�Øe <�ÖsÁ+ q&�#�&�T?

yîTTÔáï+

yîTTÔáï+

yîTTÔáï+

yîTTÔáï+ yîTTÔáï+

yîTTÔáï+
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1) What should be placed in the blank space so that the sum of the fractions along each
side of the triangle is same?

1
15

9
15

1
15

2
15

1
15

?

3
10

5
10

1
10

2
10

Lab Activity
Take 3 circular card boards. Form the like fraction with different denominators show that
all the addends are the same and the sum is equal to 1.

Fun Activity

a)

a)

Half a cake is as tasty as a full cake, but half a 10 rupees note

is of no use. Find three things that can be used if you make them in

to halves and three things that cannot be used if you make into

halves.

PROJECT WORK

1
2

1
2 =    1 =    1

1
3

1
3

1
3

=    1

1
4

1
4

1
4

1
4
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ç|�jîÖ>·¿£�Ôá«+

3 e�Ô�ï¿±sÁ ¿±sÁT¦uËsÁT¦\qT rd�T¿Ã+&�. yûsÁTyûsÁT V�äs�\T >·\ d�C²Ü _óH��\T>± y�{ì� $uó��+º, y�{ì uó²>±\T

¿£*|¾q³¢sTTÔû y�{ì yîTTÔáïeTT m|�ð&�Ö 1 neÚÔáT+~ n� #áÖ|�+&�.

d�sÁ<�¿£�Ôá«+

1. U²°\qT |�P]+#á+&�. eT]jáTT çÜuó�TC²¿±sÁ+ýË @ uó�TÈ+ yîÕ|�Ú Å£L&�q ÿ¹¿ d�eÖ<ó�q+ s�y�*.

çbÍCÉÅ£�¼ |��

eTq+ ÿ¿£ ¹¿Å£�qT d�>·+ #ûd¾ Ü+fñ, |�P]ï ¹¿Å£� ý²>± sÁTº>± �+³T+~. nsTTÔû ÿ¿£

|�~ sÁÖbÍjáT\ HÃ³TqT d�>·+ #ûd¾q³¢sTTÔû n~ eTqÅ£� �|�jîÖ>·|�&�<�T. @<îÕH� ed�TïeÚqT

d�>·+ #ûd¾q³¢sTTÔû �|�jîÖ>·|�&û$, d�>·+ #ûd¾q³¢sTTÔû �|�jîÖ>·|�&�� ed�TïeÚ\ C²_Ô�qT eTÖ&ûd¾

ed�TïeÚ\ #=|�ðq ÔájáÖsÁT#ûjáT+&�.

n)

�)

1
15

9
15

1
15

2
15

1
15

?

3
10

5
10

1
10

2
10

1
2

1
2 =    1 =    1

1
3

1
3

1
3

=    1

1
4

1
4

1
4

1
4

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



126MATHEMATICS CLASS - 4

Measurements 10

D What do you observe in the above picture?

D How much length of the cloth did Kamala ask ?

D What is the measuring instrument used by the shopkeeper?

D How many times did he measure for 1 metre of cloth?

D He measured for two times, is it equal to one metre?

Chapter

Measurements

On the occasion of

"Ganganamma jathara" Meera

went to cloth shop with her

mother Kamala to buy new

clothes. Kamala asked the

shopkeeper to give 1 meter

length of cloth for Meera.

Shopkeeper measured with a 50

cm 'measuring scale'  for two

times.

10.1  Length
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¿=\Ôá\T
n<ó�«jáT+

10
10.1 bõ&�eÚ

>·+>±qeT� C²ÔásÁ d�+<�sÁÒÛ+>±

MTs� Ôáq Ôá*¢ ¿£eT\ÔÃ ¿£*d¾ �³¼\

<�T¿±D²�¿ì ¿=Ô á ï �³ ¼\T ¿=qT>Ã\T

#ûjáTT³Å £�  y î[ß+~. MTs� ¿=s ÁÅ £ �

<�T¿±D<�sÁTDì� 1 MT³sÁT bõ&�eÚ >·\ �³¼

¿±y�\� ¿£eT\ n&�Ð+~. <�T¿±D<�sÁT&�T

50 �d+{¡MT³sÁT bõ&�eÚ >·\ »¿=\�<�ÝµÔÃ

Âs+&�TkÍsÁT¢ �³¼qT ¿=*º, �ºÌH�&�T.

D �|Õ ºçÔá+ýË úeÚ @$T >·eT�+#�eÚ?

D m+Ôá bõ&�eÚ >·\ �³¼ ¿±y�\� ¿£eT\ n&�Ð+~?

D <�T¿±D<�sÁT&�T �³¼qT ¿=\e&��¿ì @ |�]¿£s��� �|�jîÖÐ+#�&�T?

D 1 MT³sÁT bõ&�eÚqT ¿=\e&��¿ì ¿=\�<�ÝÔÃ m�� kÍsÁT¢ ¿=*#�&�T?

D nÔáqT Âs+&�T kÍsÁT¢ ¿=*#�&�T. �~ 1 MT³sÁTÅ£� d�eÖqyûTH�?
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The relationship between Metres and Centimetres :
Observe the above measuring tape and count the number of divisions / graduations on it.

We observe that :

One metre is divided into 100 equal parts. Each part is called a centimetre.

So, 1 metre = 100 centimetres, and vice versa. 100 cm = 1m

While converting metres into centimetres we have to multiply with 100.

Example - 1

  9 m  =  9  × 100 cm  =   900 cm

50 m  = 50 ×  100 cm  =   5000 cm

To convert centimetres into metres we divide the given centimetres by 100.
Example - 2

754 cm = 700 cm + 54 cm

= 7 × 100 cm + 54 cm

= 7 × 1  m + 54 cm

= 7 m + 54 cm

= 7 m  54 cm

Make the students into 4 groups. Provide  1m thread to each group. Ask each group to
cut the given thread into possible equal parts as given in the table and complete the table.

Length of
the thread

Length of
each piece

Number of
pieces made

Length of each piece ×
 Number of pieces made

1m 10 cm  10 cm   × _____= _____cm

1m 20 cm ___ cm × ____ =_____cm

1m 25 cm ___ cm × ____ =_____cm

1m 50 cm ___ cm × ____ =_____cm

10 100

Activity

   What do you observe ?
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MT³sÁT eT]jáTT �d+{¡ MT³sÁ¢ eT<ó�« d�+�+<ó�eTT.

bõ&�eÚ\qT ¿=\e&��¿ì �|�jîÖÐ+#û fñ|�ÚqT |�]o*+º, <��ýË� uó²>±\T/ >·TsÁTï\T ýÉ¿ìØ+#á+&�.

|�]o\H�+Xæ\T:

     1 MT³sÁT 100 d�eÖq uó²>±\T>± $uó��+#á�&�+~. ÿ¿=Ø¿£Ø uó²>±�� 1  �d+{¡MT³sÁT n+{²sÁT. ¿±�{ì¼

           1 MT³sÁT R 100 �d+{¡MT³sÁT¢. �<û $<ó�+>± 100  �d+{¡MT³sÁT R1 MT³sÁT neÚÔáT+~..

MT³sÁ¢qT �d+{¡MT³sÁ¢ýË¿ì eÖs�Ì\+fñ �ºÌq MT³sÁ¢qT 100 #û >·TDì+#�*.

�<�V�²sÁD ` 1

9 MT.   R 9 I 100 �d+. MT. R 900 �d+. MT.

50 MT. R 50 I 100 �d+. MT. R 5000 �d+. MT.

�d+{¡MT³sÁ¢qT, MT³sÁ¢ýË�¿ì eÖs�Ì\+fñ �ºÌq �d+{¡MT³sÁ¢qT 100 #û uó²Ð+#�*.

�<�V�²sÁD ` 2

$<�«sÁTÆ\qT 4 ç>·Ö|�Ú\T>± #ûjáT+&�, ÿ¿=Ø¿£Ø ç>·Ö|�ÚÅ£� 1 MT. Ô�&�T �eÇ+&�. ÿ¿=Ø¿£Ø ç>·Ö|�ÚqT y�]¿ì �eÇ�&�q ¿=\Ôá

ç|�¿±sÁeTT d�eÖq uó²>±\T>± ¿£Üï]+º, <�� ç|�¿±sÁ+ ¿ì+~ |�{ì¼¿£qT |�P]+#á+&�.

Ô�&�T bõ&�eÚ ÿ¿£ uó²>·+ uó²>±\ d�+K« uó²>·+bõ&�eÚ I

 bõ&�eÚ uó²>±\ d�+K«

1 MT. 10 �d+. MT.    10 �d+.MT. I......R........�d+.MT.

1 MT. 20 �d+. MT.  ...... �d+.MT. I......R.....�d+.MT.

1 MT. 25 �d+. MT. ...... �d+.MT. I......R.....�d+.MT.

1 MT. 50 �d+. MT. ...... �d+.MT. I......R.....�d+.MT.

754 �d+.MT. R 700 �d+.MT. G 54 �d+.MT.

R 7 I 100 �d+.MT. G 54 �d+.MT.

R 7 I 1 MT. G 54 �d+.MT.

R 7 MT.  G 54 �d+.MT.

R 7 MT. 54 �d+.MT.

¿£�Ôá«+

MTsÁT @$T >·eT�+#�sÁT ?

10 100
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     Which is longer?

Length 175 cm
Wall - B

Length 3 m
Wall - A

Which is longer?
3m or 175cm?

Which wall is longer? A or B?
To compare the values of lengths we have
to convert them into same units.

3 m = 3 × 100 =  300 cm
   as 300 cm     > 175 cm
therefore 3 m   > 175 cm

Though 3 < 175.
We can't say

wall A < wall B
As, they are
expressed in

different units.

Example - 3
Fill in the blanks with the suitable symbols <, > or =
(After converting them into the same units)
a) 5 m ____ 610 cm
b) 8 m 41 cm ____ 841 cm
c) 15 m 50 cm ____ 1250 cm

Exercise - 1

1. Convert the following  into centimetres:

a) 18 m   = 18 × ________ cm  = ___________  cm

b) 100 m  = 100 × _______ cm =  ___________ cm
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@~ bõ&�yîÕ+~?

�<�V�²sÁD ` 3

¿ì+~ U²°\qT d�ÂsÕq >·TsÁTï\ÔÃ ( , , )< > =  |�P]+|�ÚeTT.

n) 5 MT. ......610 �d+.MT

�) 8 MT. 41 �d+.MT. ...........841 �d+.MT.

�) 1 MT. 50 �d+.MT. .........1250 �d+.MT.

>Ã&� A eT]jáTT >Ã&� B \ýË @~ bõ&�yîÕ+~?

bõ&�eÚ\ $\Te\qT bþý²Ì\+fñ, y�{ì� ÿ¹¿

ç|�eÖD+ýË�¿ì eÖs�Ì*.

¿±�{ì¼ 3 MT. R 3 I 100 �d+.MT R 300 �d+.MT.

300 �d+.MT >175 �d+.MT.

n+<�T#ûÔá 3 MT. >175 �d+.MT.

nq>± >Ã&� A, >Ã&� B ¿£+fñ bõ&�yîÕ+~.

bõ&�eÚ 3 MT.

>Ã&� ̀  A

bõ&�eÚ 175 �d+.MT.

>Ã&� ` B

3 MT.,

175 �d+.MT.\ýË

@~ mÅ£�Øe bõ&�eÚ?

>Ã&� bõ&�eÚ\T yûsÁTyûsÁT

ç|�eÖD²\ýË �+&�T³ e\q

3 < 175 nsTTq|�Î{ì¿¡

>Ã&� A < >Ã&� B
n� #î|�ÎýñeTT.

3 MT, 175 �d+.MT

 \ýË @~ bõ&�yîÕq~?

  1. MT³sÁ¢qT, �d+{¡MT³sÁ¢ýË¿ì eÖsÁÌ+&�.

n) 18 MT. R 18 I .......�d+.MT. R........�d+.MT.

�) 100 MT. R 100 I.......�d+.MT. R ........�d+.MT.

nuó²«d�+ ` 1
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Word problems on Addition & Subtraction:

Example - 4

Mastan built a 2m 20 cm length of wall in the morning and 1 m 90cm

in the afternoon. What is the total length of the wall built by Mastan?

Solution:

Step - 1

Length of the wall built in the morning

Lentth of the wall built in the afternoon.

c) 17 m 25 cm = 17 × ____ cm + _____ cm = _____ cm + _____ cm  = _____ cm
d) 45 m 75 cm = 45 × ____ cm + _____ cm = _____ cm + _____ cm  = _____ cm

2. Convert centimetres into metres and centimetres.
a)   269 cm = _____ b)    693 cm =_____   c)    703 cm = _____   d)    400 cm =  ______

3. Match the following :

2 m 5000 cm
2 m 5 cm 200 cm
8 m 90 cm 2500 cm
25 m 205 cm
50 m 890 cm

Can you cut a rope of length 1 m into 4 equal pieces without measuring it?  How?

Think and discuss

1

2 20

90

1 10 (110 cm  = 100 cm + 10 cm
                       = 1 m + 10 cm)

=

=

=

m     cm

   4  Fill in the blanks with suitable symbol (>, =, <).
   a)   4m 90cm              480 cm b)   67 m              680 cm

   c)   75 m          7500 cm d)   80 m             9000 cm
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�)  17 MT. 25�d+.MT. R 17 I.......�d+.MT.G........�d+.MT. R.....�d+.MT.G........�d+.MT. R......�d+.MT.

�) 45 MT. 75 �d+.MT. R 45 I ...�d+.MT. G ......�d+.MT.  R ....�d+.MT.G.......�d+.MT.  R..... �d+.MT.

2. ¿ì+<� �eÇ�&�q �d+{¡MT³sÁ¢qT, MT³sÁ¢ýË�¿ì eÖsÁÌ+&�.

n) 269 �d+.MT. R ....... �) 693 �d+.MT.  R .......  �) 703 �d+.MT. R .......    �) 400 �d+.MT. R .......

3. ¿ì+~ y�{ì� ÈÔá|�sÁÌ+&�.

2 MT. 5000 �d+.MT.

2 MT. 5 �d+.MT. 200 �d+.MT.

8 MT. 90 �d+.MT. 2500 �d+.MT.

25 MT. 205 �d+.MT.

50 MT. 890 �d+.MT.

4. ¿ì+~ U²°\qT d�ÂsÕq >·TsÁTï\ (>, =, <) ÔÃ |�P]+#á+&�.

n) 4 MT. 90 �d+.MT. 480 �d+.MT. �) 67 MT.       680 MT.

�) 75 MT.           7500 �d+.MT. �) 80 MT.       9000 �d+.MT.

�ýËº+#áT eT]jáTT #á]Ì+#áT.

1 MT. bõ&�eÚ >·\ Ô�&�TqT ¿=\eÅ£�+&� 4 d�eÖq uó²>±\T>± #ûjáT>·\y�? mý²?

Å£L&�¿£ eT]jáTT rd¾yûÔá\Å£� d�+�+~ó+ºq d�eTd�«\T.

�<�V�²sÁD : 4

eTkÍïH� �<�jáT+ |�P³ 2 MT. 20�d+.MT., kÍjáT+çÔá+ |�P³ 1 MT. 90�d+.MT.

bõ&�eÚ >·\ >Ã&�qT ¿£{ì¼H�&�T. nsTTÔû eTkÍïH� ¿£{ì¼q yîTTÔáï+ >Ã&� bõ&�yî+Ôá?

kÍ<ó�q :

kþbÍq+ : 1

�<�jáT+ ¿£{ì¼q >Ã&� bõ&�eÚ

kÍjáT+çÔá+ ¿£{ì¼q >Ã&� bõ&�eÚ

MT.  �d+.MT.

(110 �d+.MT. R 100 �d+.MT. G 10 �d+.MT.

R 1 MT. G 10 �d+.MT.)

1

2 20

90

1 10

=

=

=
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Example - 5

     1

R 2 20

R 1 90

R 4 10

If Masthan wants to build a 10m length of wall
and he has completed 4m10cm of wall, how
much more has he got to build?

The length of wall to be built by Masthan
Total length of wall built
Balance length of wall to be built

Step - 2

m   cm

=  4 m   10 cm

Steps to follow
1. Add cm and convert them into meters. (20 cm + 90 cm = 110 cm = 1m + 10 cm)
2. Carry forward 1m to metres place. Add metres (2m + 1m + 1m = 4m)
3. Write the final answer. (4m + 10 cm = 4m 10cm).

m        cm

=          5m  90 cm
Steps to follow
1. To subtract 10 cm from 0 cm, we exchange 1m for 100 cm. Then there exists 9 in metres place.

2. Now subtract 10 cm from 1 metre that is 100 cm.
3. Subtract 4 m from 9 m.

1. Do the following.

a)    m      cm           b)      m      cm             c)      m     cm              d)     m     cm
    25       15

+ 13       20

    25       90

 + 85       14

      39      00

  + 46      75

      85      75

  + 14       36

Exercise - 10.1
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kþbÍq+ : 2

kþbÍq ç¿£eT+:

1. yîTT<�³ �d+{¡ MT³sÁ¢qT Å£L&� MT³sÁ¢ýË¿ì eÖs�Ì*. (20 �d+.MT. G90 �d+.MT. R 110 �d+.MT. R 1 MT.G 10�d+. MT)

2. 1 MT. qT MT³sÁ¢ kÍ�q+ýË¿ì s�d¾, n��+{ì� Å£L&�*. (2MT G 1 MT G 1 MT R 4 MT)

3. ºe] d�eÖ<ó�q+ s�jáÖ* (4 MT G 10 �d+ MT R 4 MT. 10 �d+. MT)

�<�V�²sÁD : 5

ÿ¿£ yûÞø eTkÍïH� 10 MT. >Ã&�qT ¿£{²¼\qTÅ£�� 4 MT. 10 �d+ MT >Ã&� |�P]ï #ûd¾q³¢sTTÔû, �+¿£qÖ m+Ôá bõ&�eÚ >·\ >Ã&�qT ¿£{²¼*?

     1

R 2 20

R 1 90

R 4 10 R 4 MT. 10 �d+.MT.

MT  �d+.MT

 kþbÍq ç¿£eT+

1. »0µ �d+.MT. \ qT+&� 10 �d+.MT. \qT rd¾yûjáTýñeTT. ¿±eÚq MT³sÁT kÍ�q+ qT+&� 1 MT³sYqT 100  �d+.MT.

\T>± eÖs�Ì*. MT³sÁ¢ kÍÆq+ýË 9 $T>·T\TÔáT+~.

2. �|�ð&�T 1 MT. nq>± 100 �d+.MT. \ qT+&� 10 �d+.MT. \qT rd¾yûjáÖ*.

3. 9 MT. \ qT+&� 4 MT. \qT rd¾yûjáÖ*.

               nuó²«d�+ ` 10.1

   1. ¿ì+~ y�{ì� #ûjáT+&�.

MT.    �d+.MTMT.     �d+.MT MT.     �d+.MT MT.   �d+.MTn) �) �) �)

    25       15

+ 13       20

    25       90

 + 85       14

      39      00

  + 46      75

      85      75

  + 14       36

¿£³¼e\d¾q >Ã&� bõ&�eÚ 5 MT. 90 �d+.MT.

MT. �d+. MT.

eTkÍïH� ¿£{²¼\qTÅ£�q� >Ã&� bõ&�eÚ

  eTkÍïH� ¿£{ì¼q >Ã&� bõ&�eÚ
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  2. Do the following.

a) 10 m  55  cm + 65 m 65 cm b) 98 m 50 cm + 115 m 45 cm

c) 684 m + 225 m 80 cm d) 60 m 45 cm + 85 m 28 cm

  3. Do the following.
a)    m      cm           b)      m      cm             c)      m     cm              d)     m     cm

    96       25

– 25       75

    84       18

 – 36       50

      85      00

  –  74      80

      35      14

  – 34       29

 4. Do the following.

a) 75 m 85 cm – 10 m 30 cm   b)   69 m 50 cm – 25 m 60 cm  c) 95 m – 88 m 40 cm

 5. Radha's elder son needs 1m 80 cm of cloth where as younger son needs 1 m 60 cm of cloth

for their shirts. How much length of cloth is needed for them?

 6. The length of a flower bed is 20 m 50 cm. Jaya dug a length of 8 m 50 cm. Then still how

much length of the flower bed is to be dug?

 7. Balamma is works in a handloom industry. She spin the yarn of length 720 m 50 cm and 850

m 30 cm on successive days. How much yarn had she spun in both the days?

 8. If two ropes of length 10 m 50 cm and 9 m 60 cm are tied together, then what is the length of

the rope so formed ? (approximately).

 9. Narayana can make 60 m thread in one day. If he completes 36 m 50 cm by the afternoon,

how much length of thread is to be made by him?

Project Work

Make an improvised metre scale using a card board, measuring tape, white paper, fevicol

and exhibit it in your class.
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2. ¿ì+~ y�{ì� #ûjáT+&�.

n) 10 MT. 55 �d+.MT. G 65 MT. 65 �d+.MT. �) 98 MT.50 �d+.MT. G 115 MT.45 �d+.MT.

�) 684 MT. G 225 MT. 80 �d+.MT. �) 60 MT. 45 �d+.MT.G 85 MT. 28 �d+.MT.

3. ¿ì+~ y�{ì� #ûjáT+&�.

4. ¿ì+~ y�{ì� #ûjáT+&�.

n) 75 MT. 85 �d+.MT. ` 10 MT. 30 �d+.MT.

�) 69 MT. 50 �d+.MT.` 25 MT. 60 �d+.MT.

�) 95 MT. ` 88 MT. 40 �d+.MT.

5. #=¿±Ø\T Å£�{ì¼+#áT¿Ãe&��¿ì s�<ó� �|<�Ý Å£�eÖsÁT�¿ì 1 MT. 80 �d+.MT., ºq� Å£�eÖsÁT�¿ì 1 MT. 60 �d+.MT.\ bõ&�eÚ\T

¿£*Zq �³¼ ned�sÁ+. y�]<�Ý]¿ì ¿£*|¾ m+Ôá bõ&�eÚ >·\ �³¼ ned�sÁ+ neÚÔáT+~?

6. ÿ¿£ |�PÔÃ³ bõ&�eÚ 20 MT. 50 �d+.MT. n+<�TýË 8 MT. 50 �d+.MT. bõ&�eÚqT ÈjáT Ôá$Ç+~. nsTTÔû �yîT �+¿± m+Ôá

bõ&�eÚ Ôáy�Ç* ?

7. u²\eT� #ûHûÔá |�]çXøeTýË |��#ûd�Tï+~. �yîT esÁTd�>± Âs+&�T sÃE\ýË 720 MT. 50 �d+.MT. eT]jáTT 850 MT. 30

�d+.MT. bõ&�eÚ\T >·\ <�s��� e&�¿ì+~. � Âs+&�T sÃE\ýË �yîT e&�¿ìq yîTTÔáï+ <�sÁ+ bõ&�yî+Ôá?

8. 10 MT.50 �d+.MT. eT]jáTT 9 MT. 60 �d+.MT. bõ&�eÚ >·\ Âs+&�T Ô�ÞøßqT ¿£*|¾ ÿ¹¿ bõ&�yîÕq Ô�&�T>± ÔájáÖsÁT #û�dï,

d�TeÖsÁT>± m+Ôá bõ&�eÚ >·\ Ô�&�T ÔájáÖsÁeÚÔáT+~?

9. H�s�jáTD ÿ¿£ sÃEýË 60 MT. Ô�&�T ÔájáÖsÁT#ûjáT>·\&�T. eT<ó�«V�ä��¿ì 35 MT. 50 �d+.MT. Ô�&�T ÔájáÖsÁT #ûd¾q, �+¿±

m+Ôá bõ&�eÚ >·\ Ô�&�T ÔájáÖsÁT#ûjáÖ* ?

çbÍCÉ¿ù¼ |��

¿±sY¦ uËsY¦, fñ|�Ú, Ôî\¢¿±ÐÔá+, �|�$¿±ýÙ yîTT<�ýÉÕq$ �|�jîÖÐ+º MT³sÁT �dØ\TqT ÔájáÖsÁT#ûjáT+&�. eT]jáTT <��� MT

ÔásÁ>·Ü >·~ýË ç|�<�]ô+#á+&�.

n) �) �) �)  MT.    �d+.MT.

  96 25

` 25 75

  MT.    �d+.MT.

  84 18

` 36 50

  MT.    �d+.MT.

  35 14

` 34 29

  MT.    �d+.MT.

  85 00

` 74 80
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10.2  Weight

Rani went to Anjaiah's grocery shop to buy 1 kg of jaggery. Anjaiah measured the jaggery
using a weighing pan. He used two 500 g measuring units as there is no 1 kg measuring unit.

k What do you observe in the picture?

k What did Rani want to buy? How
much did she want to buy?

k How many weighing stones did
Anjaiah use to weigh the jaggery?

k What is labelled on the weights?
How much does each weigh?

k Read the weight in the left pan.

k What weights did Anjaiah use to
measure 1kg?

k Are those weights equal to 1kg?

Relation between kilogram and gram:
Ask the students to observe the following. Put 1kg

weight on the left pan of weighing machine. Put different
weights on the right pan to make both pans equal.
Observe them to identify the total weight as 1000 grams.

Therefore 1kg = 1000 g and vice versa  1000 g = 1kg
To convert kilograms into grams we have to multiply with 1000

Convert 8 kilograms into grams Convert 2864 grams into kilograms
and grams

Example - 1 Example - 2

8 kg = 8 × 1000g
        = 8000g                            2864 grams = 2000 g + 864 g

   = 2 × 1000 g + 864 g

   = 2 × 1 kg + 864 g
   = 2kg + 864 g
   = 2 kg 864 g
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10.2  �sÁTeÚ

n+ÈjáT« |�#�] cÍ|�Ú¿ì s�Dì yî[ß 1 ¿ì.ç>±. uÉ\¢+ ¿±y�\� n&�Ð+~. n+ÈjáT« uÉý²¢�� ÔáÖ#á&��¿ì kÍ<ó�sÁD çÔ�d�TqT

�|�jîÖÐ+º, 1 ¿ìýËç>±eTT s�sTT ýñ¿£bþe&�+ e\q Âs+&�T 500 ç>±eTT\ s�ÞøßqT �|�jîÖÐ+º, ÔáÖ#�&�T.

k �|Õ ºçÔá+ýË úeÚ @$T >·eT�+#�eÚ?

k s�Dì @$T ¿=H�\qTÅ£�q�~? m+Ôá |�]eÖD+ýË

¿=H�\qTÅ£�q�~?

k uÉý²¢�� ÔáÖ#á&��¿ì n+ÈjáT« m�� ÔáÖ�¿£ s�ÞøßqT

�|�jîÖÐ+#�&�T?

k ÔáÖ�¿£s�Þøß�|Õ @$T >·T]ï+#á�&� �q�$. ç|�Ü s�sTT m+Ôá

�sÁTeÚ �+~?

k çÔ�d�TýË m&�eT #ûÜ yîÕ|�Úq >·\ |�Þèß+ýË s�Þøß �sÁTeÚqT

ýÉ¿ìØ+#á+&�.

k 1 ¿ìýËç>±eTT �sÁTeÚqT ¿=\e&��¿ì n+ÈjáT«

�|�jîÖÐ+ºq ÔáÖ�¿£ s�Þø�ß @$?

k � ÔáÖ�¿£ s�Þøß yîTTÔáï+ �sÁTeÚ 1 ¿ìýËç>±eTTqÅ£�

d�eÖqyûTH� ?

¿ìýË ç>±eTT eT]jáTT ç>±eTT\ eT<ó�« d�+�+<ó�eTT :

$<�«sÁTÆ\qT ¿ì+~ y�{ì� |�]o*+#áeTq+&�. çÔ�d�TýË� m&�eTyîÕ|�Ú |�Þèß+ýË

1 ¿ì.ç>±. �sÁTeÚqT �+#á+&�. $$<ó� sÁ¿±\ �sÁTeÚ\qT Å£�&�yîÕ|�Ú |�Þèß+ýË yûd�Öï Âs+&�T

yîÕ|�Úý² �sÁTeÚqT d�eÖq+ #ûjáT+&�. y�{ì� |�]o*+#á>±, y�{ì yîTTÔáï+ �sÁTeÚ 1000 ç>±.

n+<�Te\q 1 ¿ì.ç>±. R 1000 ç>±. n<û $<ó�+>± 1000 ç>±eTT\T R  1 ¿ì.ç>±.

¿ìýËç>±eTT\qT ç>±eTTýË¿ì  eÖs�Ì\+fñ ¿ì.ç>±. \ d�+K«qT 1000 #û >·TDì+#�*.

�<�V�²sÁD ̀  2

2864 ç>±eTT\qT ¿ìýËç>±eTT\ýË�¿ì eÖsÁÌ+&�.

2864 ç>±eTT\T R 2000 ç>±.  G 864 ç>±.

R 2 I 1000 ç>±.G 864 ç>±.

R 2 I 1 ¿ì.ç>±.G 864 ç>±.

R 2 ¿ì.ç>±.G 864 ç>±.

R 2 ¿ì.ç>±. 864 ç>±.

�<�V�²sÁD ̀  1

8 ¿ì.ç>±.qT ç>±eTT\ýË�¿ì eÖsÁÌ+&�.

8 ¿ìýËç>±eTT\T

      R 8 I 1000 ç>±eTT\T

R 8000 ç>±eTT\T
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5 kg 500 g

Which is heavier ?

Which weighs more? Is 5kg? or 500 grams? When we compare two weights, we have to
convert them into same units.

5 kg = 5 x 1000 g = 5000 g
as 5000 g > 500 g
so, 5 kg > 500 g

Do these

1. Convert the following into grams
a) 5 kg             = 5 × 1000 grams =  ________ grams
b) 15 kg          = 15 ×_____ grams = ______grams
c) 7 kg 250 g   = ___ ×_____ g + _____ g = _____ g + ____ g = ____ g
d) 55 kg 500 g = ___ ×_____ g + _____ g = _____ g + ____ g = ____ g

2.    Convert grams into kilograms
a)    2680 grams      b)   7455 grams        c)    4000 grams         d)     8050 grams

3.    Suggest the suitable symbol  in the provided space. ( <, > or = )
a)    4 kg 900 g   _______4800 g b) 67 kg   _________ 68000 g
c)    75 kg           _______75000 g d) 80 kg  __________ 9000 g

Example -1

1)   Rangaiah bought 13 kg 500 g
of laddu and 10 kg 750 kg
mysore pak for his family
function. Find the total weight
of the sweets he bought.

Step : 1                                     kg     g

Weight of laddus =       13     500

Weight of mysore pak = (+) 10     750

              1  250

(1250g = 1000g + 250g = 1 kg + 250 g)

Step : 2           1

Weight of laddus             = 13   500

Weight of mysore pak =  (+) 10   750

=        24   250

Total weight =       24kg   250g

Problems on Addition and Subtraction
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@~ �sÁTyîÕq~?

5 ¿ìýË ç>±eTT\T, 500 ç>±eTT\ýË @~ �sÁTyîÕq~? Âs+&�T �sÁTeÚ\qT bþýñÌ³|�Ú&�T y�{ì� ÿ¹¿ ç|�eÖD²\ýË�¿ì eÖsÁÌeýÉqT.

5 ¿ìýËç>±eTT\T R 5 I 1000 ç>±. R 5000 ç>±.

5000 ç>±. > 500 ç>±.

¿±eÚq 5 ¿ì.ç>±. > 500 ç>±.

1. ¿ì+~ y��� ç>±eTT\ýË�¿ì eÖsÁÌ+&�.

n) 5 ¿ìýËç>±eTT\T R 5 I 1000 ç>±eTT\T R ........ ç>±eTT\T

�) 15 ¿ìýËç>±eTT\T R 15 I ........ ç>±eTT\T R ........ ç>±eTT\T

�) 7 ¿ì.ç>±. 250 ç>±. R ........I ç>± G......ç>±  R ...... ç>± G ....... ç>± R .....ç>±.

�) 55 ¿ì.ç>±. 500 ç>±. R ....... I ç>± G .....ç>±  R ...... ç>± G ....... ç>± R .....ç>±.

2. ç>±eTT\qT ¿ìýËç>±eTT\ýË�¿ì eÖsÁÌ+&�.

n) 2680 ç>±. �) 7455 ç>±. �) 4000 ç>±. �) 8050 ç>±.

3. ¿ì+~ U²°\ýË d�ÂsÕq >·TsÁTï\qT( <, > ýñ<� = ) �+#á+&�.

n) 4¿ì. ç>±.900 ç>± ..........4800 ç>±. �) 67 ¿ì.ç>±. .......68000 ç>±.

�) 75 ¿ì.ç>±. .......75000 ç>±. �) 80 ¿ì.ç>±. .......9000 ç>±.

Å£L&�¿£ eT]jáTT rd¾yûÔá\ d�eTd�«\T

�<�V�²sÁD :1

1. sÁ+>·jáT« Ôáq Å£�³T+�+ýË ÈsÁ|�Ú¿=qT

yû&�T¿£ �$TÔáï+ 13 ¿ì.ç>±. 500ç>±. \&�T¦

eT]jáTT 10 ¿ì.ç>±. 750 ç>±. yîT®d�ÖsY

bÍ¿ù ¿=H��&�T. nsTTÔû � Âs+&�T dÓÇ³¢

yîTTÔáï+ �sÁTeÚ m+Ôá?

�$#ûjáT+&�
5 ¿ì.ç>±. 500 ç>±.

¿ì.ç>±.    ç>±.

(1250 ç>±. R 1000 ç>±. G 250 ç>±. R 1 ¿ì.ç>±. G 250 ç>±.)

      1

     13 500

(G)  10 750

     24 250

  24 ¿ì.ç>±. 250 ç>±.

     13   500

(G) 10   750

            1 250

kþbÍq+ ` 1

\&�Ö¦\ �sÁTeÚ R

yîT®d�ÖsÁTbÍ¿ù �sÁTeÚ R

kþbÍq+ ` 2

\&�Ö¦\ �sÁTeÚ R

yîT®d�ÖsÁTbÍ¿ù �sÁTeÚ R

yîTTÔáï+ �sÁTeÚ R
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Steps to follow:
1. Add grams. (500 g + 750 g = 1250 g)
2. Convert 1250 g  into kilograms. (1250 g = 1000 g + 250 g  = 1kg + 250 g)
3. Add kilograms (13 kg + 10 kg +1kg = 24kg)

Write the answer in kg - g (24 kg + 250g = 24 kg 250 g)
Example - 2
Rangamma purchased 30 kgs of rice. Out of that she utilised 18 kg 500 g. What is the balance
of rice with her?

        Rice purchased by Rangamma

        Utilised rice

  Balance

kg      g

11kg  500g

Steps to follow
1. To subtract 500 g  from 0 g, we have to convert 1 kg into grams from kilograms place.

Then there exists 29 in kilogram place.
2. Now subtract 500 g from 1000 g and write in the grams place.
3. Subtract 18 kg from 29 kgs and write in the kgs place.

Exercise - 10.3

1. Add

a)    kg      g b) kg       g c) kg        g d) kg       g

50    600 85     500 96      750 40      300

+ 32    750 + 38     600 + 84      800 + 50      200

=
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kþbÍq ç¿£eT+ :

1. ç>±eTT\qT Å£L&�* ( 500 ç>±. G 750 ç>±. R 1250 ç>±.)

2. 1250 ç>±eTT\qT, ¿ìýËç>±eTT\ýË�¿ì eÖs�Ì* ( 1250 ç>±. R 1000 ç>±.G 250 ç>±.R1 ¿ì.ç>±. G 250 ç>±.).

3. 1 ¿ì.ç>±. qT ¿ì.ç>±. \ kÍ�q+ýË s�d¾ n�� $\Te\qT Å£L&�*. (13¿ì.ç>± G10 ¿ì.ç>±G1¿ì.ç>± R24 ¿ì. ç>±)

¿ì. ç>± ` ç>± \ýË Èy��T\T s�jáÖ* (24 ¿ì. ç>± G 25 ç>± R 24 ¿ì . ç>±. 25 ç>±.)

 �<�V�²sÁD : 2

  sÁ+>·eT� 30 ¿ìýËç>±eTT\ _jáT«+ ¿=qT>Ã\T #ûd¾+~. ÿ¿£ Hî\ýË y�{ì qT+&� 18 ¿ì.ç>±. 500 ç>±. _jáT«+

  �|�jîÖÐ+º+~. �+¿£qÖ �yîT e<�Ý $TÐ*q _jáT«+ �sÁTyî+Ôá?

sÁ+>·eT� ¿=q� _jáT«+

�|�jîÖÐ+ºq _jáT«+                 R

$TÐ*q _jáT«+

 kþbÍq ç¿£eT+

1. »0µ ç>±eTT\ qT+&� 500 ç>±eTT\qT rd¾yûjáTýñeTT. ¿±eÚq ¿ì.ç>±. kÍ�q+ qT+&� 1 ¿ìýËç>±eTTqT ç>±eTT\T>± eÖ]Ì,

    ç>±eTT\ kÍ�q+ýË s�jáÖ*. n|�Ú&�T ¿ìýËç>±eTT\ kÍ�q+ýË 29 ¿ìýËç>±eTT\T eÖçÔáyûT �+{²sTT.

2. 1000 ç>±eTT\ qT+&� 500 ç>±eTT\qT rd¾yûd¾, ç>±eTT\ kÍ�q+ýË s�jáÖ*.

3. �|�ð&�T 29 ¿ìýËç>±eTT\ qT+&� 18 ¿ìýËç>±eTT\qT rd¾yûd¾, ¿ìýËç>±eTT\ kÍ�q+ýË s�jáÖ*.

11 ¿ì.ç>±.  500 ç>±.

¿ì.ç>±.   ç>±.

¿ì.ç>±.   ç>±. ¿ì.ç>±.   ç>±. ¿ì.ç>±.   ç>±. ¿ì.ç>±.   ç>±.n) �) �) �)

             nuó²«d�+ 10.3

1. Å£L&�+&�.
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2. Do the following.
a) 2 kg 250 g + 12 kg 580 g b) 500 kg 750 g + 250 kg 800 g
c) 450 kg 350 g + 300 kg 350 g d) 580 kg 500 g + 400 kg 680 g

3. Subtract
a) kg       g b) kg      g c) kg      g d) kg      g

26     750 42    500 83    500 96    500
    – 14     800     –39    750      – 62    850      – 36    850

4. Do the following.
a)     5 kg  450 g – 3 kg  500 g b) 50 kg  280 g – 12 kg  450 g
c) 100 kg  150 g – 85 kg  280  g d) 85 kg  250 g – 40 kg  500  g

5. A school has a stock of 25kg 600g rice. 198 kg 300 g of rice was supplied for the
Mid Day Meal scheme. Now, how many kilograms of rice is available in the school?

6. To make a sweet 10 kg 600 g of jaggery, 20 kg 350 g of atta and 500 g of ghee are added.
What is the total weight of these three?

7. Rangayya bought 1kg 500 g of potatoes, 750 g of carrot, 500 g of tomatoes and 2 kg of
onions. What is the total weight of vegetables he bought?

8. There is 100 kg of sugar in a shop. If the shop keeper sold 78 kg, find the sugar left in the
shop.

9. Chinnayya collected 108 kg 800 g of tamarind from one tree and 120 kg of tamarind from
another tree. If he sells 150 kg from that, how many kilos of tamarind did he have now?

10. Rajani melted 25 g and 28 g weights of gold ear rings. She got 49g of gold. How much
weight of gold is lost in melting?

11. The vendor collected 76 kg butter and mixed it with 12 kg 500 g of butter that is already in
his shop. If he sells 82 kg of butter, how much will be left with him?

12. The weight of a new born baby was 2 kg 800 g. After 2 years her weight is 12 kg 300 g.
Calculate the weight gained.

13. 40 kg 500 g of Putharekulu were prepared in a sweet shop on first day and 45 kg 800 g of
Putharekulu on the second day. If he sells 65 kg Putharekulu, then how much will be left
with him?
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2. ¿ì+~ y�{ì� #ûjáT+&�.

n) 2 ¿ì.ç>±. 250 ç>±. G12 ¿ì.ç>±. 580 ç>±.   �) 500 ¿ì.ç>±.750 ç>±. G 250 ¿ì.ç>±. 800 ç>±.

�) 450 ¿ì.ç>±. 350 ç>±.G 300 ¿ì.ç>±. 350 ç>±.     �) 580 ¿ì.ç>±. 500 ç>±. G 400 ¿ì.ç>±.680 ç>±.

3. rd¾yûjáT+&�.

4. ¿ì+~ y�{ì� #ûjáT+&�.

n) 5 ¿ì.ç>±. 450 ç>±. ` 3 ¿ì.ç>±. 500 ç>±. �) 50 ¿ì.ç>±. 280 ç>±.` 12 ¿ì.ç>±.450 ç>±.

�) 100 ¿ì.ç>±. 150 ç>±.` 85 ¿ì.ç>±. 280 ç>±. �) 85 ¿ì.ç>± 250 ç>±.` 40 ¿ì.ç>±.500 ç>±.

5. ÿ¿£ bÍsÄ ÁXæ\ýË 25 ¿ì.ç>±. 600 ç>±. _jáT«+ �\Ç �q�$. eT<ó�«V�²� uóËÈq |�<¸ �¿ £+ neT\T �$TÔáï+

198 ¿ì.ç>±. 300 ç>±. _jáT«+ d�sÁ|��s� #ûjáT�&�q$. �|�ð&�T bÍsÄÁXæ\ýË yîTTÔáï+ m�� ¿ìýËç>±eTT\ _jáT«+ n+<�Tu²³TýË

�q�$?

6. ÿ¿£ dÓÇ³TqT ÔájáÖsÁT#ûjáT&��¿ì 10 ¿ì.ç>±. 600 ç>±. uÉ\¢+, 20 ¿ì.ç>±. 350 ç>±. >Ã<�TeT |¾+&� eT]jáTT

500 ç>±. HîsTT« ¿£*|¾H�sÁT. nsTTÔû � eTÖ&�+{ì yîTTÔáï+ �sÁTeÚ m+Ôá?

7. sÁ+>·jáT« 1 ¿ì.ç>±. 500 ç>±. �+>±Þø <�T+|�\T, 750 ç>±. ¿±«Âs{Ù, 500 ç>±. ³eÖ{²\T, 2 ¿ì.ç>±. �*¢bÍjáT\T ¿=H��&�T.

nsTTÔû � Å£LsÁ>±jáT\ yîTTÔáï+ �sÁTyî+Ôá?

8. ÿ¿£ cÍ|�ÚýË 100 ¿ì.ç>±. |�+#á<�sÁ ¿£\<�T. <�T¿±D<�sÁT&�T 78 ¿ì.ç>±. |�+#á<�sÁqT n$T�q �+¿£qÖ m+Ôá |�+#á<�sÁ nÔá�

e<�Ý $TÐ* �+~ ?

9. ºq�jáT« 108 ¿ì.ç>±. 800 ç>±. º+Ôá|�+&�TqT ÿ¿£ #î³T¼ qT+&�, 120 ¿ì.ç>±. \qT �+¿=¿£ #î³T¼ qT+&� �d¿£]+ºH�&�T. nÔáqT

n+<�TýË qT+&� 150 ¿ì.ç>±. \qT n$T�q $TÐ*q º+Ôá|�+&�T �sÁTeÚ m+Ôá?

10. sÁÈ� 25 ç>±., 28 ç>±. �+>±sÁ|�Ú >±E\T ¿£]Ð+#á>± 49 ç>±. �+>±sÁeTT $TÐ*q~. nsTTÔû m+Ôá �+>±sÁeTT

ÔásÁT>·TbþsTT+~?

11. neT�¿£+<�sÁT&�T 76 ¿ì.ç>±. \ yîq�qT ¿=�, Ôáq cÍ|�ÚýË �q� 12 ¿ì.ç>±. 500 ç>±. yîq�ÔÃ ¿£*|¾H�&�T. <�� qT+&� 82

¿ì.ç>±. yîq�qT n$T�q, nÔá� e<�Ý $TÐ*q yîq� �sÁTyî+Ôá?

12. n|�ð&û |�Ú{ì¼q ÿ¿£ bÍ|� 2 ¿ì.ç>±. 800 ç>±. �sÁTeÚ �+~. Âs+&�T d�+eÔáàs�\ ÔásÁTy�Ôá �yîT �sÁTeÚ 12 ¿ì.ç>±. 300 ç>±.

nsTTÔû �yîT m+Ôá �sÁTeÚ �|]Ð+~?

13. ÿ¿£ dÓÇ{Ù cÍ|�Ú q+<�T yîTT<�{ìsÃE 40 ¿ì.ç>±. 500 ç>±. |�PÔá¹sÅ£�\T, Âs+&�e sÃE 45 ¿ì.ç>±. 800 ç>±. |�PÔá¹sÅ£�\T

ÔájáÖsÁT#ûXæsÁT. n+<�TýË qT+&� 65 ¿ì.ç>±. |�PÔá¹sÅ£�\T nyîT�qT. $TÐ*q |�PÔá¹sÅ£�\ �sÁTeÚ m+Ôá?

n) �) �) �)  ¿ì.ç>±. ç>±.

   26 750

` 14 800

  ¿ì.ç>±. ç>±.

   42 500

` 39 750

  ¿ì.ç>±. ç>±.

   96 600

` 36 850

  ¿ì.ç>±. ç>±.

   83 500

` 62 850
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10.3 Capacity

Ramya went to Papaiah's milk
collecting and selling center to buy
1 litre of milk. Papaiah measured with
two 500ml measuring jars as there is
no 1litre measuring jar. Then Ramya
thought whether the total capacity of
two 500ml measuring jars is equal
to 1l?

* Which measuring unit did Papaiah use to measure one litre of milk?
* How many times did he use that jar to measure one litre?
* Can you measure one litre of milk with any other units?

* What do you observe in the picture?
* How many litres of milk did Ramya

ask for?

Relation between litres and millilitres
Take 1 leter and 100 millilitre measuring jars. Fill the 100 millilitre measuring jar with

water and empty the contents into the 1 litre jar. How many of these 100ml jars are needed
to completely fill 1litre jar? You will see that 'ten' 100 ml jars of water is required to completely
fill the 1 litre jar. Alternately we can empty 1l water into ten 100 ml jars.

This shows
1 litre = 10 × 100 millilitres = 1000 millilitres
and 1000 millilitres = 1 litre
To convert litres into millilitres we have
to multiply the litres with 1000.

500ml
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10. 3 |�]eÖDeTT

sÁeT« 1 ©³sÁT bÍ\T ¿=q&��¿ì bÍ|�jáT« bÍ\ $ç¿£jáT

¹¿+ç<��¿ì yî[ß+~. bÍ|�jáT« Ôáq <�>·ZsÁ 1 ©. ¿=\bÍçÔá

ýñ¿£bþe&�+ e\q 500 $T.©. ¿=\bÍçÔáÔÃ ¿=*º �#�Ì&�T.

Âs+&�T 500 $T.©. bÍ\ |�]eÖD+, 1 ©. bÍ\|�]eÖD²�¿ì

d�eÖqyûTH� n� �ýËº+#á kÍÐ+~.

* ºçÔá+ýË úeÚ @$T >·eT�+#�eÚ?

* sÁeT« m�� ©³sÁ¢ bÍ\T ¿±y�\� n&�Ð+~?

* bÍ|�jáT« e<�Ý @ ¿=\bÍçÔá �+~? nÔá� e<�Ý

�+¿± @yîT®H� ¿=\bÍçÔá\T �H��jáÖ?

* 1 ©³sÁT bÍ\qT ¿=\e&��¿ì bÍ|�jáT« @ ¿=\bÍçÔáqT y�&îqT?

* 1 ©³sÁT bÍ\qT ¿=\e&��¿ì 500 $T.©. bÍçÔáÔÃ m�� kÍsÁT¢ ¿=*#�&�T?

* 1 ©³sÁT bÍ\qT �Ôás Á ¿=\ bÍçÔ á\ÔÃ ¿=\e>·\y� ?

 ©³sYÅ£� eT]jáTT $T©¢©³sÁ¢Å£� eT<ó�«>·\ d�+�+<ó�+

ÿ¿£ ©³sÁT, 100 $T.©. ¿=\bÍçÔá\qT rd�T¿=q+&�. 100 $T.©. ¿=\bÍçÔá ú{ìÔÃ �+|¾ � ú{ì� 1 ©. ¿=\bÍçÔáýË

bþjáT+&�. 1 ©. ¿=\bÍçÔáqT 100 $T.©. ¿=\bÍçÔáÔÃ m�� kÍs ÁT ¢ bþd ¾ �+bÍ*? |�~ 100 $T.©. ús ÁT

1 ©. bÍçÔáqT �+|�&��¿ì ned�sÁ+ neÚÔáT+<�� >·eT�+º �+{²sÁT. n<û $<ó�+>± 1 ©. ú{ìÔÃ |�~ 100 $T.©. ¿=\bÍçÔá\qT

�+|�e#áTÌ.

B�� �{ì¼

1 ©. R 10 I 100 $T.©. R 1000 $T.©.

n<û $<ó�+>± 1000 $T.©. R 1 ©.

©³sÁ¢qT $T©¢ ©³sÁ¢ýË�¿ì eÖs�Ì\+fñ,

©³sÁ¢ d�+K«qT 1000 ÔÃ >·TDì+#�*.

1 ©.qT

10 d�eÖq

uó²>±\T #û�dï

ÿ¿=Ø¿£Ø

uó²>±eTT

100 $T.©.\T

500ml
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 Complete the following table to make one litre.

1litre                          200 ml

1litre                          250 ml

1litre                          500 ml

Water to
be filled

Capacity
of measuring jar

Number of times
the jar used to fill

Capacity of the jar × number
times jar used = total capacity

 Example -1

Convert 12 litres into millilitres
12 litres = 12 × 1000 ml = 12000 ml

 Example -2

15 l 500 ml = 15 × 1000 ml + 500 ml

= 15000 ml + 500 ml

= 15500 ml

Example -3

Convert 6850 ml into litres and millilitres
6850 millilitres = 6000 ml + 850 ml

= 6 × 1000 ml + 850 ml

= 6 × 1 litre + 850 ml

= 6 litres + 850 ml

= 6 litres 850 ml

 Which can hold more water?

 * Which of these has more capacity?

 * Which is more? 5 litres or 500 ml.

 * When we compare the values of

capacity, then we have to convert them

into    same units. That is into smaller unit.

5litres = 5 × 1000 ml = 5000 ml

        As   5000 ml > 500 ml

                So 5 l > 500 ml
5 litres can 500 ml can
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1 ©³sÁT |�]eÖD+ ¿=\e&��¿ì ¿ì+~|�{ì¼¿£qT |�P]+#á+&�.

�+|�e\d¾q ¿=\bÍçÔá �+|�&��¿ì ¿=\bÍçÔáqT ¿=\bÍçÔá |�]eÖD+I ¿=\bÍçÔáqT

ú{ì |�]eÖD+ |�]eÖD+ m��kÍsÁT¢ �|�jîÖÐ+ºq d�+K«

�|�jîÖÐ+#�sÁT  R yîTTÔáï+ |�]eÖD+

 1 ©³sÁT 200 $T.©.

1 ©³sÁT 250 $T.©.

1 ©³sÁT 500 $T.©.

�<�V�²sÁD ` 1

12 ©³sÁ¢qT $T©¢©³sÁ¢ýË�¿ì eÖsÁÌ+&�.

<û�ýË mÅ£�Øe úsÁT |�&�TÔáT+~?

*  M{ìýË <û� |�]eÖD+ mÅ£�Øe ?

*  5 ©. eT]jáTT 500 $T.©. \ýË @~ mÅ£�Øe.

*  |�]eÖD²\qT bþ*Ìq|�Ú&�T y�{ì n��+{ì�

 ÿ¹¿ ç|�eÖD+ýË¿ì eÖs�Ì*. nq>± ºq�

 ç|�eÖD+ýË¿ì eÖs�Ì*.

�<�V�²sÁD ` 3

6850 $T.©. \qT ©³sÁ¢ýË�¿ì eÖsÁÌ+&�.

12 ©. R 12 I 1000 $T.©. R 12000 $T.©.

�<�V�²sÁD ` 2

15 ©. 500 $T.©.qT $T©¢©³sÁ¢ýË�¿ì eÖsÁÌ+&�.

15 ©. 500 $T.©. R 15 I 1000 $T.©. G 500 $T.©.

R 15000 $T.©. G 500 $T.©.

R 15500 $T.©.

6850 $T.©. R 6000 $T.©. G 850 $T.©.

R 6 I 1000 $T.©. G 850 $T.©.

R 6 I 1 ©. G 850 $T.©.

R 6 ©. G 850 $T.©.

R 6 ©. 850 $T.©.

    5 ©. R 5 I 1000 $T.©. R 5000 $T.©.

5000 $T.©. > 500 $T.©.

¿£qT¿£ 5 ©. > 500 $T.©. 5 ©. &�u²Ò 500 $T.©. &�u²Ò
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Do these

1) Convert litres into millilitres.
a) 5 litres = ______ × 1000 ml       = ______ ml
b) 18 litres = 18 × ______ ml       = ______ ml
c) 37 litres = ______ × ______ ml = ______ ml
d) 86 litres = ______ × ______ ml = ______ ml

e) 100 litres = ______ × ______ ml = ______ ml
2) Convert millilitres into litres and millilitres.

a)   8250 ml       b)    7000 ml          c) 5500 ml          d)   4850 ml      e)   10550 ml
3) Place the correct symbol in the space provided (>, < or = ).

a) 6 l _______ 5500 ml b) 8 l _______ 8000 ml     c) 5 l _______ 6000 ml
d) 3 l _______ 3500 ml e) 9l _______ 980 ml        f) 7 l _______ 4000 ml

 Example - 4
At a petrol bunk, a motorcyclist filled the petrol tank of his motorcycle with 2l 500 ml of
petrol on the first day and 3l 750 ml on the second day. Find the total amount of petrol
bought.

Total capacity of petrol bought in two days = Capacity of petrol filled on first day

+ capacity of petrol filled on second day

= 2 l  500 ml  +  3 l  750 ml

= 2 l  +  500 ml  +  3 l  +  750 ml

= 2 l  +  3 l + 500 ml  +  750 ml

=  5 l  +  1250 ml

=  5 l  +  1 l  +  250 ml

= 6 l  250 ml

 Problems on Addition and Subtraction
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 1. ©³sÁ¢qT $T©¢©³sÁ¢ýË�¿ì eÖsÁÌ+&�.

n) 5 ©. R 5 I 1000 $T.©. R.....$T.©.

�)  18 ©. R 18I..........$T.© R.....$T.©.

�) 37 ©. R 37I..........$T.© R .....$T.©.

�) 80 ©. R .... I..........$T.© R .....$T.©.

�) 100 ©. R.........I.....$T.© R ....$T.©.

  2. $T©¢©³sÁ¢qT ©³sÁ¢ýË�¿ì eÖsÁÌ+&�.

n) 8250 $T.©. �) 7000 $T.©.   �) 5500 $T.©. �) 4850 $T.©. �) 10550$T.©.

  3. ¿ì+~ U²°\ýË d�ÂsÕq >·TsÁTï\T (>, < ýñ<� = ) �+#á+&�.

n) 6 ©. ....... 5500 $T.©. �) 8 ©. ...... 8000 $T.©. �) 5 ©. .......6000 $T.©.

�) 3 ©. ...... 3500 $T.©. �) 9 ©. ..... 980 $T.©. �) 7 ©. ..... 4000 $T.©.

Å£L&�¿£ eT]jáTT rd¾yûÔá d�eTd�«\T

  �<�V�²sÁD ` 4

 ÿ¿£ �|ç{ËýÙ �+Å£�q+<�T ~Ç#áç¿£ y�V�²q jáTÈeÖ� Ôáq y�V�²q+ýË yîTT<�{ìsÃE 2 ©. 500 $T.©. �|ç{Ë\TqT,

 Âs+&�esÃE 3 ©. 750 $T.©. �|ç{Ë\TqT  �+�|qT. nsTTÔû nÔáqT ¿=q�  yîTTÔáï+ �|ç{Ë\T |�]eÖD+ m+Ôá?

Âs+&�T sÃE\ýË ¿=q� �|ç{ËýÙ |�]eÖD+    R yîTT<�{ìsÃE �+|¾q �|ç{ËýÙ |�]eÖD+

   G Âs+&�esÃE �+|¾q �|ç{ËýÙ |�]eÖD+

�$ #ûjáT+&�

R 2 ©. 500 $T.©. G 3 ©. 750 $T.©.

R 2 ©. G 500 $T.©. G 3 ©. G 750 $T.©.

R 2 ©. G 3 ©. G 500 $T.©. G 750 $T.©.

R 5 ©. G 1250 $T.©.

R 5 ©. G 1 ©. G 250 $T.©.

R 6 ©. 250 $T.©.
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 Example - 5
Ranga purchased 18 l 500 ml ground nut oil to make food items on his daughter's birthday
celebrations. The cook used 13l  750 ml oil. Find the capacity of the left over oil.

Oil purchased by Ranga
Oil used by the cook
Capacity of the oil left over

 Steps :
  1) Comparatively 750 ml is more than 500 ml. So take 1 litre from litres place and convert it

into ml (as 1l = 1000 ml). Then it will become 1500 ml. So we can substract 750 ml from
1500 ml.

  2) By subtracting 750 ml from 1500 ml we will get 750 ml.
  3) We subtract 1l from 18 litres. It becomes 17l. By subtracting 13l from 17l, we will get 4 l.

 1) Do the following additions.
a) l         ml b) l         ml c) l         ml d) l         ml

5        750 8        980 30       400 15    350
    + 7        650     + 6        250     +  7       650      +  7        650

 2)  Do the following subtractions.
a) l         ml b)      l         ml c) l         ml d) l         ml

25      380 50       500 85      250 98      650
     - 16      540      - 35       750      - 78      500      - 50      750

Exercise - 10.4

4 l    750 ml

l          ml
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�<�V�²sÁD : 5

sÁ+>· Ôáq Å£�eÖÂsï |�Ú{ì¼q sÃE yû&�T¿£ d�+<�sÁÒÛ+>± �V�äsÁ |�<�s�Æ\ ÔájáÖ¯ �$TÔáï+ 18 ©. 500 $T.©. yûsÁTXøq>· qÖHîqT

¿=H��&�T. e+³Å£� 13 ©. 750 $T.©. qÖHîqT �|�jîÖÐ+#á>±, �+¿£qÖ m+Ôá |�]eÖD+ >·\ qÖHî $T>·T\TÔáT+~ ?

sÁ+>· ¿=q� yûsÁTXøq>· qÖHî |�]eÖD+

e+³Å£� �|�jîÖÐ+ºq qÖHî |�]eÖD+

$TÐ*q qÖHî |�]eÖD+

kþbÍq ç¿£eT+

1. bþ*Ìq|�Ú&�T 500 $T.©. ¿£H��  750 $T.©. mÅ£�Øe ¿±�{ì¼ ©³sÁT kÍ�q+ qT+&� 1 ©. rd�T¿=� $T.© ©³sÁ¢ýË�¿ì

eÖs�Ì*. 1 ©. R 1000 $T.©. ¿±�{ì¼ n|�ÚÎ&�T 1500 $T.©. neÚÔáT+~. 1500 $T.©. qT+&� 750 $T.©. rd¾yûjáÖ*.

2. 1500 $T.©. qT+&� 750 $T.©. qT rd¾yûjáT>± 750 $T.©. e#áTÌqT.

3. 18 ©. qT+&� 1 ©. rd¾yûjáT>± 17 ©. $T>·T\TqT. 17 ©. qT+&� 13 ©. rd¾yûjáT>± 4 ©. e#áTÌqT.

             nuó²«d�+ 10.4

1. � ¿ì+~ Å£L&�¿£\T #ûjáT+&�.

2. ¿ì+~ rd¾yûÔá\T #ûjáT+&�.

©.   $T.©.

©.     $T.©.

4 ©.   750 $T.©.

©.     $T.©. ©.     $T.©. ©.      $T.©.

©.   $T.©. ©.    $T.©. ©.    $T.©. ©.   $T.©.

n) �) �) �)

n) �) �) �)

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



154MATHEMATICS CLASS - 4

10.4 Time

e) 15 l  350 ml – 10 l  800 ml f) 70 l  850 ml –  25 l  900 ml
g) 99 l  350 ml – 16 l  600 ml h) 25 l – 18 l  250 ml

 3) A buffalo gives 3 l 250 ml milk in the morning and 2 l 750 ml in the evening. Find the total
milk given by it in a day.

 4) Rajesh purchased 1l 500 ml and 2 l cool drink bottles. What is the total capacity of cool
drink he purchased?

 5) A liquid blue bottle contains 250 ml. Rajani used 100 ml in it. Find the liquid left in the
bottle.

 6) Sreenu used some kerosene from 200l drum. If there is still 18l 750 ml of the kerosene in
the drum, how much kerosene was used by him?

Skipping competition

Vani Geeta Reeta Vasantha

S. No. Name of
the player

Number of
skips / jumps

Time taken for
skipping

1. Vani 50 1 minute

2. Geeta 50 2 minutes

3. Reeta 50 3 minutes

4. Vasantha 50 Less than 1 minute

Look at the table given below with jumps of players. Answer the following questions.
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3. ÿ¿£ ¹><î 3 ©. 250 $T.©. bÍ\T �<�jáT+, 2 ©. 750 $T.©. bÍ\T kÍjáT+çÔá+ �#îÌqT. � sÃE ¹><î �ºÌq yîTTÔáï+

bÍ\ |�]eÖD+ m+Ôá?

4. s�Cñwt 1 ©. 500 $T.©, 2 ©. |�]eÖD+ >·\ oÔá\ bÍújáT dÓkÍ\T ¿=H��&�T. nsTTÔû nÔáqT ¿=q� oÔá\ bÍújáT+

yîTTÔáï+ |�]eÖD+ m+Ôá?

5. 250 $T.©. |�]eÖD+ >·\ ú*eT+<�T &�u²Ò qT+&� sÁÈ� 100 $T.©. ú* eT+<�TqT �|�jîÖÐ+ºq~. nsTTÔû $TÐ*q

ú*eT+<�T |�]eÖD+ m+Ôá?

6. lqT 200 ©. ¿ìsÃd¾H� ç&�eTT� qT+&� ¿=+Ôá ¿ìsÃd¾H�qT �|�jîÖÐ+#á>±, ç|�d�TïÔá+ n+<�TýË 18 ©. 750 $T.©. ¿ìsÃd¾H�

$TÐ* �q�~. nÔáqT m+Ôá ¿ìsÃd¾H�qT �|�jîÖÐ+#�&�T?

10.4  ¿±\+

Ô�&�T �³ bþ{¡\T

ç¿¡&�¿±sÁT\T Â>+Üq $es�\qT � ç¿ì+~ |�{ì¼¿£ Ôî*jáTCñjáTTqT. |�{ì¼¿£qT |�]o*+º �ºÌq ç|�Xø�\Å£� d�eÖ<ó�H�\T

#î|�Î+&�.

e.d�+  ç¿¡&�¿±]Dì �|sÁT Â>+ÔáT\ d�+K« Â>+Ôá&��¿ì |�{ì¼q d�eTjáT+

1 y�Dì 50 1 �$Tw�+

2 ^Ôá 50 2 �$TcÍ\T

3 ¯{² 50 3 �$TcÍ\T

4 ed�+Ôá 50 ÿ¿£ �$Tw�+ ¿£+fñ ÔáÅ£�Øe

  n) 15 ©. 350 $T.©. ` 10 ©. 800 $T.©. �) 70 ©. 850 $T.©. ` 25 ©. 900 $T.©.

  �) 99 ©. 350 $T.©. ` 16 ©. 600 $T.©. �) 25 ©. ` 18 ©. 250 $T.©.

y�Dì ^Ô� ¯{² ed�+Ôá
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 Introduction of Second hand of a clock

 Activity : Colour the adjacent figure as per the
   suggestions given below.

 1 Fill the hour hand with black colour.
 2 Fill the minute hand with green colour.
 3 Fill the longest hand red colour.

  1. How much time did Vani take for 50 skips?
  2. How much time did Geetha take for 50 skips?
  3. Who took more time for 50 skips? How much time did she take?
  4. Who took least time for 50 skips? How much time did she take?

Do you know!
The longest hand

indicates
SECONDS

If second hand moves from number 12 to next small division, then the time covered
is 1 second.  If seconds hand moves from 12 to 2 ndsmall division, then the time covered
is 2 seconds.

If the seconds hand is at the number 1, then it represents 1 × 5 = 5 seconds.
If the seconds hand is at the number 2, then it represents 2 × 5 = 10 seconds.
If the seconds hand is at the number 3 ,then it represents 3 × 5 = 15 seconds.

If minutes hand crosses
one division, the seconds

hand crosses 60
such divisions.

If the second hand is at the number 12 after completing

one full rotation  then the time is12 × 5 = 60 seconds.

That is 60 seconds   = 1 minute.

Therefore 1 minute = 60 seconds.

Like that  seconds hand moves to 3rd division, time is 3 seconds.
If the seconds hand moves to 4th division, time is 4 seconds.
If the seconds hand moves to 5th division, time is 5 seconds.

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



157MATHEMATICS CLASS - 4

1. 50 Â>+ÔáT\T Â>+Ôá&��¿ì, y�Dì¿ì |�{ì¼q d�eTjáT+ m+Ôá?

2. 50 Â>+ÔáT\T Â>+Ôá&��¿ì, ̂ ÔáÅ£� |�{ì¼q d�eTjáT+ m+Ôá?

3. 50 Â>+ÔáT\T Â>+Ôá&��¿ì, me]¿ì mÅ£�Øe d�eTjáT+ |�{ì¼+~? m+Ôá d�eTjáT+ |�{ì¼+~?

4. 50 Â>+ÔáT\T Â>+Ôá&��¿ì, me]¿ì ÔáÅ£�Øe d�eTjáT+ |�{ì¼+~? m+Ôá d�eTjáT+ |�{ì¼+~ ?

>·&�jáÖsÁ+ýË� �d¿£q¢ eTT\T¢ >·Ö]Ì |�]#ájáT+.

¿£�Ôá«+ : �eÇ�&�q d�Ö#áq\ �<ó�sÁ+>± ç|�¿£ØqTq�

  >·&�jáÖs��¿ì sÁ+>·TyûjáT+&�.

 1. >·+³\ eTT\T¢Å£� q\¢ sÁ+>·TyûjáT+&�.

 2. �$TcÍ\ eTT\T¢Å£� �Å£�|�#áÌ sÁ+>·TyûjáT+&�.

 3. bõ&�yîÕq eTT\T¢Å£� msÁT|�Ú sÁ+>·TyûjáT+&�.

�d¿£q¢ eTT\T¢ ¿£<�T\TÔáÖ 12 e d�+K« qT+&� ÔásÁTy�Ôá ºq� $uó²>±�¿ì #û]q|�Ú&�T |�{ì¼q d�eTjáT+

1 �d¿£qT. n<û $<ó�+>± 12 e d�+K« qT+&� 2e ºq� $uó²>±�¿ì #û]q|�ð&�T |�{ì¼q d�eTjáT+ 2 �d¿£qT¢. ç|�Ü ºq�

$uó²>±�� #ûsÁ&��¿ì ÿ¿=Ø¿£Ø �d¿£qT d�eTjáT+ |�&�TÔáT+~. n<û $<ó�+>±

�d¿£qT¢ eTT\T¢ 3 e $uó²>±�� #û]q|�ð&�T |�{ì¼q d�eTjáT+ 3 �d¿£qT¢.

�d¿£qT¢ eTT\T¢ 4 e $uó²>±�� #û]q|�ð&�T |�{ì¼q d�eTjáT+ 4 �d¿£qT¢.

�d¿£qT¢ eTT\T¢ 5 e $uó²>±�� #û]q|�ð&�T |�{ì¼q d�eTjáT+ 5 �d¿£qT¢.

�d¿£qT¢ eTT\T¢ 1 e d�+K«qT #û]q|�ð&�T d�eTjáT+ 1 I 5 R 5 �d¿£qT¢

�d¿£qT¢ eTT\T¢ 2 e d�+K«qT #û]q|�ð&�T d�eTjáT+ 2 I 5 R 10 �d¿£qT¢

�d¿£qT¢ eTT\T¢ 3 e d�+K«qT #û]q|�ð&�T d�eTjáT+ 3 I 5 R 15 �d¿£qT¢

�d¿£qT¢ eTT\T¢ |�P]ï çuó�eTD+ #ûd¾ 12 #û]q|�Ú&�T

d�eTjáT+ 12 I 5 R 60 �d¿£qT¢.

60 �d¿£qT¢ R 1 �$Tw�+.

n<û$<ó�+>± 1 �$Tw�+ R 60 �d¿£qT.¢

�$TcÍ\ eTT\T¢ ÿ¿£ $uó²>±��

<�{ìq|�Ú&�T, �d¿£q¢ eTT\T¢ n³Te+{ì

60 $uó²>±\qT <�³TÔáT+~.

úÅ£� Ôî\TkÍ !

bõ&�yîÕq eTT\T¢ �d¿£q ¢qT

d�Öºd�Tï+~.
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5 10 15

(2 × 5) (3 × 5)

Example - 1
How many divisions did second hand cross?
Solution: Second hand is at 2

Then 2 × 5   = 10 divisions crossed
= 10 seconds

Time : 3 hours 5 minutes 10 seconds

Let us read the clock and note the time in the given
boxes.

Example - 2
Observe the clock and fill the boxes according to the given
time.

Time : hours minutes seconds

Example - 3
Observe the clock and fill the boxes according to the given
time.

Time : hours minutes seconds

Time : hours minutes seconds
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�<�V�²sÁD 1

�d¿£q¢ eTT\T¢ m�� $uó²>±\qT #ûsÁTqT?

kÍ<ó�q : �d¿£q¢ eTT\T¢ 2 e<�Ý

 �q�|�ð&�T 2 I 5 R 10 $uó²>±\qT #ûsÁTqT.

                   R 10 �d¿£qT¢.

¿±eÚq d�eTjáT+ 3 >·+³\ 5 �$TcÍ\ 10 �d¿£qT¢.

>·&�jáÖsÁ+ýË� d�eTjáÖ�� #á~$ ¿ì+<� �q� �|fÉ¼\ýË qyîÖ<�T #ûjáT+&�.

 d�eTjáT+ : >·+³\T         �$TcÍ\T       �d¿£qT¢

�<�V�²sÁD ` 2

>·&�jáÖs��� |�]o*+º, �eÇ�&�q d�eTjáÖ�� >·T]ï+º,

>·&�T\qT |�P]+|�ÚeTT.

 d�eTjáT+ : >·+³\T        �$TcÍ\T          �d¿£qT¢

�<�V�²sÁD ` 3

>·&�jáÖs��� |�]o*+º, �eÇ�&�q d�eTjáÖ�� >·T]ï+º,

>·&�T\qT |�P]+|�ÚeTT.

 d�eTjáT+ : >·+³\T        �$TcÍ\T        �d¿£qT¢

5 10 15
(2 I 5) (3 I 5)
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When the second hand lies in between two numbers then we note the time as given below.

Example - 4

Do these

Observe the clock and note the time.

Time : hours minutes seconds

To convert the minutes into seconds,

we multiply the minutes with 60.
How many seconds make 5 minutes?

We know 1 minute = 60 seconds

Then 5 minutes =  5 × 60 seconds  =  300 seconds

1 hour     = 60 minutes
1 minute  = 60 seconds

Do these

Do you know!

To convert hours into
seconds, we multiply number

of hours with 3600

So, 1 hour = 60 minutes
60 minutes = 3600 seconds
1 hour       = 3600 seconds

Convert the minutes into seconds. One is done for you.

15 minutes  = Seconds

10 minutes  = Seconds
 8 minutes  = Seconds8 60 480=

=

=

×

×

×

4:35:44

7:54:19

4

(7×5) (8×5+4)

35 44Time : hours minutes seconds
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 �d¿£q¢ eTT\T¢ @yîÕH� Âs+&�T d�+K«\ eT<ó�« �q�|�ð&�T d�eTjáT+qT ¿ì+~ Ôî*Îq $<ó�+>± Ôî\Td�T¿Ãe#áTÌ.

�<�V�²sÁD ` 4

    d�eTjáT+ : >·+³\T           �$TcÍ\T          �d¿£qT¢

�$ #ûjáT+&�

 ¿ì+~ >·&�jáÖs��� |�]o*+º, d�eTjáÖ�� ÔáÐq >·&�T\ýË s�jáT+&�.

d�eTjáT+ : >·+³\T     �$TcÍ\T            �d¿£qT¢

�$TcÍ\qT �d¿£q¢ýË�¿ì eÖs�Ì\+fñ, � �$TcÍ\qT 60 #û >·TDì+#�*.

5 �$TcÍ\Å£� m�� �d¿£qT¢?

1 �$TcÍ�¿ì R 60 �d¿£qT¢ n� Ôî\Td�T.

¿±�{ì¼5 �$TcÍ\Å£� �d¿£qT¢  R 5 I 60 R 300 �d¿£qT¢.

�$ #ûjáT+&�

�$TcÍ\qT �d¿£q¢ýË�¿ì eÖsÁÌ+&�. ÿ¿£{ì MT ¿Ãd�+ kÍ~ó+#á�&�+~.

8 �$TcÍ\T                                                     �d¿£qT¢.

10 �$TcÍ\T �d¿£qT¢.

15 �$TcÍ\T �d¿£qT¢.

1 >·+³    R 60 �$TcÍ\T.

1 �$Tw�+ R 60 �d¿£qT¢.

¿±�{ì¼ 1 >·+³ R 60 �$TcÍ\T.

60 �$TcÍ\T R 3600 �d¿£qT¢.

1 >·+³ R 3600 �d¿£qT¢.

úÅ£� Ôî\TkÍ !

 >·+³\qT �d¿£q¢ýË�¿ì eÖs�Ì\+fñ,

� >·+³\qT

3600 ÔÃ >·TDì+#�*.

4 : 35 : 44

7 : 54 : 19

4

(7x5) (8x5+4)

35 44

8 60 480  ×

   ×

  ×

=

=

=

=

=

=
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2 x

x

x

3600 7200=

=

=

Do these
hours seconds

hours seconds

hours seconds

2 hours = seconds

3 hours = seconds

4 hours = seconds

Example - 5
Convert 1 hour 12 minutes 10 seconds into seconds.
Solution: 1 Hour = 1 × 60 = 60 minutes.

= 60 × 60 seconds.
= 3600 seconds.

                              12 minutes= 12 × 60
= 720 seconds.

                              10 seconds = 10 seconds.
Now, 1 hour 12 minutes 10 seconds = 3600 + 720 + 10 =  4330 seconds.
Example - 6

Ramayya worked for 3 hours 45 minutes in the field in the morning and 3 hours
55 minutes in the evening. What is the total time he worked in the field?

Solution: Ramayya's working time in the morning = 3 hours 45 minutes
Ramayya's working time in the evening  = 3 hours 55 minutes
Total time he worked   = ?

Step 1 : h min
3 45

(+) 3 55
100  = 60 min + 40 min

1
h min
3 45
3 55
7 40     =    7 hours 40 minutes

   Step 2 :
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�<�V�²sÁD 5

kÍ<ó�q: 1 >·+³ 12 �$TcÍ\ 10 �d¿£q¢qT �d¿£q¢ýË¿ì eÖsÁÌ+&�.

1 >·+³ R 1 I 60 R 60 �$TcÍ\T

R 60 I 60 �d¿£qT¢ R 3600 �d¿£qT¢

12 �$TcÍ\T R 12 I 60

R 720 �d¿£qT¢.

10 �d¿£qT¢ R 10 �d¿£qT¢.

 ¿±�{ì¼ 1 >·+³ 12 �$TcÍ\ 10 �d¿£qT¢  R 3600 G 720 G 10 R 4330 �d¿£qT¢.

�<�V�²sÁD 6

s�eTjáT« Ôáq bõ\+ýË �<�jáT+ 3 >·+³\ 45 �$TcÍ\T, kÍjáT+çÔá+ 3 >·+³\ 55 �$TcÍ\, |��#ûkÍ&�T. nsTTÔû nÔáqT

bõ\+ýË |��#ûd¾q yîTTÔáï+ d�eTjáT+ m+Ôá?

 kÍ<ó�q:       s�eTjáT« �<�jáT+ |��#ûd¾q d�eTjáT+

      s�eTjáT« kÍjáT+çÔá+ |��#ûd¾q d�eTjáT+

      yîTTÔáï+ |�� #ûd¾q d�eTjáT+

3 >·+³\ 45 �$TcÍ\T.

3 >·+³\ 55 �$TcÍ\T.

?

>·+.      �.

3 45

3 55

100 R 60 �.G 40 �.

1 R 60 �.

3 45

3 55

7 40 R 7 >·+. 40 �.

(+)

(+)

kþbÍq+ 1:

kþbÍq+ 2:

=
=
=

�$ #ûjáT+&�.

2 >·+³\T   �d¿£qT¢

3 >·+³\T   �d¿£qT¢

4 >·+³\T   �d¿£qT¢

2 x

x

x

3600 7200=

=

=

=

=

=

>·+³\T �d¿£qT¢

>·+³\T �d¿£qT¢

>·+³\T �d¿£qT¢
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Steps to follow :
1. Add the minutes i.e 45 + 55 = 100
2. As 100 minutes is equal to 60 minutes + 40 minutes = 1 hour + 40 minutes
3. Then 1 h carry forward to hours place.
4. Add the values in hours place i.e. 1h + 3h + 3h = 7h.
Example - 7

Bhavya is reading a book from morning 9:45 hours to 10:30 hours. Then how much
time does she read the book?
Started time of reading a book         = 9 h 45 min.

Completed time        = 10 h 30 min.
Duration of the time  = ?

We can't subtract 45 min.
from 30 min. Hence borrow

1 hour from 10 hrs, convert it
as 60 min and add to 30 min,

it becomes 90min. Now
subtract 45 min from 90 min.
Then subtract 9hours from

9 hours.

h min
9 60

10 30
9 45
0 45 =  0 hours 45 min

90

Convert 1 hour 10 minutes 12 seconds into seconds.

Do these

Find the number of seconds in...
a) A day
b) A week
c) A month

Try these

So, the time taken by Bhavya to read book  = 45 min.
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kþbÍq ç¿£eT+

1. �$TcÍ\qT Å£L&�+&� nq>± 45 G 55 R 100.

2. 100 �$TcÍ\T R 60 �$TcÍ\T G 40 �$TcÍ\T R 1 >·+³ G 40 �$TcÍ\T>± eÖsÁÌe#áTÌ.

3. ÿ¿£ >·+³qT >·+³\ kÍ�q+ýË s�jáT+&�.

4. >·+³\ kÍ�q+ýË� $\Te\qT Å£L&�+&�. nq>± 1 >·+. G 3 >·+. G 3 >·+. R 7 >·+.

�<�V�²sÁD 7

uó�e« �<�jáT+ 9 :45 >·+³\ qT+&� 10 :30 >·+³\ esÁÅ£� ÿ¿£ |�Úd�ï¿±�� #á<�TeÚÔáÖ �+~. �yîT m+Ôá d�eTjáT+

|�Úd�ï¿±�� #á~$+~?

uó�e« |�Úd�ï¿±�� #á<�e&�+ çbÍsÁ+_ó+ºq d�eTjáT+ R 9 >·+ 45 �$TcÍ\T

uó�e« |�Úd�ï¿±�� #á<�e&�+ �|¾yûd¾q d�eTjáT+ R 10 >·+ 30 �$TcÍ\T

    #á<�e&��¿ì |�{ì¼q d�eTjáT+   R ?

uó�e« |�Úd�ï¿±�� #á<�e&��¿ì |�{ì¼q d�eTjáT+ R 45 �$TcÍ\T.

�$#ûjáT+&�

1. 1 >·+³ 10 �$TcÍ\ 12 �d¿£q¢qT, �d¿£q¢ýË¿ì eÖsÁÌ+&�.

ç|�jáTÜ�+#á+&�

� ¿ì+~ Ôî*|¾q y�{ì� �d¿£q¢ýË Ôî\TÎeTT.

n) ÿ¿£ sÃE

�) ÿ¿£ y�sÁ+

�) ÿ¿£ Hî\

 30 �$TcÍ\ýË qT+&� 45 �$TcÍ\T

rd¾yûjáTýñeTT. ¿±�{ì¼ 10 >·+³\ qT+&�

1 >·+³qT �$TcÍ\ýË¿ì eÖ]Ì, �$TcÍ\

kÍ�q+ýË s�jáÖ*. 30 �., 60 �. \T

¿£*|¾Ôû 90 �$TcÍ\T n>·TqT. n|�ð&�T 90

` 45 R 45 �$TcÍ\T neÚÔáT+~. n<û

$<ó�+>± 9 >·+³\ qT+&� 9 >·+³\T

rd¾yûjáTeýÉqT.

>·+ �

9 60

10 30
9 45
0 45

90
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Calendar:

Calendar 2023

S. No. Name of the Date and Month The day in the
Student of Birth Calendar

1. Hashini 15th June THURSDAY

Write your date and month of birth in the given table. Observe the day corresponding to
your date of birth in present calendar and write the day in the table. Also write the date of birth
of your friends. One is done for you.
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MT |�Ú{ì¼q sÃEqT ¿ì+~ |�{ì¼¿£ýË s�jáT+&�. MT |�Ú{ì¼qsÃE �|Õq Ôî*Îq ¿±«ýÉ+&�sYýË >·T]ï+º, n~ @ sÃCË |�{ì¼¿£ýË qyîÖ<�T#ûjáT+&�.

ný²¹> MT �d�V¾²ÔáT\ |�Ú{ì¼qsÃE $es�\T s�jáT+&�. MT¿Ãd�+ ÿ¿£{ì #ûjáT�&�q~.

¿±«ýÉ+&�sY

¿±«ýÉ+&�sY 2023

e.d�+ $<�«]� �|sÁT |�Ú{ì¼q Ôû~ ¿±«ýÉ+&�sYýË >·\ � sÃE

eT]jáTT Hî\

V�äd¾� 15 pH� >·TsÁTy�sÁ+1.
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Example - 8
Pavan is 14 year old. His mother 23 years older than Pavan.  How old is his mother?

Solution : Pavan's age      = 14 years
Age of his mother  = Pavan's age + 23 years

= 14 + 23
= 37 years

Example - 9
2.   Amrutha's age is 9 years. Lavanya's age is 3 years more than Amrutha's age. Then

what is Lavanya's age?

Solution : Age of Amrutha = 9 years
Lavanya's age = Amrutha's age + 3 years

= 9 years + 3 years
Lavanya's age = 12 years

1. Observe this year calendar and fill in the blanks in the following table

S.No. Name of the Festival Date Day

1. Diwali

2. Bhogi

3. Ramzan
4. August 15th

5. Christmas
6. October 2nd

7. January 26th

8. Milad - Un - Nabi

9. Children's Day

10. September 5th

Exercise - 10.5
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�<�V�²sÁD ` 8

1. |�eH� ejáTd�Tà 14 d�+eÔáàs�\T. nÔá� Ôá*¢ ejáTd�T |�eH� ejáTd�T ¿£+fñ 23 d�+eÔáàs�\ mÅ£�Øe. nsTTÔû nÔá� Ôá*¢

ejáTd�Tà m+Ôá?

kÍ<ó�q: |�eH� ejáTd�Tà R 14 d�+eÔáàs�\T

|�eH� Ôá*¢ ejáTd�Tà R |�eH� ejáTd�Tà G 23 d�+eÔáàs�\T

R 14G23 R37 d�+.

�<�V�²sÁD ` 9

2. neT�Ôá ejáTd�Tà 9 d�+eÔáàs�\T. ý²eD« ejáTd�Tà neT�Ôá ejáTd�Tà ¿£H�� 3 d�+eÔáàs�\T mÅ£�Øe. nsTTÔû ý²eD«

ejáTd�Tà m+Ôá?

kÍ<ó�q: neT�Ôá ejáTd�Tà R 9 d�+eÔáàs�\T

ý²eD« ejáTd�Tà R neT�Ôá ejáTd�Tà G 3 d�+eÔáàs�\T

R 9 G 3

R 12 d�+.

     nuó²«d�+ 10.5

1. � d�+eÔáàsÁ|�Ú ¿±«ýÉ+&�sYqT |�]o*+º |�{ì¼¿£qT |�P]+#á+&�.

e.d�+. |�+&�T>· �|sÁT Ôû~ sÃE

1 BbÍe[

2 uóËÐ

3 sÁ+C²H�

4. �>·w�§¼ 15

5. ç¿ìd�¼eTdt

6. n¿Ã¼�sY 2

7. Èqe] 26

8. $Tý²<� �H� q_ó

9. u²\\ ~HÃÔáàe+

10. �d�|¼+�sY 5
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Project work
Observe different medicine packets available at your home and write manufacturing (Mfg.)
date and Expiry (Exp.) dates in the table given below.

    S. No              Medicine Name                     Mfg. Date                   Exp. Date

2. Arrange the above mentioned festivals in the order as we see in the calendar.
a. ___________ b. ___________ c. ___________ d. ___________

e. ___________ f. ___________ g. ___________ h. ___________

3. From the above mentioned festivals,
a) Which festival comes at the beginning of the year?
b) Which festival comes at the end of the year?

4. Suman is 9 years old. His father is 25 years older than Suman. Then, how old is his
father?

5. Anand's age is 10 years and the age of his brother is less than 5 years of Anand. Find the
age of his brother?

6. Rajitha is 9 years old. Her sister's age is twice that of Rajitha's. Then how old is Rajitha's
sister?

7. Write the short form for the given date. One is done for you.

Ex: 3rd July 1975    = 03.07.1975

a)  16th August 1945  = ___________  b) 22nd March 1980 = ___________
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2. �|Õ |�{ì¼¿£ýË Ôî*Îq |�+&�T>·\qT ¿±«ýÉ+&�sYqT >·eT�+º ÿ¿£ esÁTd� ç¿£eT+ýË (eTT+<�T e#áTÌ |�+&�T>· qT+&� ÔásÁTy�Ôá e#ûÌ

|�+&�T>· esÁÅ£�) s�jáT+&�.

n. .................. �. .................. �. .................. �. ..................

�. .................. }. .................. �TT................... �TÖ...................

3. �|Õq Ôî*Îq |�+&�T>·\ qT+&�

n) d�+eÔáàsÁ+ çbÍsÁ+uó�eTTýË e#áTÌ |�+&�T>· @~?

�) d�+eÔáàsÁ+ ºe]ýË e#áTÌ |�+&�T>· @~?

4. d�TeTH� ejáTd�Tà 9 d�+eÔáàs�\T, nÔá� Ôá+ç&� ejáTd�Tà d�TeTH� ejáTd�Tà ¿£H�� 25 d�+eÔáàs�\T mÅ£�Øe nsTTÔû nÔá�

Ôá+ç&� ejáTd�Tà m+Ôá?

5. �q+<� ejáTd�Tà 10 d�+eÔáàs�\T. nÔá� kþ<�sÁT� ejáTd�Tà �q+<� ejáTd�Tà ¿£H�� 5 d�+eÔáàs�\T ÔáÅ£�Øe nsTTÔû nÔá�

kþ<�sÁT� ejáTd�Tà m+Ôá?

6. sÁ�Ôá ejáTd�Tà 9 d�+eÔáàs�\T. �yîT kþ<�] ejáTd�Tà sÁ�Ôá ejáTd�TàÅ£� Âs{ì¼+|�Ú nsTTq �yîT kþ<�] ejáTd�Tà m+Ôá?

7. ¿ì+~ �ºÌq ÔûB¿ì d�+¿ì�|�ï sÁÖbÍ�� s�jáT+&�.

�<�: `     3 pýÉÕ 1975 R 03.07.1975

        n) 16 �>·w�§¼ 1945 R _________ �) 22 eÖ]Ì 1980 R _________

çbÍCÉ¿ù¼ |��

MTÅ£� n+<�Tu²³TýË �q� eT+<�T\ bÍ«Â¿³¢qT |�]o*+º, <���|Õ eTTç~+ºq ÔájáÖ¯ ÔûB, >·&�TeÚ eTTÐjáTT ÔûB\qT

|�{ì¼¿£ýË s�jáT+&�.

e.d�+. eT+<�T �|sÁT ÔájáÖ¯ ÔûB >·&�TeÚ eTTÐjáTT ÔûB
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10.5  Our Money

Charan's family wanted to go to 'Grama Devatha Utshavalu' in Kotabommali. During

the celebrations, a big fair took place. Charan's father Giri withdrew ` 3000 from the bank and

Charan's grandfather Sivaiah withdrew ` 2000 from the postoffice to meet the expenses.
Rajani, Charan's mother took all the money from her savings.  The money Rajani saved

is shown here under. Let's count the coins and currency and write their value in the boxes
provided.

Coins with Rajani
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10. 5 eTq ç<�e«+

#ásÁDY Å£�³T+�eTT ¿Ã³ u¤eÖ�°ýË ÈsÁT>·T ç>±eT <ûeÔá �Ôáày�\Å£� yîÞ²ß\qTÅ£�+~. � �Ôáày�\ýË uó²>·+>± n¿£Ø&�

ÿ¿£ �|<�Ý yûTÞ² �sÁÇV¾²+#á�&�TÔáTq�~. � �Ôáày�\ KsÁTÌ\ �$TÔáï+ #ásÁDY Ôá+ç&� Ð] ̀  3000 u²«+¿ù qT+&� eT]jáTT #ásÁDY

Ô�ÔájáT« >±sÁT ¥ejáT« ̀  2000  bþkÍ¼|�Ódt qT+&� rd�TÅ£�H��sÁT. #ásÁDY Ôá*¢ sÁ�� <�#áT¿=q� &��TÒqT rd�T¿=q�~. sÁÈ� e<�Ý

�q� H�DÉeTT\T, HÃ³T¢ ¿ì+~ #áÖ|¾q $<ó�+>± �H��sTT. � H�DÉeTT\T, HÃ³¢qT ýÉ¿ìØ+º y�{ì $\TeqT ÔáÐq >·&�T\ýË

s�jáT+&�.

sÁÈ� e<�Ý �q� H�DÉeTT\T
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Notes with Rajani

Total amount with Rajani.
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sÁÈ� e<�Ý �q� HÃ³T¢

sÁÈ� e<�Ý �q� yîTTÔáï+ kõeTT�.
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` 900  =

` 900  =

900 = ____ + ______+ ____ + _____+ _____+ ____+ ____+    5  +  2  +  2 + 1.

Giri paid ` 900 to the shopkeeper for a toy car in the fair.
Let's guess the currency notes given by Giri for ` 900.

900 =  200 + 200 + 200

       +  200 + 50+ 50

900 =  500 +  200 + 50

       + 50 + 50 + 50

900 = 500 + 200
+ 200

Do these

Write the other ways for making ̀  900 rupees with different denominations of currency.

a)

b)

Try these

Use notes of Indian currency to make ` 900

Sivaiah bought a blanket and sweater at a total cost of ̀  1685 and gave ` 2000 note to the
shop keeper in the fair. The shopkeeper has no change for ` 2000 to return the balance amount
to Sivaiah. Then shopkeeper went to nearby shop for change of ` 2000.

Have you seen ` 2000 note?
Now observe the  ` 2000 note

back front

This is ` 2000 note. Observe the two faces of the note
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Ð] � yûTÞ²ýË ¿±sÁT u¤eT�¿=q&��¿ì <�T¿±D<�sÁT�¿ì ̀  900 �#�Ì&�T. Ð]

` 900 �eÇ&��¿ì @@ sÁÖbÍjáT\ HÃ³T¢ �ºÌ �+{²&Ã }V¾²+#á+&�.

` 900 Å£� d�]|�&�T yûsÁTyûsÁT e Z̄¿£sÁD\T s�jáT+&�. yûsÁT yûsÁT HÃ³¢ýË s�jáT+&�.

ç|�jáTÜ�+#á+&�

uó²sÁrjáT ¿£Âsúà �|�jîÖÐ+º ̀  900 Å£� e Z̄¿£sÁD #ûjáT+&�.

¥ejáT« ` 1685 $\Te >·\ ÿ¿£ <�T|�Î{ì eT]jáTT ÿ¿£ #á*¿Ã³T ¿=H��&�T. ¥ejáT« �ºÌq ` 2000 Å£� ÔáÐq º\¢sÁ

<�T¿±D<�sÁT� e<�Ý ýñ¿£bþe&�+ e\q ç|�¿£ØqTq� cÍ|�Ú e<�ÝÅ£� yîÞ²ß&�T.

MTsÁT m|�ð&îÕH� ` 2000  ¿±ÐÔ��� #áÖXæs� ?

�|�ð&�T ̀  2000 HÃ³TqT |�]o*+#á+&�.

�$ #ûjáT+&�

` 900  =

` 900  =

900 = ____ + ______+ ____ + _____+ _____+ ____+ ____+    5  +  2  +  2 + 1.

` 900 =  200 +  200 +

200 +  200 + 50+ 50

` 900 =  500 +  200 +

50 +  50 + 50+ 50

` 900 =

500 +   200 +  200

n)

�)

   �~ ` 2000 HÃ³T. B� Âs+&�T eTTU²\qT |�]o*+#á+&�.

yîqT¿£ eTT+<�T
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Paste the dummy currency notes in your note book whose total will be ` 2000 as in
the   box shown below.

Do these

Try these

Use the Indian currency notes and coins and write the denominations for ` 2000 in the
blank ` 2000 = ` 500 + .............................................................................................

Giri and his family bought a lot of things. Giri thought that the money with them
may not be sufficient to pay the bill. Then Giri asked his friend Rajesh by phone to
deposit ` 2000 to his account. Rajesh went to the bank to deposit ` 2000. He filled the
deposit form as shown below. Observe the denominations for ` 2000 in the deposit form.

The shopkeeper got the tendering money for ` 2000 as shown below.
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<�T¿±D<�sÁT&�T ` 2000 Å£�  ÔáÐq º\¢sÁqT ¿ì+<� #áÖ|¾q $<ó�+>± bõ+<�&�T.

�$ #ûjáT+&�.

¿ì+~ �eÇ�&�q �|fÉ¼ýË #áÖ|¾q $<ó�+>± ` 2000 Å£� d�]|�&�T yîTTÔ�ï�¿ì, qeTÖH� sÁÖbÍjáT\qT MT HÃ³T |�Úd�ï¿£+ýË

nÜ¿ì+#á+&�.

ç|�jáTÜ�+#á+&�

¿ì+~ U²°\ýË ` 2000 Å£� d�]|�&�T º\¢sÁqT sÁÖbÍsTT HÃ³T¢, H�DÉeTT\qT �|�jîÖÐ+º s�jáT+&�.

Ð], nÔá� Å£�³T+�eTT n¿£Ø&� #�ý² ed�TïeÚ\T ¿=H��sÁT. Ð] e<�Ý _\T¢ #î*¢+#á&��¿ì d�]|�&� &��TÒ\T ýñeÚ. n|�ð&�T Ð]

Ôáq �d�V¾²ÔáT&�T s�CñwtÅ£� b�þH�#ûd¾ ` 2000 Ôáq u²«+¿ù U²Ô�ýË ÈeT #ûjáTeTH��&�T. s�Cñwt   u²«+Å£�Å£� yî[ß ` 2000

ÈeT#ûd¾H�&�T. nÔáqT ÈeÖ|�çÔ��� ¿ì+~ $<ó�+>± |�P]ï#ûd¾H�&�T. ÈeÖ|�çÔá+ýË |�P]ï#ûd¾q  ` 2000 e Z̄¿£sÁDqT |�]o*+#á+&�.

` 2000 =  ` 500 +___________________________________________
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Do these
Rajesh wrote denominations for ` 2000 in the above form. Now try to fill the below

deposit form in another way for depositing ` 2000 in the bank.

In the fair Giri bought a shirt worth of  `

1250 for Pavan and a T-shirt worth of ` 980 for

Charan. How much amount did Giri pay to the

shopkeeper? Now let's calculate the total amount.

Cost of the shirt =       ` 1250

Cost of the T-shirt = (+) `  980

Total cost of the shirt and T-shirt =      ` 2230

Giri paid ` 2230 to the shopkeeper.

Let's guess the notes given by Giri for ` 2230.
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   �|Õq �q� |�çÔá+ýË ` 2000  e Z̄¿£sÁDqT s�Cñwt |�P]ï#ûd¾H�&�T. �|�ð&�T �+¿=¿£ $<ó�+>± ` 2000 e Z̄¿£sÁDqT � ¿ì+~

 �ºÌq ÈeÖ|�çÔá+ýË |�P]+#á+&�.

Ð] � yûTÞ²ýË |�eH� ¿=sÁÅ£� ̀  1250 $\Te>·\ #=¿±Ø ,

#ásÁDY ¿=sÁÅ£� ̀  980 $\Te >·\ {ì̀ w�sY¼  ¿=H��&�T. <�T¿±D<�sÁT�¿ì

Ð] yîTTÔáï+ m+Ôá &��TÒ #î*¢+#�&�T?

�|�ð&�T #î*¢+ºq  yîTTÔáï+ &��TÒqT ¿£qT>=+<�+.

#=¿±Ø <ó�sÁ R ` 1250

{ì̀ w�sY¼ <ó�sÁ R    G `  980

#=¿±Ø, {ì̀ w�sY¼ yîTTÔáï+ <ó�sÁ R ` 2230

Ð] <�T¿±D<�sÁT�¿ì ` 2230 #î*¢+#�&�T.

�|�ð&�T ` 2230 Å£� d�]|�&� @@ sÁÖbÍjáT\ HÃ³T¢ �#�Ì&Ã

}V¾²+#á+&�.

�$ #ûjáT+&�
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Example
Sivaiah bought a blanket and a sweater for  ` 1685 and gave ` 2000 to the shopkeeper.

How much amount did the shopkeeper return to Sivaiah?

 Amount given by Sivaiah = ` 2000

Cost of the blanket and sweater =    - ` 1685

 Amount returned to sivaiah = `  315

Do these

1. Govind spent ` 2585 on seeds and ` 4850 on fertilizers for growing a crop in his field.
How much did he spend altogether?

2. Appala Naidu had bought a goat for ` 8950 and sold it for ` 9850. How much profit did
he get?

3. Ratnalu borrowed ` 9000 from Gopal. The interest amount for the money became
` 1850. But Ratnalu has only ` 4965 with her. How much more money is she needed to
clear the debt?

Do you know?
The money used in a particular country is called its currency.
Indian currency is 'Rupee'. We represent rupee as `.

PROJECT WORK

Each country has its own currency. Find out the currencies of the
following and fill the table. Bangladesh, China, Japan, UK, Malaysia,
Indonesia, USA etc.,
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�<�V�²sÁD

¥ejáT« ̀  1685 $\Te >·\ <�T|�Î{ì, #á*¿Ã³TqT ¿=� ̀  2000 qT <�T¿±D<�sÁT�¿ì �#�Ì&�T. <�T¿±D<�sÁT&�T

¥ejáT«Å£� m+Ôá &��TÒ Ü]Ð �#�Ì&�T?

¥ejáT« �ºÌq &��TÒ R   ` 2000

#á*¿Ã³T, <�T|�Î{ì <ó�sÁ R ̀  ̀  1685

¥ejáT«Å£� Ü]Ð bõ+~q &��TÒ R    `  315

�$ #ûjáT+&�

1. >Ã$+<�T Ôáq |�+³ bõ\eTTýË ̀  2585  $ÔáïqeTT\Â¿Õ, ` 4850  |�ÚsÁT>·T eT+<�T\Â¿Õ $�jîÖÐ+#�&�T. y�³��+{ì �|Õ

$�jîÖÐ+ºq &��TÒ m+Ôá?

2. n|�Î\H�jáTT&�T ̀  8950 Å£� yûT¿£qT¿=� ̀  9850 Å£� neÖ�&�T. nsTTÔû nÔáqT m+Ôá ý²uó�+ bõ+<�&�T ?

3. sÁÔ��\T, >Ã$+<�T e<�Ý  ̀  9000 n|�ð #ûXæ&�T. � n|�ð�|Õ e&�¦ ̀  1850 nsTTq~. ¿±� sÁÔ��\T  e<�Ý ̀  4965 eÖçÔáyûT

�H��sTT. nÔáqT n|�ð rsÁÌ&��¿ì �+¿± m+Ôá &��TÒ ned�sÁ+?

úÅ£� Ôî\TkÍ !

ÿ¿£ <ûXø+ýË $�jîÖÐ+#û &��TÒqT � <ûXø+ jîTT¿£Ø ¿£Âsúà n+{²sÁT. uó²sÁrjáT ¿£Âsúà sÁÖbÍjáT\T.

eTq+ sÁÖbÍjáTqT ` >·TsÁTïÔÃ d�ÖºkÍïeTT.

çbÍCÉÅ£�¼ |��

ç|�Ü <ûXæ�¿ì Ôáq d�Ç+Ôá ¿£Âsúà �+&�TqT. ¿ì+~ Ôî*Îq <ûXæ\ ¿£Âsúà @$T{Ë Ôî\Td�T¿Ã+&�. |�{ì¼¿£ýË

qyîÖ<�T#ûjáT+&�. �+>±¢<ûXÙ, #îÕH�, ÈbÍH�, jáTTHîÕfÉ&� ¿ì+>́&�y�T, eTýñw¾jáÖ, �+&ÃHûw¾jáÖ, jáTTHîÕfÉ&�

�d¼{Ùà �|�t nyîT]¿± yîTT<�\>·Tq$
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1.

2.

3.

4.

5.

6.

7.

8.

S. No. Name of the Country Name of the Currency used

Exercise - 10.6

1. Fill in the blanks with suitable denominations for ` 2000.

a) ` 2000 =  ___________  +  ` 500 + ` 500 + ` 200 + ` 200 + ` 100

b) ` 2000 =  ` _________ + ` _________ + ` 500 + ` 500 + ` 500 + ` 200

c) ` 2000 =  ` 500 + ` 500 + ` 500 + ` _______ + ` _______ + ` 100 +

         ` _______ + ` 50.

d) ` 2000 =  ` 200 + ` 200 + ` 500 + ` 100 + ` 100 + ` _______ + ` _______

        + ` _______ + ` 100.

2. Count the money given below.

3. A fish vendor Komali bought fishes for ` 5620 and sold it for ` 4985. How much loss did
she get?

4. Sailaja has ` 6450 and her mother has ` 2530. What is the total amount do they have? If
they spend ` 5645, then how much money will be with them?

a)

b)
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e.d�+.     <ûXø+ �|sÁT               �|�jîÖÐ+#û ¿£Âsúà �|sÁT

1. ¿ì+~ U²°\qT ` 2000 Å£� d�ÂsÕq º\¢sÁ |�P]+#á+&�.

2.  ¿ì+~ �ºÌq &��TÒqT ýÉ¿ìØ+#á+&�.

3. ¿ÃeT* ̀  5620 ÔÃ #û|�\T ¿=� ̀  4985 Å£� n$T�q~. �yîT qw�¼bþsTTq kõeTT� m+Ôá?

4. XèÕ\È e<�Ý ` 6450, �yîT Ôá*¢ e<�Ý ̀  2530 ¿£\eÚ. y�]<�Ý] e<�Ý �q� yîTTÔáï+ kõeTT�  m+Ôá? y�sÁT ̀  5645 qT

KsÁTÌ #ûd¾q m&�\, y�] e<�Ý $TÐ*q kõeTT� m+Ôá?

n) ` 2000 R  `.............. G ` 500 G ` 500 G ` 200 G ` 200 G ` 100

�) ` 2000 R ` .............. G ` .................G ` 500 G ` 500 G ` 500 G ` 200

�) ` 2000 R ` 500 G ` 500 G ` 500 G ` ............ G ` ............ G ` 100 ` ............ G ` 50

n) ` 2000 R ` 200 G ` 200 G ` 500 G ` 100 G ` 100 G ` .................G ` .................

  G ` .................G  ` 100

nuó²«d�+ 10.6

1.

2.

3.

4.

5.

6.

7.

8.

n)

�)
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Glossary
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Diameter = y�«d�+

For All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



188MATHEMATICS CLASS - 4

2 × 1 = 2

2 × 2 = 4

2 × 3 = 6

2 × 4 = 8

2 × 5 = 10

2 × 6 = 12

2 × 7 = 14

2 × 8 = 16

2 × 9 = 18

2 × 10 = 20

3 × 1 = 3

3 × 2 = 6

3 × 3 = 9

3 × 4 = 12

3 × 5 = 15

3 × 6 = 18

3 × 7 = 21

3 × 8 = 24

3 × 9 = 27

3 × 10 = 30

4 × 1 = 4

4 × 2 = 8

4 × 3 = 12

4 × 4 = 16

4 × 5 = 20

4 × 6 = 24

4 × 7 = 28

4 × 8 = 32

4 × 9 = 36

4 × 10 = 40

5 × 1 = 5

5 × 2 = 10

5 × 3 = 15

5 × 4 = 20

5 × 5 = 25

5 × 6 = 30

5 × 7 = 35

5 × 8 = 40

5 × 9 = 45

5 × 10 = 50

6 × 1 = 6

6 × 2 = 12

6 × 3 = 18

6 × 4 = 24

6 × 5 = 30

6 × 6 = 36

6 × 7 = 42

6 × 8 = 48

6 × 9 = 54

6 × 10 = 60

7 × 1 = 7

7 × 2 = 14

7 × 3 = 21

7 × 4 = 28

7 × 5 = 35

7 × 6 = 42

7 × 7 = 49

7 × 8 = 56

7 × 9 = 63

7 × 10 = 70

8 × 1 = 8

8 × 2 = 16

8 × 3 = 24

8 × 4 = 32

8 × 5 = 40

8 × 6 = 48

8 × 7 = 56

8 × 8 = 64

8 × 9 = 72

8 × 10 = 80

9 × 1 = 9

9 × 2 = 18

9 × 3 = 27

9 × 4 = 36

9 × 5 = 45

9 × 6 = 54

9 × 7 = 63

9 × 8 = 72

9 × 9 = 81

9 × 10 = 90

10 × 1 = 10

10 × 2 = 20

10 × 3 = 30

10 × 4 = 40

10 × 5 = 50

10 × 6 = 60

10 × 7 = 70

10 × 8 = 80

10 × 9 = 90

10 × 10 = 100

1 × 1 = 1

1 × 2 = 2

1 × 3 = 3

1 × 4 = 4

1 × 5 = 5

1 × 6 = 6

1 × 7 = 7

1 × 8 = 8

1 × 9 = 9

1 × 10 = 10

>·TD¿±sÁ |�{ì¼¿£\TMultiplication TablesFor All Classes New Text Books Open Below Link 
https://bit.ly/all-classes-new-text-books 

https://amaravathiteacher.com



189MATHEMATICS CLASS - 4

11 × 1 = 11

11 × 2 = 22

11 × 3 = 33

11 × 4 = 44

11 × 5 = 55

11 × 6 = 66

11 × 7 = 77

11 × 8 = 88

11 × 9 = 99

11 × 10 = 110

12 × 1 = 12

12 × 2 = 24

12 × 3 = 36

12 × 4 = 48

12 × 5 = 60

12 × 6 = 72

12 × 7 = 84

12 × 8 = 96

12 × 9 = 108

12 × 10 = 120

13 × 1 = 13

13 × 2 = 26

13 × 3 = 39

13 × 4 = 52

13 × 5 = 65

13 × 6 = 78

13 × 7 = 91

13 × 8 = 104

13 × 9 = 117

13 × 10 = 130

14 × 1 = 14

14 × 2 = 28

14 × 3 = 42

14 × 4 = 56

14 × 5 = 70

14 × 6 = 84

14 × 7 = 98

14 × 8 = 112

14 × 9 = 126

14 × 10 = 140

15 × 1 = 15

15 × 2 = 30

15 × 3 = 45

15 × 4 = 60

15 × 5 = 75

15 × 6 = 90

15 × 7 = 105

15 × 8 = 120

15 × 9 = 135

15 × 10 = 150

17 × 1 = 17

17 × 2 = 34

17 × 3 = 51

17 × 4 = 68

17 × 5 = 85

17 × 6 = 102

17 × 7 = 119

17 × 8 = 136

17 × 9 = 153

17 × 10 = 170

16 × 1 = 16

16 × 2 = 32

16 × 3 = 48

16 × 4 = 64

16 × 5 = 80

16 × 6 = 96

16 × 7 = 112

16 × 8 = 128

16 × 9 = 144

16 × 10 = 160

18 × 1 = 18

18 × 2 = 36

18 × 3 = 54

18 × 4 = 72

18 × 5 = 90

18 × 6 = 108

18 × 7 = 126

18 × 8 = 144

18 × 9 = 162

18 × 10 = 180

19 × 1 = 19

19 × 2 = 38

19 × 3 = 57

19 × 4 = 76

19 × 5 = 95

19 × 6 = 114

19 × 7 = 133

19 × 8 = 152

19 × 9 = 171

19 × 10 = 190

20 × 1 = 20

20 × 2 = 40

20 × 3 = 60

20 × 4 = 80

20 × 5 = 100

20 × 6 = 120

20 × 7 = 140

20 × 8 = 160

20 × 9 = 180

20 × 10 = 200
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